TECHNOLOGIA A AUTOMATIZACIA

o TECHMATIC

TECHMATIC s.r.o.
Pazitna 2479/10A
931 01 Samorin, Slovakia

Prevadzka / Plant: www.techmatic.sk

Senecka 1/A info@techmatic.sk
931 01 Samorin, Slovakia tel.: +421 917 182 797

ICO: 50 550 250
DIC: 2120409148
IC DPH: SK2120409148

PA-11... P.1-17...

P.1-21... P.1-22...

P.1-08...

ve \\
N
A
\
o \\

@
&

P.2-04...



TE c H M ATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk ICQ; 50 550 250
' PaZitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 931 01 Samorin, Slovakia 931 01 Samorin, Slovakia tel.: +421 917 182 797 IC DPH: SK2120409148

Connecting Elements

=7 ||¥

P.3-32...

p.3-42... P.3-43... P.3-44...

Profile Accessories




TE c H M ATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk ICQ; 50 550 250
' PaZitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 931 01 Samorin, Slovakia 931 01 Samorin, Slovakia tel.: +421 917 182 797 IC DPH: SK2120409148

P.5-15... P. 5-16... P.5-17... p.5-18...

Panel Installation Elements



TE c H M ATI c TECHMATIC s.r.o0. Prevadzka / Plant; www.techmatic.sk |('3(?; 50 550 250
' PaZitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 931 01 Samorin, Slovakia 931 01 Samorin, Slovakia tel.: +421 917 182 797 IC DPH: SK2120409148

0

P.7-02... P.7-03... P.7-04...
1 \

P.7-05... P.7-09...
*«>
O,&e '
P.7-12... P.7-13... P.7-14... P.7-16... P.717...

ditional Accessories

B e

P. 8-05. .. ' P.8-07... P. 8-09. ..



T E c H M ATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk ICQ: 50 550 250
Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148
TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia tel.: +421 917 182 797 IC DPH: SK2120409148

11.11-1.41

Strut Profile
Angle Profile

Conduit Profile

P.1-06 P.1-23 P.1-24




TE c H M ATI c TECHMATIC s.r.o0. Prevadzka / Plant; www.techmatic.sk |('3(?; 50 550 250
' PaZitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 931 01 Samorin, Slovakia 931 01 Samorin, Slovakia tel.: +421 917 182 797 IC DPH: SK2120409148

Technical Data

Extruded aluminum profile as per GB5237-2008, surface satin anodized.
Standard length of delivery profiles is 5800mm.

£
R
2
[7p)
=
Tensile Strength:min.185N/mm’ = =
Yield Strength:min.145N/mm® 1 % P 2
Elongation:8%(T<3.2mm) or 10%(T>3.2~25.0mm) \ j f=r— <
E-Module:approx.70,000N/mm 2 L 3E-1-10 o
Brinell Hardness :HB 75 2.5/187.5 é
Coat Thickness: 211y ] L
. 2 2
) 7'—‘1,:1 F f:F~L3+Fl.L] L+F,-L L
L]~ 3E-1-10°
Bending Strength
3 r= F-I
For deflection calculation, refer to formulas as below: T 8E-71-10%

f (mm): Deflection - s
F(N): Type of load 4 r F-L

L(mm):  Profile length ] ~48E-1-10°
I(em":  Moment of inertia
E (N/mm?): Modular of elasticity
Y— f_ F'L3
5 - 29m 4
F 48+ 7= -E-1-10
L L
Y 3
6| s o SFL
384E-1-10*
L
L
S . 2. 2
7 F jo Fab
¥ 3E-1-10*-L
a_b
3
8 f:L
192E-1-10°
3
9 s F-L

T384E-1-10°




TE c H NIATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk |C(?: 50 550 250
' PaZitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 931 01 Samorin, Slovakia 931 01 Samorin, Slovakia tel.: +421 917 182 797 IC DPH: SK2120409148

Approximate determination of deflection

Profile length L in mm

Determinations of deflection: 2 —
]
1. Type of load F in N g 8 8 § 8gE8sy § 8§ 8 88
200000 } 2000
2
2. Profile length L in mm
3. Move cross point on the diagonal %000 %
80000 800
70000 700
4. Moment of inertia of selected profile | in cm* 60000 600
50000 500
5. Cross point with the diagonal to be vertically 40000 400
extended to the bottom 30000 300
6. Deflection f for the specific "Type of load" in mm ‘ 20000 20
Example: 8000 4)+—80.8
7000 70
6000 | 60
1. F=2,000N 5000 5 50
2.1=1,000mm 4000 20
3. Move cross point on the diagonal _ 0 3) "
4.1=80.8cm* for profile 40x80, 6EH = | 2000 1\ \ W »
(1.11.40.040080.06H) 3
(1.11.40.040080.06H) 1000 10
5. Cross point with the diagonal to be vertically extended to the bottom o ;
700 7
6
6. Deflection f for the specific "Type of load" in mm ggg 5
400 4
Type ofload 1:  =9.5mm %0 s
20 2
Type ofload 4:  f=0.6mm
Type ofload 8:  f=0.15mm - .
90 09
80 08
70 07
60 06
50 ®) 05
F
Type of load 1 ’ T I ST A A
|
Type of oad 4 EW Fo 001 04 1 10 100 mm
F
Type of load 8 ., - 0.901 0.?1 0;1 1. 1? 1(.)0 mm

Deflection fin mm

Moment of inertia | in cm*




T E c H M ATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk ICQ: 50 550 250
Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148
TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia tel.: +421 917 182 797 IC DPH: SK2120409148

Profile Tolerance
Flatness tolerance
The flatness tolerance w (angular tolerance) refers to unequal sides to the shorter
side of the angle, i.e. it is measured from the longer side. 5
&
w =
o
S
[
3
<C
o 8
>
ael
()
=
Straightness tolerance

Putting the profile on a horizontal surface, the max bending height h2 in any
length of 30mm(L2) is not more than 0.3mm(L2=300mm, h2<0.3mm). Refer to
the following table for the bending height h1 of the full length profile (L1).

£
9]
<L
@
=
(9p]
2
]
>3
O
)
=
=
5]
©
=

L1(m) 1 2 3 4 5 6

Twist tolerance

Stair and Platform System

Putting the profile on a horizontal surface, if the end tilts due to twist, the twist height (T)
could be calculated according to the formula below:

0.052xwW

0.017xW

0.123xW

0.052xW

Tubular Framing System




TECHMATIC s.r.o.
Pazitna 2479/10A
931 01 Samorin, Slovakia

Prevadzka / Plant:
Senecka 1/A
931 01 Samorin, Slovakia

www.techmatic.sk
info@techmatic.sk
tel.: +421 917 182 797

TECHMATIC

TECHNOLOGIA A AUTOMATIZACIA

4

ICO: 50 550 250
DIC: 2120409148

IC DPH: SK2120409148

T Slot Symbol

Parts compatible with T slot symbolized and incompatible with faded symbolized as below.

6.2 8.2 102 102
Redldb- 0= =

T Slot Symbol Cross Section Core Hole ® Slot Width Slot Depth Wall Thickness Profile Group
62«
6.2 R ] PG15
@ oy 50 6.2 6.0 20 P20
5(M6)
82 &
. ted
2.2 3 10.0 8.2 8.0 2.2 PG30
vape
O10(M12)
‘LZ,‘ ~
:I O 6 50
10.2 o (1,
40 | k_r 12.0 10.2 11.0 4.0 PG40
oG | DO
®12(M14)
™
= (] C)e
; = PG45
10.2 |
6.0 | = 12.0 102 13.0 6.0 PG50
N A PG50
C] ) (]
O12(M14)
Machining Symbol

DI'I"Ing Ang|e Cutﬁng i

LS
ALY, s

Y

Thread tapping




T E c H M ATI c TECHMATIC s.r.o0. Prevadzka / Plant: www.techmatic.sk ICQ: 50 550 250
Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148
TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 93101 Samorin, Slovakia  tel.: +421 917 182797 I DPH: SK2120409148 11.11.15.00

Strut Profile PG15

15x15 2 slots 15x30 3 slots

Strut profile PG15 featuring 6mm T-slot is designed for constructing light weight assemblies.

Modular Assembly System

15x15 2 slots 15x30 3 slots

£

o

2

(%2}

2

S

(O]

2

Moment of Moment of Moment of Moment of M s

Description Inertia Inertia Resistance Resistance (k a/‘;?) Part No. =

Ix(cm®) ly(cm®) Wx(cm’) Wy(cm®) 9
Strut Profile PG15 15x30 3 slots 0.7 1.8 0.8 1.2 0.6 11.11.15.015030.03

Connector selection

Stair and Platform System

Tubular Framing System




TE c H MATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk |("3(?: 50 550 250
' Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 93101 Samorin, Slovakia  tel.; +421 917182797 I DPH: SK2120409148 11.11.20.00

Strut Profile PG20

1\ e Ve
‘ - " / AR /
h 1\’/ ", e\ \‘
N " i g
20x20 R90 2 slots 20x20 4 slots 20x40 6 slots 20x60 8 slots 20x80 10 slots 40x40 8 slots

Strut profile PG20 featuring 6mm T-slot is designed for constructing light weight assemblies.

20x20 R90 2 slots 20x20 4 slots 20x40 6 slots 20x60 8 slots
20 40 60
6.2 o~ 20 40 o~
m% 7 = N ‘
) 0 ‘
—di] = JL S f ’J\Cf S j/\i@& /\i(f
R =N VS o SN Vi W an S I SN B V) W an Wap Vi
o~ 2 3 P5(M6) P5(M6) 6.2 ®5(M6) 6.2
20x80 10 slots 40x40 8 slots Connector selection
40
80 20 ~ U Di
/ ie Cast Bracket ««««-coovvveennns p.3-07
60 j ==
20 «~ Y\/ J
3 ol o 1%5 ™ “’i Angle Profile Bracket «-««++-««-- P. 3-12
J < | N e
= — B 5 - N~
QJ!
} ﬁ ﬂ “4 Mﬁ % ! l INNETr Bracket ««eeveveveveenennn P.3-31
®5(M6) }6,2} " B5(6) =
://; Linear Bar Connector + ++««evevvee P. 3-32
Moment of Moment of Moment of Moment of M
Description Inertia Inertia Resistance Resistance (k E}?ns) Part No.
Ix(cm®) ly(cm®) Wx(em®) Wy(cm®) g
Strut Profile PG20 20x20 R90 2 slots 0.6 0.6 0.5 0.5 0.45 11.11 .20.020020.R90.02W
Strut Profile PG20 20x20 4 slots 0.8 0.8 0.8 0.8 0.5 11.11.20.020020.04
Strut Profile PG20 20x40 6 slots 14 5.1 14 25 0.9 11.11.20.020040.06
Strut Profile PG20 20x60 8 slots 2.0 15.8 2.0 5.3 1.3 11.11.20.020060.08
Strut Profile PG20 20x80 10 slots 2.6 35.9 2.6 9.0 1.7 11.11.20.020080.10
Strut Profile PG20 40x40 8 slots 8.9 8.9 4.5 45 1.3 11.11.20.040040.08




TE c H M ATI c TECHMATIC s.r.o0. Prevadzka / Plant; www.techmatic.sk |('3(?; 50 550 250
' PaZitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia  tel.: +421 917 182797 IC DPH: SK2120409148 11.11.30.00

Strut Profile PG30

15x90 7 slots

=
(2]
n
>
n
=
s}
=
D
(72}
7}
<<
o
o
3
§=
o
=

S
\

30x30 4 slots Light 30x30 4 slots

30x150 12 slots

60x60 8 slots 60x60 L 8 slots 60x120 12 slots

Strut profile PG30 featuring 8mm T-slot is designed for constructing medium weight assemblies such as machine structure frame, trolley, work station,
partition and display frames etc.

Connector selection

A
Anchor Connector «««eeeeeeenens. P. 3-03 /AI Die Cast Bracket ««««eeeeeeeeenen P. 3-08 }] Angle Profile Bracket « <<« «----- P.3-15

s

I Inner Bracket «««veveeeeennen P.3-31 = f # Linear Bar Connector « -+« +++« - - p.3-32 ¥ Screw Connector ««+«vveeeeeeens P. 3-42

lim

\_|

\




TECHMATIC

TECHNOLOGIA A AUTOMATIZACIA

4

TECHMATIC s.r.o.
Pazitna 2479/10A
931 01 Samorin, Slovakia

ICO: 50 550 250
DIC: 2120409148
IC DPH: SK2120409148

Prevadzka / Plant:
Senecka 1/A
931 01 Samorin, Slovakia

www.techmatic.sk
info@techmatic.sk

tel.: +421 917 182 797 11.11.30.01

S

Strut Profile PG30

15x90 7 slots 30x30 R90 2 slots
8
55 \\Q) =
15 | 82 A
iy I LA
o NCDC | e, N n 8
BN ‘,_jCDC_‘ ‘,_jCDC_‘ | D\ 7
30 ~
60 o~ ~ 11.5 g
90 30 f
&
30x30 2 slots Type A 30x30 2 slots Type B 30x30 3 slots 30x30 4 slots Light
N 30 30 30 30
»@% 2 2 2 S 2 S 2 2
AN
T Sy Sy O [ KD E] C | &
ol ol | T ol @ R ( T | @ W ( T | @ \ T
| N N oo' | N l °°t | N + | ool | N oo'
= L=l Vap b Ran B
:‘) ool ULJDGBJ eot q @ ool I‘— F)$ ool
®4.5(M6) O10(M12) ®4.5(M6) O10(M12 ®4.5(M6) O10(M12) 4.5%4.5(M6) O10(M12)
30x30 4 slots 30x60 6 slots 30x90 8 slots
60 90
30 53 83
23 2 30 & 60 A
OC o aC 7{3@ OC 7ﬂ€ 7ﬂ
ool S TY = D e ol el ST =
7 p el ”NNLJRJ P == gy =5
PO =! G| Gl (G,
4.5(M6) d10(M12) 4.5(M6) d10(M12) ®4.5(M6) O10(M12)
Moment of Moment of Moment of Moment of M
Description Inertia Inertia Resistance Resistance K a/ss Part No.
Ix(cm®) ly(cm®) Wx(cm®) Wy(cm®) (kg/m)
Strut Profile PG30 15x90 7 slots 14 404 1.9 9.0 1.5 11.11.30.015090.07@
Strut Profile PG30 30x30 R90 2 slots 25 1.6 12 0.9 0.8 11.11.30.030030.R90.02
Strut Profile PG30 30x30 2 slots Type A 2.9 2.9 2.0 2.0 0.9 11.11.30.030030.02A
Strut Profile PG30 30x30 2 slots Type B 2.8 3.2 1.9 21 0.9 11.11.30.030030.02B
Strut Profile PG30 30x30 3 slots 3.0 2.9 2.0 1.9 0.9 11.11.30.030030.03
Strut Profile PG30 30x300 4 slots Light 2.6 2.6 1.8 1.8 0.8 11.11.30.030030.04L
Strut Profile PG30 30x30 4 slots 29 2.9 2.0 2.0 0.9 11.11.30.030030.04
Strut Profile PG30 30x60 6 slots 5.3 19.9 3.5 6.7 1.6 11.11.30.030060.06
Strut Profile PG30 30x90 8 slots 1.7 62.0 5.1 13.8 2.2 11.11.30.030090.08

Z




ICO: 50 550 250
DIC: 2120409148
IC DPH: SK2120409148

www.techmatic.sk
info@techmatic.sk
tel.: +421 917 182 797

Prevadzka / Plant:
Senecka 1/A
931 01 Samorin, Slovakia

TECHMATIC s.r.o.
Pazitna 2479/10A
931 01 Samorin, Slovakia

TECHMATIC

TECHNOLOGIA A AUTOMATIZACIA

4

11.11.30.02

Strut Profile PG30

30x120 10 slots 30x150 12 slots
120 150
113 143
90 120 5
30 Q 60 Q 2
(7p]
=
Ne)
oC | 9 CDH’ NCD C |0 oC 1 D) C :
ol ol LY e s sl 3
PJ S U ng I U SR |’LJ I 5
apWanifapWap': (QCJUC, 3
®4.5(M6) D10(M12) 8 ©4.5(M6) 10(M12) =
60x60 8 slots 60x60 L 8 slots
60
53 30
30 10(M12)
T TR ok
D i S "
}_J/ ] H U R -
888 88| s ) -
N ~ / C1 K
Cu
fd L ng Ot ),L/VJ J L «©
Gl e 3G D O
®4.5(M6) 10(M12) 8 8
60x120 12 slots 53
120 60
90
30 S
B 0
[y
N
| |
PIOM12) 82| 8
Moment of Moment of Moment of Moment of M
Description Inertia Inertia Resistance Resistance (« e}?ns) Part No.
Ix(cm®) ly(cm®) Wx(em®) Wy(cm®) g
Strut Profile PG30 30x120 10 slots 10.1 139.9 6.7 23.3 29 11.11.30.030120.10
Strut Profile PG30 30x150 12 slots 125 264.4 8.3 35.3 34 11.11 .30.030150.12W
Strut Profile PG30 60x60 8 slots 35.3 $.8 11.8 11.8 25 11.11.30.060060.08
Strut Profile PG30 60x60 L 8 slots 35.2 17.6 8.5 5.0 2.3 11.11.30.060060L.08
Strut Profile PG30 60x120 12 slots 4.7 252.6 249 421 48 11.11.30.060120.12

o




TE c H MATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk |("3(?: 50 550 250
' Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia  tel.: +421 917 182797 IC DPH: SK2120409148 11.11.40.00

Strut Profile PG40

Strut profile PG40 featuring 10mm T-slot is designed for constructing medium or
W heavy weight assemblies, such as machine structure frame, trolley, work station,

‘\’ ’ ‘ partition and display frames etc. (Profile PG40 is frequently used).

40x40 R90 2 slots 40x40 T45 2 slots 40x40 1 slots

\
A

40x40 2 slots Type A 40x40 2 slots Type B 40x40 3 slots

3

jo.
’.
\

40x40 4 slots Heavy 40x60 4 slots 40x80 6 slots Super Ligh

=
~
o
=<
[}
o
(=2}
28
o
=
17}
[

Q
=
=
~
o
=<
[}
o
(=2}
28
o
=
17}
~
o
=<
[}
o
(=2}
28
o
=
17}
-
[0
Q
<

<

-
\
\

) {8
M. Wl W -
& O W
» 7 ~
40x120 8 slots 40x120 8 slots Heavy 40x160 10 slots

80x80 8 slots Heavy 80x80 L 8 slots 80x120 10 slots 80x160 12 slots 80x200 14 slots 120x120 12 slots

Connector selection
L | |
Anchor Connector-««««+--- P.3-03| 44l Die CastBracket------------ P.3-09 _J‘A Angle Profile Bracket- « « - - - - P.3-15
= = /

/! I Inner Brackete «««+e---- P.3-31

Linear Bar Connector- - - - - - - P.3-32 ¥ Screw Connector « « « « ««« -« p.3-42
L

\
\




ICO: 50 550 250
DIC: 2120409148
IC DPH: SK2120409148

www.techmatic.sk
info@techmatic.sk
tel.: +421 917 182 797

TECHMATIC s.r.o.
Pazitna 2479/10A
931 01 Samorin, Slovakia

Prevadzka / Plant:
Senecka 1/A
931 01 Samorin, Slovakia

TECHMATIC

TECHNOLOGIA A AUTOMATIZACIA

11.11.40.01

4

Strut Profile PG40

40x40 R90 2 slots 40x40 T45 2 slots
y 1
D) &
& S £
&(L>/ :] 1) :] ‘g’i
L; L ~ n
X 3s S = =y
ap: Ty
S ? 3 <= ? 5 <
< ' g 15 ‘ g %
40 2 40 2 é
40x40 1 slot 40x40 2 slots Type A 40x40 2 slots Type B 40x40 3 slots
40 Q) 40 40 40
‘ 30 ‘ g:@ 30 30 30
C_ TR T BT N
i i e B
g gl - (1 28| 4 e S| 28 e 3| 33775\; 3,7g|
W (Eﬂf\llL [ ‘?J( Coandl g UalnDl o
‘C | Jy:l N 3 _,LULJJ%“: Aﬁ | J%il
®5(M6) 1&%{ 12(M14) 5x5(M6) D12(M14) 5x5(M6) D12(M14) 5X5(M6) D12(M14)
40x40 4 slots Super Light 40x40 4 slots Light 40x40 4 slots 40x40 4 slots Heavy
40 40 40 40
30 30 30 30
) | S0~ [Tt B = ) o | o N I ~
L\J\/\)Eﬁ | e o | e oC | T
Y Pl LG o L[ ] L[
SRR 1\7( S| S i S| ols bl ] els WY 3]
ol ?Jf”” B ondl a bl 5=
P 388 ‘:l LY ‘j% :[ JL( JE% :l I ‘:l
5x5(M6) P12(M14) 5x5(M6) ¢12(M14) 5x5(M6) O12(M14) ®5(M6) ®12(M14)
Moment of Moment of Moment of Moment of M
Description Inertia Inertia Resistance | Resistance (k a}sr,r']s) Part No.
Ix(cm®) ly(cm®) Wx(cm®) Wy(em?®) g
Strut Profile PG40 40x40 R90 2 slots 8.3 4.8 3.0 1.9 1.3 11.11.40.040040.R90.02
Strut Profile PG40x40 T45 2 slots 6.5 6.5 3.25 3.25 1.21 11.11 .40.040040.T45.02W
Strut Profile PG40 40x40 1 slot 10.4 10.1 52 5.0 1.68 11.11.40.040040.01
Strut Profile PG40 40x40 2 slots Type A 9.6 9.6 45 45 1.5 11.11.40.040040.02A
Strut Profile PG40 40x40 2 slots Type B 9.6 8.6 48 4.3 15 11.11.40.040040.02B
Strut Profile PG40 40x40 3 slots 9.1 8.6 45 4.3 15 11.11.40.040040.03
Strut Profile PG40 40x40 4 slots Super Light 7.3 7.3 3.6 3.6 1.3 11.11.40.040040.04SL
Strut Profile PG40 40x40 4 slots Light 8.6 8.6 4.3 4.3 1.5 11.11.40.040040.04L
Strut Profile PG40 40x40 4 slots 9.1 9.1 4.6 4.6 1.6 11.11.40.040040.04
Strut Profile PG40 40x40 4 slots Heavy 1.5 1.5 5.8 5.8 2.0 11.11.40.040040.04H




TECHMATIC

TECHNOLOGIA A AUTOMATIZACIA

4

TECHMATIC s.r.o.
Pazitna 2479/10A
931 01 Samorin, Slovakia

Prevadzka / Plant:
Senecka 1/A
931 01 Samorin, Slovakia

www.techmatic.sk
info@techmatic.sk

tel.: +421 917 182 797

ICO: 50 550 250
DIC: 2120409148

IC DPH: SK2120409148

11.11.40.02

Strut Profile PG40

40x60 4 slots 40x80 6 slots Super Light
60 80
50 70
= C . 9 .
LN TV J—d =00~
oL iyt
N = an S
) °lg
v (EED mt ) . i w
el ) | 2l A 7] =
© _A\_ Ly ~
11 o12M14) =
z 5x5(M6) P12M14) 102
40x80 6 slots Light 40x80 6 slots
80 80
70 70
40 40
RS Con -
L T C tC ¢
P i S i 6 ORI e (R i
(oynj E/ir\s‘ o (RPN Em_r\s L =
( ( -
se/ N ae ) =
5x5(M6) P12(M14)  [102 5x5(M6) O12M14) 102
40x80 6 slots Heavy
80
70
40
o N &
L L
ol a i
- \ / 1
I
®5(M6) G12M14) | 10.2]
Moment of Moment of Moment of Moment of M
Description Inertia Inertia Resistance Resistance ) e}fns Part No.
Ix(cm®) ly(cm®) Wx(em®) Wy(em®) (kgim)
Strut Profile PG40 40x60 4 slots 13.3 27.6 6.6 9.2 2.3 11.11.40.040060.04
Strut Profile PG40 40x80 6 slots Super Light 14.3 52.0 7.2 13.0 2.3 11.11.40.040080.06SL
Strut Profile PG40 40x80 6 slots Light 15.8 59.1 7.9 14.8 25 11.11.40.040080.06L
Strut Profile PG40 40x80 6 slots 16.6 63.2 8.3 15.8 27 11.11.40.040080.06
Strut Profile PG40 40x80 6 slots Heavy 22.2 80.8 11.1 20.2 3.6 11.11.40.040080.06H

S g
‘=




TECHMATIC

TECHNOLOGIA A AUTOMATIZACIA

4

TECHMATIC s.r.o.
Pazitna 2479/10A

931 01 Samorin, Slovakia

Prevadzka / Plant:

Senecka 1/A

931 01 Samorin, Slovakia

www.techmatic.sk
info@techmatic.sk
tel.: +421 917 182 797

ICO: 50 550 250
DIC: 2120409148

IC DPH: SK2120409148

11.11.40.03

Strut Profile PG40

=
§T)
®
=
n
=
rs]
=
[}
173
73
<<
=
<
=
S
s}
=

40x120 8 slots 40x120 8 slots Heavy
120 120
110 110
80 80
[P ) AN A [ =
O C Y ¢ e @ Lj/\ij/\i &
IR i (R I R iie 8 o s~ IS af
o Jeaadl Jeaadl Jeaadl s ﬁuv kal .
e I W (g 2b =) ap [ |
5x5(M6) d12(M14) 10.2 ‘ d5(M6) ®12(M14) 102
40x160 10 slots 80x80 8 slots
160 80
150 70
120 40
40 ~
I s T T
L C Yy C T ¥ | Fi
SRl 5! S ine (IR e (N e/ s ey
‘—I\J E/\LAS (NN E/\_AS E/xr\g l [ ol ol o (—ﬁ H
(— - O ~| =
LR ? C] [J qp % *l R J—J
5x5(M6) O12(M14) 10.2] QS" @ W ﬂwl
K AR
40x160 10 slots Heavy U(_ Houny
TG | LG | 3
160 5x5(M6) P12(M14)
150
120
40
Jan | [ =~
RITCITTIT R
ol s 17T a o'l
ﬁdkjv \/kJVKjl »
GG DL <=
®5(M6) O12(M14) 102
Moment of Moment of Moment of Moment of Mass
Description Inertia Inertia Resistance Resistance ka/ Part No.
Ix(cm®) ly(cm®) Wx(em®) Wy(cm®) (kgim)
Strut Profile PG40 40x120 8 slots 241 194.8 121 325 3.8 11.11.40.040120.08
Strut Profile PG40 40x120 8 slots Heavy 33.0 255.3 16.5 42.6 5.2 11.11.40.040120.08H
Strut Profile PG40 40x160 10 slots 31.6 435.7 15.8 54.5 4.8 11.11.40.040160.10
Strut Profile PG40 40x160 10 slots Heavy 437 582.2 218 72.8 6.8 11.11.40.040160.10H
Strut Profile PG40 80x80 8 slots 109.9 109.9 271.5 21.5 4.2 11.11.40.080080.08

e




TE c H NIATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk |("3(?: 50 550 250
' PaZitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia  tel.: +421 917 182797 IC DPH: SK2120409148 11.11.40.04

Strut Profile PG40

80x80 8 slots Heavy 80x80 R90 6 slots

80
70 40
4 ®12(M14)

(i <

o

™

>
Y O .=
pWantE

P5(M) d12(M14) 10 "

40

80
~ CH
A\ M

10.2

11

80

70

40
ib/\ij Q
VS an s

80x80 L 8 slots 80x120 10 slots

40 120
D12(M14) 80

ot 2 e

%ﬁo \_)\ :

3

L
r—\/_
g

b

5x5(M6)

80
70
40

11
Ca( |
il (S
0
_q
K

)

40

»
3
h
Sine) s
p
32N
YF

10.2

40 1 d12(M14)

70

80

Moment of Moment of Moment of Moment of M
Description Inertia Inertia Resistance Resistance K 2}: Part No.
Ix(cm®) ly(cm®) Wx(em®) Wy(cm®) (kgm)

Strut Profile PG40 80x80 6 slots Heavy 148.2 148.2 371 371 5.7 11.11.40.080080.08H
Strut Profile PG40 80x80 R90 6 slots 109.5 36.4 19.6 10.2 34 11.11.40.080080.R90.06
Strut Profile PG40 80x80 L 8 slots 11.8 56.0 20.1 11.9 4.0 11.11.40.080080L.08
Strut Profile PG40 80x120 10 slots 2221 449.2 55.5 74.8 8.3 11.11.40.080120.10

S g
=




TECHM ATI c TECHMATIC s.r.o0. Prevadzka / Plant: www.techmatic.sk ICQ: 50 550 250
Pazitna _2479/1 0A Seneck@ 1/A info@techmatic.sk QIC: 2120409148
TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia ~ tel.: +421 917182797 1€ DPH: SK2120409148  11.11.40.05
Strut Profile PG40
80x160 12 slots 120x120 12 slots
120
160 | P £
| | = B
I I U)
>
Ne)
S S £
—HK H—
N / <
S
>
3
=
&
22— P
2 £
o
O12(M14) s N o
— —t— - -— n
B
S
| ! ha G)
80x200 14 slots | | ®
®12(M14) O12M14)  |10.2 £
‘ ‘ &
=
=
o
2
wn
£
K]
k=
o
2
[
¥e
»n
Moment of Moment of Moment of Moment of M 5
Description Inertia Inertia Resistance Resistance ass Part No. 2
4 4 3 3 (kg/m) 17
Ix(cm®) ly(cm’) Wx(cm®) Wy(cm®) =
€
S
L
&
=
Strut Profile PG40 80x200 14 slots 353.1 1789.8 88.3 179.0 12.3 11.11.40.080200.14 =




TE c H MATI c TECHMATIC s.r.o0. Prevadzka / Plant; www.techmatic.sk |('3(?: 50 550 250
' Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia  tel.: +421 917 182797 IC DPH: SK2120409148 11.11.45.00

Strut Profile PG45

&~

45x45 R90 2 slots

k-l
\§:/ 5':%/ {f% \{ﬂ —

45x45 2 slots Type A 45x45 2 slots Type B 45x45 3 slots 45x45 4 slots Light 45x45 4 slots 45x45 4 slots Heavy

‘“ilq

L)

\

A\

b,
.\\J

A

45x60 4 slots 45x90 6 slots 45x90 6 slots Heavy 45x180 10 slots
45x60 418 45x90 618 45x90 648 =AY 45x180 10 1&

90x90 8 slots 90x90 8 slots Heavy 90x90 L 8 slots 90x180 12 slots

Strut Profile PG45 featuring 10mm T-slot is designed for constructing heavy weight assemblies such as machine structure frame and workshop partition etc.

Connector selection

)
Anchor Connectorast +«+««eeseeee- P.3-03 ){ﬁ l Die Cast Bracket ~ ««-«+veeeeeeene P.3-10 "A Angle Profile Bracket ««««+cvx--- P.3-15

i

Inner Bracket e« ««ceeeeeennn.n Linear Bar Connector «««««««ve-- Screw Connector «+eceeeeeecse. P. 3-42

N
\




ICO: 50 550 250
DIC: 2120409148
IC DPH: SK2120409148

TECHMATIC s.r.o.
Pazitna 2479/10A
931 01 Samorin, Slovakia

Prevadzka / Plant:
Senecka 1/A
931 01 Samorin, Slovakia

www.techmatic.sk
info@techmatic.sk
tel.: +421 917 182 797

TECHMATIC

TECHNOLOGIA A AUTOMATIZACIA

4

11.11.45.01

Strut Profile PG45

45x45 R90 2 slots
13
N
CR &
X S)e g
AL :
] e 2
© [ L] 5
16.5 g =
45 £ =
45x45 2 slots Type A 45x45 2 slots Type B 45x45 3 slots 45x45 4 slots Light
S 45 45 45 45
&%% 33 33 33 33
| ‘
I CL,?J © E?{ﬁj © (‘?@—_\j@t"j © E?Gfﬁﬁ ©
|
elal L [ 3 2= ﬂs\ma 3| e¢=8 :f] % 2 g _r?gf ; 3|
Efu\x m‘; '_LJ UAinD ml; '—LJ (Al l m‘; C’Ln)‘ < lr_w‘;
J J J J
0| D e 01 D) e O D)o Nad I
S4m) I ) Ry Ol ) St I () R SNw N e R
8x8(M10) O12(M14) 8x8(M10) 12(M14) 8X8(M10) O12(M14) 8x8(M10) O12(M14)
45x45 4 slots 45x45 4 slots Heavy
45 45
33 33
(] | [ R Cre
UJ _) L LJ _) L J
'—LJ Condl '—LJ l ,-A
J
0! D) e (I Dl e
LD | [0 [ )
8x8(M10) d12(M14) 8x8(M10) d12(M14)
Moment of Moment of Moment of Moment of Mass
Description Inertia Inertia Resistance Resistance al Part No.
Ix(cm’) ly(cm?) Wx(em?) Wy(em?) (kg/m)
Strut Profile PG45 45x45 R90 2 slots 10.5 6.4 815 24 1.5 11.11.45.045045.R90.02
Strut Profile PG45 45x45 2 slots Type A 12.9 12.9 5.7 57 1.9 11.11.45.045045.02A
Strut Profile PG45 45x45 2 slots Type B 13.7 12.1 6.1 5.4 1.9 11.11.45.045045.02B
Strut Profile PG45 45x45 3 slots 12.9 12.1 5.7 54 1.8 11.11.45.045045.03
Strut Profile PG45 45x45 4 slots Light 10.5 10.5 4.7 47 1.6 11.11.45.045045.04L
Strut Profile PG45 45x45 4 slots 12.1 12.1 5.4 54 1.8 11.11.45.045045.04
Strut Profile PG45 45x45 4 slots Heavy 16.5 16.5 74 74 24 11.11.45.045045.04H

iz




TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia  tel.: +421 917 182797 IC DPH: SK2120409148 11.11.45.02

TE c H NIATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk |("3(?: 50 550 250
' PaZitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

Strut Profile PG45

45x60 4 slots 45x90 6 slots 45x90 6 slots Heavy
90 90
60 78 78
48 45 45
C Ve © R Crye
PEAb =S bR Es s dib/mm (=
2 g ﬂﬁs\j f%gsg ﬂs\jva St @%ﬂ o =
,—LJ Enﬁ]{ L a = UaimD E/*u\SL A kJL Y
J ™ I I ™ '_:_\ dd| >
=2 et sl e = .
8x8(M10) ®12(M14) 8x8(M10) 12(M14) 1102 8x8(M10) P12M14)  |102]
45x180 10 slots 90x90 8 slots
180 90
168 78
135 5
[~
ey

AK
/T

45
35

. : o TR
BT T T e

ey M HE

‘10.2

‘_q

N9
e~ T
||

8x8(M10) d12(M14 @ @ o
,—LJ ;\S LoD R;I
q ? dEEd o
BN [ (i)
8x8(M10) 12(M14)
Moment of Moment of Moment of Moment of M
Description Inertia Inertia Resistance Resistance " a/ss Part No.
Ix(cm’) ly(cm’) Wx(cm?) Wy(em’) (kg/m)
Strut Profile PG45 45x60 4 slots 16.2 27.8 7.2 9.3 24 11.11.45.045060.04
Strut Profile PG45 45x90 6 slots 24.2 89.3 10.8 19.9 3.2 11.11.45.045090.06
Strut Profile PG45 45x90 6 slots Heavy 325 122.2 14.5 27.2 4.4 11.11.45.045090.06H
Strut Profile PG45 45x180 10 slots 48.4 640.6 215 71.2 5.8 1.1 .45.045180.10@
Strut Profile PG45 90x90 8 slots 163.2 163.2 36.3 36.3 5.0 11.11.45.090090.08




o TECHMATIC

TECHNOLOGIA A AUTOMATIZACIA

TECHMATIC s.r.o.
Pazitna 2479/10A

931 01 Samorin, Slovakia

Prevadzka / Plant:
Senecka 1/A
931 01 Samorin, Slovakia

www.techmatic.sk
info@techmatic.sk
tel.: +421 917 182 797

ICO:
DIC:

50 550 250
2120409148

IC DPH: SK2120409148 11.11.45.03

Strut Profile PG45
90x90 8 slots Heavy 90x90 L 8 slots
90
78 45 5
45 P12(M14) &
=}
R Crje (2l £
= b pRldb i
o <
il Vb D = 5
) ) S
ol e 6
C
I~
! D % q
rFCcd - i )
8x8(M10) d12(M14) 13
78
90
90x180 12 slots
180
135
45
P12(M14) 102
Moment of Moment of Moment of Moment of Mass
Description Inertia Inertia Resistance Resistance (kg/m) Part No.
Ix(cm’) ly(cm’) Wx(cm Wy(cm?) g
Strut Profile PG45 90x90 8 slots Heavy 222.9 222.9 49.6 49.6 6.8 11.11.45.090090.08H
Strut Profile PG45 90x90 L 8 slots 161.4 80.3 25.6 15.2 46 11.11.45.090090L.08
Strut Profile PG45 90x180 12 slots 454.9 1585.7 101.1 176.2 12.7 11.11.45.090180.12




TE c H MATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk |C(?: 50 550 250
' Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia  tel.: +421 917 182797 IC DPH: SK2120409148 11.11.50.00

Strut Profile PG50

§

3

e v

X

¥

50x50 4 slots Light 50x50 4 slots 50x100 6 slots 100x100 8 slots

X

Strut profile PG50 featuring 10mm T-slot is designed for constructing heavy weight assemblies.

50x50 4 slots Light 50x50 4 slots 50x100 6 slots 100
50 50 85
35 50

2 [ EE ° -

- L
_/&r/_ﬂ ) %

P ER )

C_ jd

yE J%
am

50
35

21 Y]
I

)
Sy
;
X
el

5
N A
E

)
\§7

50
35
xdbX

tds | etal

(58
A XE e
I
6.8x6.8(M8) [ O12(M14) 6.8x6.8(M8) d12(M14) 6.8x6.8(M8) O12(M14) 10.
100x100 8 slots
100
85
50
2T LE
EF% Qf\% \géﬁ Connector selection
hJ ﬁ )‘é l Die Cast Bracket «+««+«++srersresseeeeent P.3-11
8 8 3
L ) )
‘, Angle Profile Bracket ««««eeeeeeeineninait P.3-15
A W e
l_I\_) CZ[—\ﬁb CZ/--\S_) = w Screw CONNECtOr s+ceeeeseescerscnaancenne P.3-42
- Q\? | Bead®
6.8x6.8(M8) ®12(M14)
Moment of Moment of Moment of Moment of Mass
Description Inertia Inertia Resistance Resistance (kg/m) Part No.
Ix(cm®) ly(cm®) Wx(em®) Wy(cm®) 9
Strut Profile PG50 50x50 4 slots Light 2019 20.19 8.16 8.16 2.35 1.1 .50.050050.04LW
Strut Profile PG50 50x50 4 slots 25.0 25.0 10.0 10.0 3.0 11.11.50.050050.04
Strut Profile PG50 50x100 6 slots 46.2 184.4 18.5 36.9 5.0 11.11.50.050100.06
Strut Profile PG50 100x100 8 slots 3311 3311 66.2 66.2 8.5 11.11.50.100100.08
ez




TECHNOLOGIA A AUTOMATIZACIA 931 01 Samorin, Slovakia 931 01 Samorin, Slovakia tel.: +421 917 182 797

p TECHMATIC ‘fovizmsion  somain - iogesnstos

ICO: 50 550 250
DIC: 2120409148
IC DPH: SK2120409148 11.11.60.00

Strut Profile PG60

N
W

60x60 4 slots

Strut profile PG60 featuring 10mm T-slot is designed for constructing heavy weight assemblies.

60x60 4 slots
60
102
~ é/ £ ~ Connector selection
I
—_ nl'
L ? (ﬂl_r g ,‘Ju Angle Profile Bracket «««eeeveeeeeanannnn. P.3-15
3| s = =P
N cf@ N
(_ m \: Screw CONNector seesessesseeceessassacen P.3-42
- [—J ] >
d12(M14)
Moment of Moment of Moment of Moment of Mass
Description Inertia Inertia Resistance Resistance (ka/m) Part No.
Ix(cm?) ly(cm?) Wx(cm®) Wy(cm?) g
Strut Profile PG60 60x60 4 slots 47.7 477 15.9 15.9 3.8 11.11.60.060060.04

1=

&

(72

>
n
>
o

=

(5]

(2]

o0
<<

—
L]

3

=l

o

=




TE c H MATI c TECHMATIC s.r.o0. Prevadzka / Plant; www.techmatic.sk |('3(?: 50 550 250
' Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia  tel.: +421 917 182797 IC DPH: SK2120409148 11.31.01

Angle Profile

e \

Phew! 3

Angle Profile 20x20x3 Angle Profile 30x30x4 Angle Profile 35x35x4 Angle Profile 40x40x5 Angle Profile 50x50x9 Angle Profile 100x100x15

Angle profile is mainly used for producing angle bracket which has a wide range of applications with its good flexibility.
The surface treatment of the finished product can be natural anodized, black anodized, electrophoretic paint etc.

Angle Profile 20x20x3 Angle Profile 30x30x4 Angle Profile 35x35x4 Angle Profile 40x40x5 Angle Profile 50x50x9
3 4 4 5 9
L — —
& ®4.2(M5) &
~ = © - 6bo 6’0
o e , g o Q7e °
20 Jj | — o 1 B %
R L : 6 6 /
12 40 =
Angle Profile 100x100x15 35 12 2
50
15
- Mass
S Description (kgim) Part No.
Angle Profile 20x20x3 0.3 11.31.2020.03
Angle Profile 30x30x4 0.6 11.31.3030.04
o
o
Angle Profile 35x35x4 0.9 11.31.3535.04
Angle Profile 40x40x5 1 11.31.4040.05 @
~ Angle Profile 50x50x9 2.3 11.31.5050.09
12 20 Angle Profile 100x100x15 85 11.31.100100.15
100

Note: The maximum delivery length of angle profile 100x100x15 is 4000mm, the others are all 5800mm.




TECHMATIC

TECHNOLOGIA A AUTOMATIZACIA

4

ICO: 50 550 250
DIC: 2120409148
IC DPH: SK2120409148

TECHMATIC s.r.o.
Pazitna 2479/10A
931 01 Samorin, Slovakia

Prevadzka / Plant:
Senecka 1/A
931 01 Samorin, Slovakia

www.techmatic.sk
info@techmatic.sk
tel.: +421 917 182 797

11.41.01

Conduit Profile

Conduit Profile-40x40

40

Conduit Profile-40x80

80
304

%

E: 1.2 . 15
7 ~— f 1
2 C L - < I ¢
82| 102]
32 72
Conduit Profile-60x120 Conduit Profile-80x80
120 80
80 2-04 3-04
‘ Partition profile-16x48
= 2
3 2 o -
R @
102 Gzl D
102]
Conduit Profile-80x160 72 —
16
160
100 4xd4
(e Vs T )) Description Mass Part No.
(kg/m)
Conduit Profile 40x40 0.82 11.41.40.040040
2 Conduit Profile 40x80 1.41 11.41.40.040080
\_{:Q 82 El_r:& Conduit Profile 60x120 2.80 11.41.40.060120
(o £ RA | J=
40 02| Conduit Profile 80x80 194 | 114140.08008Qmmmy
Conduit Profile-80x200
Conduit Profile 80x160 3.64 11.41.40.080160
200
140 6-04 Conduit Profile 80x200 4.89 11.41.40.080200
(C A2 Aia Aia )) —
Partition profile 16x48 0.35 11.31.1648.02 m
Note:
1.the partition profile is used for partition and arrangement of cables
8 25 inside of big conduit profiles to realiza the reasonable design.
2.the partition profile is used for partition and arrangement of cables
inside of big conduit profiles to realiza the reasonable design.
Wap Wi Tl an N TWARED

S

Modular Assembly System




TE c H MATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk |C(?: 50 550 250
' PaZitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 931 01 Samorin, Slovakia 931 01 Samorin, Slovakia tel.: +421 917 182 797 IC DPH: SK2120409148

. \; 22.11-2.51

Pre-set Nut
Square Nut

T Nut
Subsequent Nut

Anti-torsion Subsequent Nut

'
%
=
-

L 3
» =
=

T Bolt

Hole Reducer Bolt

Fastening Elements

P. 2-05




TE c H M ATI c TECHMATIC s.r.o0. Prevadzka / Plant; www.techmatic.sk |('3(?; 50 550 250
' PaZitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia  tel.: +421 917 182797 IC DPH: SK2120409148 22.11.01

Fastening Elements

Pre-set Nut

Pre-set Nut can be only put into T slot from profile end, with low assembly efficiency, but with
good connection and stability. The sleeve is to avoid any sliding when using the pre-set nut
for assembly and can be fixed at any required position, especially in vertical position.

Material: Pre-set Nut-nickel plated steel Pre-set Nut Sleeve-EVA

Reliabilty L B 6 & & ¢

£
S
(72
>
n
=
o
=
[
(2]
o0
<<
=
<
3
=l
s}
=

{Clean”
i
D
~ M
oS < Description D (glgzz) Part No.
84
N E’ Pre-set Nut-6-M4 M4 22.11.06.M4
6.2 3
m Pre-set Nut-6-M5 M5 22.11.06.M5
Description D (g'\;/}:zz) Part No.
Pre-set Nut-8-M4 M4 8 22.11.08.M4
75‘76’
Pre-set Nut-8-M5 M5 8 22.11.08.M5
Pre-set Nut-8-M6 M6 7 22.11.08.M6
Pre-set Nut Sleeve-8 0.3 22.11.08.01
Description D (g}gzz) Part No.
D~
Pre-set Nut-10-M4 M4 16 22.11.10.M4
> <
® Pre-set Nut-10-M5 M5 16 22.11.10.M5
& ™ Pre-set Nut-10-M6 M6 15 22.11.10.M6
102 192 Pre-set Nut-10-M8 M8 14 | 22.11.10.M8
Pre-set Nut Sleeve-10 0.4 22.11.10.01




TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia  tel.: +421 917 182797 IC DPH: SK2120409148 22.12.01

TE c H M ATI c TECHMATIC s.r.o0. Prevadzka / Plant; www.techmatic.sk |('3(?; 50 550 250
' PaZitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

Fastening Elements

Square Nut

The clip is to avoid any sliding when using the square nut for assembly and can be fixed
at any required position, especially at vertical position.

=y

’i

Material: zinc plated steel

Reliability w* W N

Economical % % % %

Description D (g'\;/};z:) Part No.
Square Nut-8-M4 M4 22.12.08.M4
Square Nut-8-M5 M5 & 22.12.08.M5
Square Nut-8-M6 M6 22.12.08.M6
Square Nut Clip-8 0.4 22.12.08.01
D~ Description D Mass Part No.
(9/pcs)
> >
Square Nut-10-M4 M4 10 22.12.10.M4
N [&9 Square Nut-10-M5 M5 10 22.12.10.M5
102 10.2 Square Nut-10-M6 M6 9 22.12.10.M6
19 B:9
Square Nut-10-M8 M8 8 22.12.10.M8
Square Nut Clip-10 0.5 22.12.10.01




TE c H M ATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk ICQ; 50 550 250
' PaZitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia ~ tel. +421 917182797 I DPH: SK2120409148  22.21.01

Fastening Elements
o [wy)
T Nut
Q
T Nut can be inserted directly at the assembly point, which makes the assembly very
efficient, however the connection strength and stability is not as good as pre-set nut. Q S
Q
Q

Material: nickel plated steel

Reliability * N % %
N
E}} Efficiency VB B B
Room\)

Economical * % % %

1=
i
n
>
@D
=
o
=
D
(2]
0
<
=
©
3
o
o
=

M
Description D (9 /:2:) Part No.
T Nut-6-M4 M4 22.21.06.M4
2
T Nut-6-M5 M5 22.21.06.M5
M
Description D (g /;2:) Part No.
T Nut-8-M4 M4 4 22.21.08.M4
T Nut-8-M5 M5 4 22.21.08.M5
T Nut-8-M6 M6 3 22.21.08.M6
Description D (I;A/;z:) Part No.
T Nut-10-M4 M4 8 22.21.10.M4
T Nut-10-M5 M5 8 22.21.10.M5
10.2 10.2 -10-
P N T Nut-10-M6 M6 7 22.21.10.M6
T Nut-10-M8 M8 6 22.21.10.M8




TE c H M ATI c TECHMATIC s.r.o0. Prevadzka / Plant; www.techmatic.sk |('3(?; 50 550 250
' PaZitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia  tel.: +421 917 182797 IC DPH: SK2120409148 22.31.01

Fastening Elements

Subsequent Nut

Subsequent Nut with a spring leaf can be inserted directly at the assembly point. The spring assists with assembly and
positioning. The connecting strength and stability is same as t nut.

Material: zinc plated steel

Reliability w W % W

Efficiency w % W% %

Economical w* W %

- Mass
Description D (g/cs) Part No.
Subsequent Nut -8-M4 M4 22.31.08.M4
8
Subsequent Nut -8-M5 M5 22.31.08.M5
Subsequent Nut -8-M6 M6 22.31.08.M6
7
Subsequent Nut -8-M8 M8 22.31.08.M8
- Mass
Description D (g/pcs) Part No.
Subsequent Nut -10-M4 M4 22.31.10.M4
10
Subsequent Nut -10-M5 M5 22.31.10.M5
Subsequent Nut -10-M6 M6 22.31.10.M6
10.2 10.2
4.0 6.0 9
Subsequent Nut -10-M8 M8 22.31.10.M8




T E c H M ATI c TECHMATIC s.r.o0. Prevadzka / Plant: www.techmatic.sk ICQ: 50 550 250
Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148
TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia  tel. +421 917182797 I DPH: SK2120409148  22.32.01

Fastening Elements

Anti-torsion Subsequent Nut >

Prevent profiles with screw connectors from torsion.

Material: nickel plated steel

Modular Assembly System

Mass

(g/pcs) Part No.

Description

=
9]
K
]
=
n
1=
]
>3
O
)
=
=
S
©
=

Mass
(9/pcs)

Description Part No.

Stair and Platform System

Tubular Framing System




ICO: 50 550 250
DIC: 2120409148
IC DPH: SK2120409148 22.41.01

Prevadzka / Plant: www.techmatic.sk
Senecka 1/A info@techmatic.sk

TECHNOLOGIA A AUTOMATIZACIA 931 01 Samorin, Slovakia 931 01 Samorin, Slovakia tel.: +421 917 182 797

o TECHMATIC ‘fovision

Fastening Elements

T Bolt

Similar to T nut, T bolt can be inserted directly at assembly point, with high assembly efficiency.

The connection strength and stability are same as T nut.

Material: nickel plated steel

N
Cleanz
X Room

Description (mLm) (g'\;/llzzz) Part No.
T Bolt-8-16 16 7 22.41.08.16
T Bolt-8-20 20 8 22.41.08.20
T Bolt-8-25 25 9 22.41.08.25
Description (mLm) (g'\;//lzzz) Part No.
T Bolt-10-20 20 13 22.41.10.20
T Bolt-10-25 25 15 22.41.10.25
14?02 160.'02 T Bolt-10-30 30 17 22.41.10.30




TECHNOLOGIA A AUTOMATIZACIA 931 01 Samorin, Slovakia 931 01 Samorin, Slovakia tel.: +421 917 182 797

o TECHMATIC ‘ovismion  Sowiain ningeomos

ICO: 50 550 250
DIC: 2120409148
IC DPH: SK2120409148  22.51.01

Fastening Elements

Hole Reducer Bolt

To reduce the hole diameter of the profile and improve the thread connection strength.

Material: nickel plated steel

o
:.: :1
:{|Room §

Description D G (mLm) (g?sx) Part No.
Hole Reducer Bolt- M10/M6 | M10 | M6 15 8 22.51.10.06
Hole Reducer Bolt- M12/M6 | M12 | M6 20 11 22.51.12.06
Hole Reducer Bolt - M14/M8 | M14 | M8 20 14 22.51.14.08
Hole Reducer Bolt - M14/M10 | M14 | M10 20 8 22.51.14.10
Hole Reducer Bolt- M16/M8 | M16 | M8 20 19 22.51.16.08

Hole Reducer Bolt M10/M6
PG45 with square corner hole-8x8(M10)

=
o
n
>
n
=
s}
=
D
(72}
7}
<<
o
o
3
§=
o
=

Hole Reducer Bolt M12/M6

Hole Reducer Bolt M14/M8

PG40/PG45/PG50/PG60 with core hole-p12(M14)

Hole Reducer Bolt M16/M8
PG60 with square corner hole-14x14(M16)




TE c H M ATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk ICQ; 50 550 250
' PaZitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 931 01 Samorin, Slovakia 931 01 Samorin, Slovakia tel.: +421 917 182 797 IC DPH: SK2120409148

33.11-3.92

Anchor Connector

Die Cast Bracket

Angle Profile Bracket

Inner Bracket

Linear Bar Connector

Joining Plate

Butt Connector

End Connector

Screw Connector

Cubic Connector

N

__3-01] ¢




TECHMATIC

TECHNOLOGIA A AUTOMATIZACIA

TECHMATIC s.r.o0.
Pazitna 2479/10A
931 01 Samorin, Slovakia

Prevadzka / Plant:

Senecka 1/A

931 01 Samorin, Slovakia

www.techmatic.sk ICO: 50 550 250
info@techmatic.sk DIC: 2120409148
tel. +421917 182797 |C DPH: SK2120409148

Selection Reference

Modular Assembly System

‘ Recommended O Suitable O Unsuitable l ' J : !
Anchor Connector  Die Cast Bracket ~ Angle Profile Bracket Inner Bracket ~ Butt Connector End Connector Screw Connector
High feed force
High moment

High torsional moment

O @ @

e © O

o O O
@ © o
O e @

=
[o)
<L
@
=
D
=
@
>3
O
®
=
=
(3]
o
=

Minimal finishing work

=

Minimal assembly

Low parts costs

Stair and Platform System

Subsequent mounting in closed frame

Adjustment possible

Internal connection (concealable)

Tubular Framing System

SCE e 55

Angle connection

@ o ©0 O e e

o O e e e o0 [o

e O e e O e [0

O @ O O e e 0o 50 e e

O @ e O e e [e
O e e ©0 e 0 [
O @ O O @ e [0

N




T E c H M ATI c TECHMATIC s.r.o0. Prevadzka / Plant: www.techmatic.sk ICQ: 50 550 250
Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148
TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia  tel.; +421 917182797 1€ DPH: SK2120409148 33.11.01-02

Connecting Elements

Anchor Connector

Material: zinc plated steel

6.2 8.2 10.2 10.2
2.0 2.2 4.0 6.0

Universal

Description

PG40-Universal 3.11.40.01

[l |7 s |wlms]o|w] » |




TE c H M ATI c TECHMATIC s.r.o0. Prevadzka / Plant; www.techmatic.sk |('3(?; 50 550 250
' PaZitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia  tel.: +421 917 182797 IC DPH: SK2120409148 33.11.03-04

Connecting Elements

/

&
Anchor Connector | B o

64 20

Material: zinc plated steel

8.2 10.2 10.2
2.2 4.0 6.0

Standard (Model P)

£
<)
(72
>
n
=
o
=
D
(2]
o0
<<
=
©
3
=l
s}
=

w oD1

{
il J%fﬁE
®D2

—
—

PG

(1~2)

Description A|lD|H|H |U]|L|[D|D|W]|L (Z"/if]?t) Part No.
PG30-Standard (Model P) 30 | 12 | 21 | 15 7 4 14 199 | 8 45 38 33.11.30.02
PG40-Standard (Model P) 2 |15 27| 2 7 5 18 | 11.9] 10 | 52 58 33.11.40.02
PG45-Standard (Model P) 30 | 15 [295|225| 7 5 18 | 11.9] 10 | 52 60 33.11.45.02
Standard (Model C)
PG
®D1 W
NH 1
Jﬁ_Kr S| W
E oD2
Gg ,
o
=]
=
H1 - (1~2)
H
- Mass
Description A D H H1 L1 L2 [ D1 | D2 | W L (glunit) Part No.
PG30-Standard (Model C) 30 | 12 | 21 | 15 7 4 14 199 | 8 45 38 33.11.30.03
PG40-Standard (Model C) 2 |15 27 | 20 7 5 18 | 11.9] 10 | 52 58 33.11.40.03
PG45-Standard (Model C) 30 | 15 [295|225| 7 5 18 | 11.9] 10 | 52 60 33.11.45.03




TE c H MATI c TECHMATIC s.r.o0. Prevadzka / Plant; www.techmatic.sk |('3(?; 50 550 250
' Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia  tel.: +421 917 182797 IC DPH: SK2120409148 33.11.05-06

Connecting Elements

) P
Anchor Connector

Material: zinc plated steel

8.2 10.2 10.2
2.2 4.0 6.0

Oblique (Model P)

D3 - A

L

¢0/

lll\\

il ooz

Ly

L
AN

A Rotate

[=]
NP B
@E H1
-60°<a<60° H
» M
Description A|lD|H|H |L1]|Lw|D|D2|D]|L (g/if]?t) Part No.
PG30-Oblique (Model P) 30 | 12|21 | 15| 22| 5 | 14 ]99]| 8 [388 55 33.11.30.04
PG40-Oblique (Model P) 2|15 272 | 4| 6 | 18|19 10| 43 72 33.11.40.04
PG45-Oblique (Model P) 32 | 15 |295(225| 6 | 5 | 18 [119| 10 | 43 78 33.11.45.04
Oblique (Model C)
[SS——
<
PG
A
% | _ oD
== T
e
| o
© /
T~
il | (12 ARotate
-60°<0<60° H
Description A|lD|HI|[H |L1|L]|D|D2|D3]| L ("é'/if]?t) Part No.
PG30-Oblique (Model C) 30 | 12 | 21| 15| 22| 5 | 14|99 8 [388 55 33.11.30.05
PG40-Oblique (Model C) 2|15 272 | 4| 6 | 18119 10| 43 72 33.11.40.05
PG45-Oblique (Model C) 32 | 15 [205|225| 6 | 5 | 18 |119| 10 | 43 78 33.11.45.05

S




TE c H MATI c TECHMATIC s.r.o0. Prevadzka / Plant; www.techmatic.sk |('3(?; 50 550 250
' Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia  tel.: +421 917 182797 IC DPH: SK2120409148 33.11.07

Connecting Elements

) P
Anchor Connector

Material: zinc plated steel

1S
g "%
>
I (7p)
8.2 10.2 10.2 r >
:22: :4.0: m A :
- [}
A A 3
oD —_ o <
Miter (Model P) 3
T T Eo
v ; ]
(1~2) (1~2) A-A Rotate

g,
85°<a<180° H
iy M
Description A D H | Ht | DI | D2 L (g/iffit) Part No.
PG30-Miter (Model P) 30 | 12 | 21 | 15| 8 | 99 | 388 63 33.11.30.06
PG40-Miter (Model P) 32 | 15 | 27 | 20 | 10 | 119 ] 43 97 33.11.40.06
PG45-Miter (Model P) 32 | 15 | 205|225 | 10 | 119 | 43 100 33.11.45.06
Miter (Model C) o [P oD
oD = T
y ; ]
(1~2) (1~2) A-A Rotate
fih z
L
N Q ¢ ! oD2
@ =
.
Qﬁ H1
85°<a<180° H
Description A D H | H1 | D1 | D2 | L ('g"lif]?t) Part No.
PG30-Miter (Model C) 30 | 12 | 21 | 15| 8 | 99 | 388 63 33.11.30.07
PG40-Miter (Model C) 32 | 15 | 27 | 20 | 10 | 119 ] 43 97 33.11.40.07
PG45-Miter (Model C) 32 | 15 | 205|225 | 10 | 119 | 43 100 33.11.45.07




TE c H M ATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk ICQ; 50 550 250
' PaZitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia  tel.: +421 917182797 1€ DPH: SK2120409148  33.21.20.00

Connecting Elements ’ [
Die Cast Bracket = ¥
Material: diecast aluminum ‘f R 4 /
| : 2
= /‘/ ’

2.0 3

M ‘ Fastening Set Z ‘ Fastening Set
PG20-20x20 PRILCEL PRILCEL]
zinc plated zinc plated

M4 T Nut
<& el M4 Pre-set Nut
. nickel plated ickel plated

18
S A Description Fastening Set M(z;s)s Part No.
g PG20-20x20 (pcs) 5 33.21.20.2020
PG20-20x20 (set M) 2xM 33.21.20.2020.STM
12
PG20-20x20 (set Z) 2x7 33.21.20.2020.STZ




TE c H M ATI c TECHMATIC s.r.o0. Prevadzka / Plant; www.techmatic.sk |('3(?; 50 550 250
' PaZitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia  tel.: +421 917 182797 IC DPH: SK2120409148 33.21.30.00

Connecting Elements

Die Cast Bracket

Material: diecast aluminum

1S
. §T)
&
8.2 %»
I 2.2 I 2
z
Bracket Cap-PG30-3030 Bracket Cap-PG30-3060 Bracket Cap-PG30-6060 2
5
Q =
&S 2 2 é
PG30-30x30 s
622_ 6 - 60 o 60
&Z A ‘ Fastening Set B ‘ Fastening Set
ool 2D e
Description Fastening Set M(z;s)s Part No.
PG30-30x60 PG30-30x30 (pcs) 21 33.21.30.3030
26
65 6 PG30-30x30 (setA) 2XA 42 | 33.21.30.3030.STA
& PG30-30x30 (set B) 2B 48 | 33.21.30.3030.STB
° Bracket Cap-PG30-3030 3 |33.22.30.3030
® PG30-30x60 (pcs) 53 | 33.21.30.3060
PG30-30x60 (setA) 4xA 93 | 33.21.30.3060.STA
PG30-30x60 (set B) 4xB 105 | 33.21.30.3060.STB
PG30-60x60 Bracket Cap-PG30-3060 124 | 33.22.30.3060
56
30 6 PG30-60x60 (pcs) 120 | 33.21.30.6060
%]
~ D ] PG30-60x60 (setA) 8XA 200 | 33.21.30.6060.STA
6.5
e | | D S PG30-60x60 (set B) 8xB 224 | 33.21.30.6060.STB
~ /
- /
S £ — D) Bracket Cap-PG30-6060 13.9 | 33.22.30.6060




TECHMATIC

TECHNOLOGIA A AUTOMATIZACIA

4

TECHMATIC s.r.o.
Pazitna 2479/10A
931 01 Samorin, Slovakia

Prevadzka / Plant:
Senecka 1/A
931 01 Samorin, Slovakia

www.techmatic.sk
info@techmatic.sk
tel.: +421 917 182 797

ICO: 50 550 250
DIC: 2120409148

IC DPH: SK2120409148

33.21.40.00

Connecting Elements
Die Cast Bracket
Material: diecast aluminum
10.2
4.0
Bracket Cap-PG40-4040 Bracket Cap-PG40-4080 Bracket Cap-PG40-8080
& & @
PG40-40x40 -
36
&3 L 4 80 B 80
3 C ‘ Fastening Set D ‘ Fastening Set E ‘ Fastening Set F ‘ Fastening Set G ‘ Fastening Set
S|~ ‘ @) g MBx2080t () g MB2080t
LT TD= |/) M8 Washer M8 Washer & e plated & Ciincplated
54% < zinc plated (S zinc plated 4% 4%
il || S| | @t || @i
PG40-40x80 Description Fastening Set Mas)s Part No.
36
82 £ PG40-40x40 (pcs) 50 | 33.21.40.4040
%
2 ] PG40-40x40 (set C) 2xC 92 |33.21.40.4040.STC
© S P PG40-40x40 (set D) 2xD 92 |33.21.40.4040.STD
LO.W*__ N /
& —| // PG40-40x40 (set E) 2xE 106 | 33.21.40.4040.STE
wl ] /
Slo T ol % | L) Bracket Cap-PG40-4040 6 |33.22.40.4040
PG40-40x80 (pcs) 125 | 33.21.40.4080
PG40-80x80 PGA40-40x80 (set C) 4xC 210 | 33.21.40.4080.STC
76
40 8 PG40-40x80 (set F) 4xF 220 |33.21.40.4080.STF
- PG40-40x80 (set G) 4xG 250 |33.21.40.4080.STG
2 83 Bracket Cap-PG40-4080 22.6 |33.22.40.4080
S PG40-80x80 (pcs) 260 | 33.21.40.8080
3 PG40-80x80 (set C) 8xC 428 |33.21.40.8080.STC
T
PG40-80x80 (set F) 8xF 452 | 33.21.40.8080.STF
PG40-80x80 (set G) 8xG 508 |[33.21.40.8080.STG
Bracket Cap-PG40-8080 25.6 | 33.22.40.8080




TECHNOLOGIA A AUTOMATIZACIA

o TECHMATIC

TECHMATIC s.r.o.
Pazitna 2479/10A
931 01 Samorin, Slovakia

Prevadzka / Plant:
Senecka 1/A
931 01 Samorin, Slovakia

www.techmatic.sk
info@techmatic.sk
tel.: +421 917 182 797

ICO: 50 550 250
DIC: 2120409148
IC DPH: SK21204

09148  33.21.45.00

Connecting Elements

Die Cast Bracket

Material: diecast aluminum

PG45-45x45

19.5

4

15.5

PG45-45x90

235

86
16.5

235

]
L ]

155

| S

PG45-90x90

86

45

23.5

85

86
16.5

23.5

=
§T)
®
=
n
=
rs]
=
[}
173
73
<<
=
<
=
S
s}
=

15.5

Bracket Cap-PG45-4545 Bracket Cap-PG45-4590 Bracket Cap-PG45-9090
_ & S P
J B 90
H] roewosa | [J] romowosa | [K] rosorogse
@ || W2 Vi
Description Fastening Set M(ZS)S Part No.

PG45-45x45 (pcs) 72 | 33.21.45.4545
PG45-45x45 (set H) 2xH 118 | 33.21.45.4545.STH
PG45-45x45 (set J) 2xJ 122 | 33.21.45.4545.8TJ
PG45-45x45 (set K) 2xK 134 | 33.21.45.4545.STK
Bracket Cap-PG45-4545 76 | 33.22.45.4545
PG45-45x90 (pcs) 190 | 33.21.45.4590
PG45-45x90 (set H) 4xH 282 | 33.21.45.4590.STH
PG45-45x90 (set J) 4xJ 290 | 33.21.45.4590.STJ
PG45-45x90 (set K) 4xK 314 | 33.21.45.4590.STK
Bracket Cap-PG45-4590 28.7 | 33.22.45.4590
PG45-90x90 (pcs) 390 | 33.21.45.9090
PG45-90x90 (set H) 8xH 574 | 33.21.45.9090.STH
PG45-90x90 (set J) 8xJ 590 | 33.21.45.9090.STJ
PG45-90x90 (set K) 8xK 638 | 33.21.45.9090.STK
Bracket Cap-PG45-9090 325 | 33.22.45.9090




ICO: 50 550 250
DIC: 2120409148
IC DPH: SK2120409148

TECHMATIC s.r.o0.
Pazitna 2479/10A
931 01 Samorin, Slovakia

www.techmatic.sk
info@techmatic.sk
tel.: +421 917 182 797

Prevadzka / Plant:
Senecka 1/A
931 01 Samorin, Slovakia

TECHMATIC

TECHNOLOGIA A AUTOMATIZACIA

33.21.50.00

Connecting Elements

Die Cast Bracket (K

Material: diecast aluminum

6.2 8.2 10.2 10.2
2.0 2.2 4.0 6.0

Bracket Cap-PG50-5050
PG50-50x50 &
46 v
g |2

, i 50

f\rl I l H ‘ Fastening Set J ‘ Fastening Set K ‘ Fastening Set
1 M8x25 T Bolt e M8 Vslas;u»:r ot M8 Vzla:::r
PG50-50x100

Description Fastening Set M&S)S Part No.

& PG50-50x50 (set H) 2xH 132 | 33.21.50.5050.STH

& PG50-50x50 (set K) 2xK 152 | 33.21.50.5050.STK

2

PG50-100x100 PG50-50x100 (pos) 235 | 33.21.50.50100

PG50-50x100 (set J) 4xJ 333 | 33.21.50.50100.STJ

25.5

PG50-100x100 (pcs) 4841 33.21.50.100100

25.5

| 145

PG50-100x100 (set J) 8xJ 680 | 33.21.50.100100.STJ




& TECHMATIC mwse e

TECHNOLOGIA A AUTOMATIZACIA 931 01 Samorin, Slovakia 931 01 Samorin, Slovakia

www.techmatic.sk
info@techmatic.sk

tel.: +421 917 182 797

ICO: 50 550 250
DIC: 2120409148
IC DPH: SK2120409148  33.31.35.01

Connecting Elements

Angle Profile Bracket

Material: aluminium, anodized (cutting end not anodized)

1S
i
y &
(Clean
D
35 35 4 N‘ Fastening Set P‘ Fastening Set R‘ Fastening Set M5 ‘ Machining Code %
XO0X! <
1
o
> Aoplicat - D W | Fastening [ Machining | Mass
pplication Description (mm) | (mm) Set Code (@ Part No.
f
G 35-15-15 (pcs) 8 | 333135.15.15
PG15 | 35 15.15 (se) 2N 20 | 33.31.35.15.15.5T
15mm
o 45 | 10
@ 35-15-15 (M5) M5 8 | 33.3135.15.15.M5
35-15-15 (M5 set) a0+xP | M5 | 22 | 333135.15.15M5.8T
35-15-30 (pcs) 21 | 3331351530
PGT5 | 351530 (set) 2N 33 | 33.31.35.15.30.8T
30mm
. 45 | 25
@ 35-15-30 (M5) W5 | 21 | 33.31.35.15.30.M5
35-15-30 (M5 set) aN+ixP | M5 | 35 | 33.31351530.M5.ST
35-20-20 (pcs) 12| 3331.35.20.20
PG20 | 35 5090 (set) 2N 24 | 33.31352020.8T
20mm
. 45 | 14
@ 35-20-20 (M5) W5 | 12 | 33.31.35.20.20.M5
35-20-20 (M5 set) a0NHXP | M5 | 26 | 33.31.3520.20M5.8T
35-30-30 (pcs) 19 | 33.31.35.30.30
PG30 | 353030 (set) 2R 42 | 33.31353030.8T
30mm
. 65 | 22
@ 35-30-30 (M5) w5 | 19 | 33.31.35.30.30.M5
35-30-30 (M5 set) aR+XP | M5 | 44 | 3331353030M5.ST




TE c H MATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk |("3(?: 50 550 250
' Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia  tel.: +421 917 182797 IC DPH: SK2120409148 33.31.35.02

Connecting Elements

Angle Profile Bracket

Material: aluminium, anodized (cutting end not anodized)

.
(Clean
(| R >
[{Room 3

N‘ Fastening Set P‘ Fastening Set R‘ Fastening Set M5‘ Machining Code
35x35x4
- D W | PG | Fastening | Machining | Mass
Description (mm) | (mm) | (mm) Set Code 9 Part No.
35-20-40(pcs) 29 | 33.31.35.20.40
35-20-40(set) 4xN 50 | 33.31.35.20.40.ST
45 | 34 | 20
35-20-40(M5) M5 29 | 33.31.35.20.40.M5
35-20-40(M5 set) 4XN+1xP M5 52 | 33.31.35.20.40.M5.ST
35-30-60(pcs) 45 | 33.31.35.30.60
PG30 | 35.30.60(set) AR 88 | 33.31.35.30.60.ST
60mm
8.2 65| 52 | 30
@I 35-30-60(M5) M5 45 | 33.31.35.30.60.M5
35-30-60(M5 set) 4xR+1xP M5 90 | 33.31.35.30.60.M5.ST

dZ

\




TE c H MATI c TECHMATIC s.r.o0. Prevadzka / Plant; www.techmatic.sk |('3(?; 50 550 250
' Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia  tel.; +421 917 182797 IC DPH: SK2120409148  33.31.35.03

Connecting Elements

Angle Profile Bracket

Material: aluminium, anodized (cutting end not anodized)

=
§o)
&
l Clean
[
N‘ Fastening Set P‘ Fastening Set M5‘ Machining Code ﬁ
35x35x4 &
il e = 3
. - . - Mass
Application Description Fastening Set |[Machining Code 9 Part No.
35-20-60(pcs) 47 | 33.31.35.20.60
PG20 | a5 50.60(set) 6xN\ 77 | 33.31.35.2060.8T
60mm
6.2
|Q£| 35-20-60(M5) M5 47 | 33.31.35.20.60.M5
35-20-60(M5 set) 6xN+1xP M5 79 | 33.31.35.20.60.M5.ST
35x35x4
L - . - Mass
Application Description Fastening Set [Machining Code () Part No.
35-20-80(pcs) 64 | 33.31.35.20.80
PG20 | 35 50.80(set) 8xN 103 | 33.31.35.20.80.8T
80mm
6.2
Iei;l 35-20-80(M5) M5 64 | 33.31.35.20.80.M5
35-20-80(M5 set) 8xN+1xP M5 105 | 33.31.35.20.80.M5.ST




TECHMATIC

TECHMATIC s.r.o.
Pazitna 2479/10A

Prevadzka / Plant:

Senecka 1/A

www.techmatic.sk
info@techmatic.sk

ICO: 50 550 250
DIC: 2120409148

‘ TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia  tel.: +421917 182797 IC DPH: SK2120409148  33.31.50.01
Connecting Elements
\W 9
Angle Profile Bracket $ > p D\ R— P\ —
Material: aluminium, anodized (cutting end not anodized) . & alome 4%
; 3 - W Ot —
e =SB -
) e U rmosn | [V] rosewosn | [VI5 ] maorocon
505010 2 e || G
Application Description (mDm) (rr\:\r/n) Fasézrtﬂng Macc::glijr;ing M(Z?s Part No.
pG20 50-20-20 (pcs) 31 33.31.50.20.20
20mm | 50-20-20 (set) 2xU 43 33.31.50.20.20.8T
@ 50-20-20 (M5) +0 1 M5 31 33.31.50.20.20.M5
50-20-20 (M5 set) 2AUHXP M5 45 33.31.50.20.20.M5.8T
pG30 50-30-30 (pcs) 48 33.31,50.30.30
30mm | 50-30-30 (set) o5 " 2V 71 33.31,50.30.30.8T
? 82 ? 50-30-30 (M5) M5 48 33.31.50.30.30.M5
50-30-30 (M5 set) 2KV+XP M5 73 33.31.50.30.30.M5.ST
e 50-40-40 (pcs) 66 33.31.50.40.40
40mm | 50-40-40 (set) 2xD 112 33.31.50.40.40.ST
w 50-40-40 (M5) 89 % M5 66 33.31.50.40.40.M5
50-40-40 (M5 set) 2D+1xP M5 114 33.31.50.40.40.M5.ST
PG40 50-40-60 (pcs) 110 33.31.50.40.60
60mm | 50-40-60 (set) 55 5 24D 156 33.31.50.40.60.8T
@ 50-40-60 (M5) M5 110 33.31.50.40.60.M5
50-40-60 (M5 set) 2KDHXP M5 158 33.31.50.40.60.M5.ST
PG5 50-45-45 (pcs) 7 33.31.50.45.45
45mm | 50-45-45 (set) 2xD 123 33.31.50.45.45.5T
w 50-45-45 (M5) 89 % M5 77 33.31.50.45.45.M5
50-45-45 (M5 set) 2D+1XP M5 125 33.31.50.45.45.M5.5T
PG5 50-45-60 (pcs) 110 33.31.50.45.60
60mm | 50-45-60 (set) 55 5 24D 156 33.31.50.45.60.5T
Ve 50-45-60 (M5) M5 110 33.31.50.45.60.M5
50-45-60 (M5 Set) 2KD+1XP M5 158 33.31.50.45.60.M5.5T
- 50-50-50 (pcs) 88 33.31.50.50.50
50mm | 50-50-50 (set) 2xD 134 33.31.50.50.50.5T
102 50-50-50 (M5) 59 0 M5 88 33.31.50.50.50.M5
50-50-50 (M5 Set) 2D+IXP M5 136 33.31.50.50.50.M5.5T
PGE0 50-60-60 (pcs) 110 33.31.50.60.60
60mm | 50-60-60 (set) 55 5 24D 156 33.31.50.60.60.5T
Ve 50-60-60 (M5) M5 110 33.31.50.60.60.M5
50-60-60 (M5 Set) 2xD+1XP M5 158 33.31.50.60.60.M5.ST




TECHMATIC

TECHNOLOGIA A AUTOMATIZACIA

4

TECHMATIC s.r.o.
Pazitna 2479/10A
931 01 Samorin, Slovakia

Prevadzka / Plant:

Senecka 1/A
931 01 Samorin, Slovakia

www.techmatic.sk
info@techmatic.sk
tel.: +421 917 182 797

ICO: 50 550 250
DIC: 2120409148
IC DPH: SK2120409148

33.31.50.02

Connecting Elements

Angle Profile Bracket

Material: aluminium, anodized (cutting end not anodized)

£
o
; &
(Clean
e z
g £
2
50X50%9 <
®
-~ 3
o
=
9 D ‘ Fastening Set P ‘ Fastening Set
& @ .
/ B A It
v(yo?
/8§ U ‘ Fastening Set v ‘ Fastening Set M5 ‘ Machining Code
. - D W PG Fastening | Machining Mass
Application Description mm) | mm) | (mm) Set Code 9 Part No.
PG20 50-20-40 (pcs) 75 33.31.50.20.40
40mm 50-20-40 (set) 4xU 95 33.31.50.20.40.ST
6.2 45 34 20
f 20 ? 50-20-40 (M5) M5 75 33.31.50.20.40.M5
50-20-40 (M5 set) 4xU+1xP M5 97 33.31.50.20.40.M5.ST
PG30 50-30-60 (pcs) 114 33.31.50.30.60
60mm 50-30-60 (set) 4xV/ 156 33.31.50.30.60.ST
8.2 6.5 52 30
i 29 l 50-30-60 (M5) M5 114 33.31.50.30.60.M5
50-30-60 (M5 set) 4xV+1xP M5 158 33.31.50.30.60.M5.ST
PG40 50-40-80 (pcs) 154 33.31.50.40.80
80mm 50-40-80 (set) 4xD 240 33.31.50.40.80.ST
102 8.5 70 40
40 50-40-80 (M5) M5 154 33.31.50.40.80.M5
50-40-80 (M5 set) 4xD+1xP M5 242 33.31.50.40.80.M5.ST
PG45 50-45-90 (pcs) 176 33.31.50.45.90
90mm 50-45-90 (set) 4xD 262 33.31.50.45.90.ST
102 8.5 80 45
6.0 50-45-90 (M5) M5 176 33.31.50.45.90.M5
50-45-90 (M5 set) 4xD+1xP M5 264 33.31.50.45.90.M5.ST
PG50 50-50-100 (pcs) 198 33.31.50.50.100
100mm 50-50-100 (set) 4xD 284 33.31.50.50.100.ST
10.2 8.5 90 50
6.0 50-50-100 (M5) M5 198 33.31.50.50.100.M5
50-50-100 (M5 set) 4xD+1xP M5 286 33.31.50.50.100.M5.ST




TE c H NIATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk |("3(?: 50 550 250
' PaZitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia  tel.; +421 917 182797 IC DPH: SK2120409148  33.31.50.03

Connecting Elements

Angle Profile Bracket

Material: aluminium, anodized (cutting end not anodized)

.
(Clean
(| R >
[{Room 3

50x50x9

Ve
. %‘ D ‘ Fastening Set P ‘ Fastening Set
< o
/. © e et
,.7 @ M8 T Nut = zinc plated
< nickel plated
Ve
/@véo U ‘ Fastening Set V ‘ Fastening Set M5 ‘ Machining Code
I - D W PG Fastening [ Machining Mass Part N
Application Description mm) | mm) | (mm) Set Code ) art No.
PG20 50-20-60 (pcs) 19 33.31.50.20.60
60mm 50-20-60 (set) 6xU 147 33.31.50.20.60.ST
6.2 45 54 20
§ 20 ? 50-20-60 (M5) M5 19 33.31.50.20.60.M5
50-20-60 (M5 set) BxU+1xP M5 149 33.31.50.20.60.M5.ST
PG30 50-30-90 (pcs) 180 33.31.50.30.90
90mm 50-30-90 (set) 6xV 241 33.31.50.30.90.ST
8.2 6.5 82 30
i 29 l 50-30-90 (M5) M5 180 33.31.50.30.90.M5
50-30-90 (M5 set) 6xV+1xP M5 243 33.31.50.30.90.M5.ST
PG40 50-40-120 (pcs) 242 33.31.50.40.120
120mm 50-40-120 (set) 6xD 372 33.31.50.40.120.ST
10.2 8.5 10 40
@ 50-40-120 (M5) M5 242 | 33.31.50.40.120.M5
50-40-120 (M5 set) 6xD+1xP M5 374 33.31.50.40.120.M5.ST




TE c H MATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk |("3(?: 50 550 250
' Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia ~ tel.; +421 917 182797 IC DPH: SK2120409148  33.31.50.04

Connecting Elements

Angle Profile Bracket

Material: aluminium, anodized (cutting end not anodized)

.
(Clean
(| R >
[{Room 3

50x50x9

£
3
=
n
=
o
=
[
(2]
o0
<<
o
<
3
=l
s}
=

X

D ‘ Fastening Set P ‘ Fastening Set
z
o
% @) g Ex20 Bott &) @510 ol
= zinc plated = zinc plated
M8 Washer
2 S - 9 M5 Washer
'J Znc pated zinc plated
M8 T Nut
/ < nickel plated
v
7 & o
NS U ‘ Fastening Set \V ‘ Fastening Set M5 ‘ Machining Code

ﬁ < Mdx14 Bolt @ < M6x16 Bolt
= zinc plated = zinc plated

< M4 Washer < M6 Washer

zinc plated zinc plated

M4 T Nut M6 T Nut
kel piated ik e

102 85 | 170 | 45
60 50-45-180 (M5) M5 374 | 33.31.50.45.180.M5

50-45-180 (M5 set) 8xD+1xP M5 548 33.31.50.45.180.M5.ST

. - D W PG Fastening | Machining Mass
Application Description mm) | mm) | (mm) Set Code " Part No.
PG20 50-20-80 (pcs) 163 33.31.50.20.80
80mm 50-20-80 (set) 8xU 199 33.31.50.20.80.ST
6.2 45 74 20
f 20 ? 50-20-80 (M5) M5 163 33.31.50.20.80.M5
50-20-80 (M5 set) 8xU+1xP M5 201 33.31.50.20.80.M5.ST
PG30 50-30-120 (pcs) 246 33.31.50.30.120
120mm 50-30-120 (set) 8xV 326 33.31.50.30.120.ST
8.2 6.5 12 30
i 25 l 50-30-120 (M5) M5 246 33.31.50.30.120.M5
50-30-120 (M5 set) 8xV+1xP M5 328 33.31.50.30.120.M5.ST
PG40 50-40-160 (pcs) 330 33.31.50.40.160
160mm 50-40-160 (set) 8xD 502 33.31.50.40.160.ST
10.2 8.5 150 40
40 50-40-160 (M5) M5 330 33.31.50.40.160.M5
50-40-160 (M5 set) 8xD+1xP M5 504 33.31.50.40.160.M5.ST
PG45 50-45-180 (pcs) 374 33.31.50.45.180
180mm 50-45-180 (set) 8xD 546 33.31.50.45.180.ST
(
(




TE c H MATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk |("3(?: 50 550 250
' PaZitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia  tel.: +421 917 182797 IC DPH: SK2120409148 33.31.70.01

Connecting Elements

e

Angle Profile Bracket | #<

oG 20

Material: aluminium, anodized (cutting end not anodized)

.
(Clean
(| R >
[{Room 3

D ‘ Fastening Set P ‘ Fastening Set

® g P20t ® g /5x10Bot
g zinc plated = zinc plated
M8 Washer
zinc plated M
70x70x9-135° ey
@W
V ‘ Fastening Set M5 ‘ Machining Code

® M6x16 Bolt
E e pated

Application Description (mDm) (n\1/\r/n) Faséc:ing Maé:(f)\(ijr:;ng M(";S Part No.
PG30 70-30-30 (pcs) 71 33.31.70.30.30
30mm | 70-30-30 (set) . ” 2V 94 33.31.70.30.30.8T
? 82 ? 70-30-30 (M5) M5 71 33.31.70.30.30.M5
70-30-30 (M5 set) 2KV+XP M5 9 33.31.70.30.30.M5.5T
PG40 70-40-40 (pcs) 9% 33.31.70.40.40
40mm | 70-40-40 (set) 24D 142 33.31.70.40.40.8T
192 70-40-40 (M5) ? 0 M5 9% 33.31.70.40.40.M5
70-40-40 (M5 set) 2D+1xP M5 144 33.31.70.40.40.M5.ST
PG40 70-40-60 (pcs) 166 33.31.70.40.60
60mm | 70-40-60 (set) o 5 24D 212 33.31.70.40.60.8T
10 70-40-60 (M5) M5 166 33.31.70.40.60.M5
70-40-60 (M5 set) 2D+1xP M5 214 33.31.70.40.60.M5.ST
PG5 70-45-45 (pcs) 113 33.31.70.45.45
45mm | 70-45-45 (set) 24D 159 33.31.7045.45.5T
192 70-45-45 (M5) ? ® M5 113 33.31.70.45.45M5
70-45-45 (M5 set) 2D+1XP M5 161 33.31.70.45.45.M5.8T
PG5 70-45-60 (pcs) 166 33.31.70.45.60
60mm | 70-45-60 (set) o 5 24D 212 33.31.7045.60.8T
192 70-45-60 (M5) M5 166 33.31.70.45.60.M5
70-45-60 (M5 Set) 2D+1xP M5 214 33.31.70.45.60.M5.ST
PG50 70-50-50(pcs) 131 33.31.70.50.50
50mm | 70-50-50 (set) 24D 177 33.31.70.50.50ST
192 70-50-50 (M5) ? 0 M5 131 33.31.70.50.50.M5
70-50-50 (M5 Set) 2D+1xP M5 179 33.31.70.50.50.M5.ST
PG 70-60-60 (pcs) 166 33.31.70.60.60
6omm | 70-60-60 (set) o 5 2xD 212 33.31.70.60.60.8T
192 70-60-60 (M5) M5 166 33.31.70.60.60.M5
70-60-60 (M5 Set) 2D+1xP M5 214 33.31.70.60.60.M5.ST




TECHMATIC s.r.o.
Pazitna 2479/10A
931 01 Samorin, Slovakia

Prevadzka / Plant:
Senecka 1/A
931 01 Samorin, Slovakia

TECHMATIC

TECHNOLOGIA A AUTOMATIZACIA

4

www.t

echmatic.sk

info@techmatic.sk
tel.: +421 917 182 797

ICO: 50 550 250
DIC: 2120409148
IC DPH: SK2120409148

33.31.70.02

Connecting Elements

G 59

Angle Profile Bracket o

oG 20

Material: aluminium, anodized (cutting end not anodized)

.
(Clean
(| R >
[{Room 3

70x70x9-135°

D[ roewose  |[P] romowasa | [V] rosomssa | [M5] wamrocue
Application Description (mDm) (n\ﬁ') (gﬁ) Fas;irtling Maggggng M(Z?S Part No.
PG30 70-30-60 (pcs) 171 | 33.31.70.30.60
60mm | 70-30-60 (set) . 5 | 4xV 213 | 33.31.70.30.60.ST
i 52 ? 70-30-60 (M5) M5 171 | 33.31.70.30.60.M5
70-30-60 (M5 set) AXV+1xP M5 215 | 33.31.70.30.60.M5.ST
PG40 70-40-80 (pcs) 227 | 33.31.70.40.80
8omm | 70-40-80 (set) 4xD 313 | 33.31.70.40.80.ST
102 9 70 | 40
0 70-40-80 (M5) M5 227 | 33.31.7040.80.M5
70-40-80 (M5 set) 4xDHXP M5 315 | 33.31.70.40.80.M5.ST
PG5 70-45-90 (pcs) 262 | 33.31.7045.90
90mm | 70-45-90 (set) o 0 | s 4xD 348 | 33.31.70.45.90.ST
102 70-45-90 (M5) M5 262 | 33.31.70.45.90.M5
70-45-90 (M5 set) 4xDHIXP M5 350 | 33.31.70.45.90.M5.ST
PG 70-50-100 (pcs) 297 | 33.31.70.50.100
100mm | 70-50-100 (set) 4xD 383 | 33.31.70.50.100.ST
192 70-50-100 (M5) ? I M5 207 | 33.31.70.50.100.M5
70-50-100 (M5 set) 4xDHXP M5 385 | 33.31.70.50.100.M5.ST

£
3
=
n
=
o
=
[
(2]
o0
<<
o
<
3
=l
s}
=




TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia  tel.: +421 917 182797 IC DPH: SK2120409148 33.31.70.03

TE c H NIATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk |("3(?: 50 550 250
' PaZitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

Connecting Elements

Angle Profile Bracket | #<

oG 20

Material: aluminium, anodized (cutting end not anodized)

.
(Clean
(| R >
[{Room 3

70x70x9-135°

D ‘ Fastening Set P ‘ Fastening Set \Y ‘ Fastening Set M5 ‘ Machining Code

ﬁ M8x20 Bolt (&) M5x10 Bolt ﬁ M6x16 Bolt
g e = < <

zinc plated zinc plated

Application Description (mDm) (n\w/\r/n) (nF:g) Faséir:ing Magg(ijr;ing M(st Part No.
PG30 70-30-90 (pcs) 270 | 33.31.70.30.90
9mm | 70-30-90 (set) BxV 331 | 33.31.70.30.90.8T
i 82 ? 70-30-90 (M5) ! o M5 270 | 33.31.70.30.90.M5
70-30-90 (M5 set) BXV+1xP M5 333 | 33.31.70.30.90.M5.8T
PG40 70-40-120 (pcs) 357 | 33.31.70.40.120
120mm | 70-40-120 (set) 6xD 487 | 3331.7040.120.8T
w 70-40-120 (M5) ? L M5 357 | 33.31.70.40.120M5
70-40-120 (M5 set) BXD+1xP M5 489 | 33.31.7040.120.M5.5T




T E c H M AT I c TECHMATIC s.r.o0. Prevadzka / Plant: www.techmatic.sk ICQ: 50 550 250
Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148
TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia  tel.; +421 917182797 1€ DPH: SK2120409148  33.31.70.04

Connecting Elements

Angle Profile Bracket

Material: aluminium, anodized (cutting end not anodized)

Modular Assembly System

=
9]
<L
(72
=
n
1=
©
>3
O
)
=
=
S
©
=

=
(0]
-
D ‘ Fastening Set P ‘ Fastening Set V ‘ Fastening Set M 5 ‘ Machining Code g
n
< M8x20 Bolt < M5x10 Bolt < M6x16 Bolt E
zinc plated zinc plated zinc plated “9
M8 Washer M Washer ©
B P M5 Washer - ©
° zinc plated “W ° zinc plated o
.MBTNut 'MGTNut -
nickel plated nickel plated c
@©
=
©
-
Dn

Fastening
Set

Machining
Code

Application Description Part No.

70-30-120 (set) 33.31.70.30.120.ST

8.2
22

PG40
160mm

10.2
4.0

PG45
180mm

10.2
6.0

70-30-120 (M5 set) 33.31.70.30.120.M5.8T

70-40-160 (set) 33.31.70.40.160.ST

Tubular Framing System

70-40-160 (M5 set) 33.31.70.40.160.M5.8T

70-45-180 (set) 33.31.70.45.180.ST

70-45-180 (M5 set) 33.31.70.45.180.M5.8T




TE c H MATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk |("3(?: 50 550 250
' PaZitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia  tel.; +421 917182797 IC DPH: SK2120409148  33.31.80.01

Connecting Elements

80x80x9-45°
P

Angle Profile Bracket | #<p

& C P ‘ Fastening Set D ‘ Fastening Set
Material: aluminium, anodized (cutting end not anodized

M8 Washer
1 -
) Room
\/‘ Fastening Set M5 ‘ Machining Code

@ g o ot
S zinc plated

<
Application Description (mDm) (rr\:\r/n) Fasézrtﬂng Mac(::glijr;ing M(Z?s Part No.
pG30 80-30-30 (pcs) 68 33.31.80.30.30
30mm | 80-30-30 (set) 2V 91 33.31.80.30.30.8T
? 82 ? 80-30-30 (M5) ! = M5 68 33.31.80.30.30.M5
80-30-30 (M5 set) 2V+1XP M5 93 33.31.80.30.30.M5.5T
5G40 80-40-40 (pcs) 89 33.31.80.40.40
40mm | 80-40-40 (set) . " 24D 135 33.31.80.40.40.8T
02 80-40-40 (M5) M5 89 33.31.80.40.40.M5
80-40-40 (M5 set) 2D+1xP M5 137 33.31.80.40.40.M5.ST
PG40 80-40-60 (pcs) 151 33.31.80.40.60
60mm | 80-40-60 (set) 24D 197 33.31.80.40.60.8T
w 80-40-60 (M5) ? > M5 151 33.31.80.40.60.M5
80-40-60 (M5 set) 2D+1xP M5 199 33.31.80.40.60.M5.5T
oG5 80-45-45 (pcs) 105 33.31.80.45.45
45mm | 80-45-45 (set) . s 24D 151 33.31.80.45.45.5T
% 80-45-45 (M5) M5 105 33.31.80.45.45.M5
80-45-45 (M5 set) 2D+1xP M5 153 33.31.80.45.45.M5.5T
PG5 80-45-60 (pcs) 151 33.31.80.45.60
60mm | 80-45-60 (set) 24D 197 33.31.80.45.60.5T
w 80-45-60 (M5) ? > M5 151 33.31.80.45.60.M5
80-45-60 (M5 set) 2D+1xP M5 199 33.31.80.45.60.M5.5T
PG50 80-50-50 (pcs) 120 33.31.80.50.50
50mm | 80-50-50 (set) . 5 24D 166 33.31.80.50.50.5T
V2 80-50-50 (M5) M5 120 33.31.80.50.50.M5
80-50-50 (M5 Set) 2D+1xP M5 168 33.31.80.50.50.M5.ST
PGE0 80-60-60 (pcs) 151 33.31.80.60.60
60mm | 80-60-60 (set) 24D 197 33.31.80.60.60.5T
102 80-60-60 (M5) ? > M5 151 33.31.80.60.60.M5
(

80-60-60 (M5 Set) 2xD+1xP M5 199 33.31.80.60.60.M5.ST




TE c H MATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk |("3(?: 50 550 250
' Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia  tel.; +421917 182797 IC DPH: SK2120409148  33.31.80.02

Connecting Elements

G 50

Angle Profile Bracket o

oG 20

Material: aluminium, anodized (cutting end not anodized)

.
(Clean
(| R >
[{Room 3

80x80x9-45°

£
3
=
n
=
o
=
D
(2]
o0
<<
=
©
3
=l
s}
=

D[ rwwwosn | [P] rewwosn | [V] rosewosn | [ M5 | weorocue
Application Description (mDm) (me) (nF:(ri) Faséirt\ing Maé:g(ijling M(Z?S Part No.
PG30 80-30-60 (pcs) 156 | 33.31.80.30.60
60mm | 80-30-60 (set) . 5 | 2 4xV 198 | 33.31.80.30.60.8T
i 82 ? 80-30-60 (M5) M5 156 | 33.31.80.30.60.M5
80-30-60 (M5 set) AXV+1XP M5 200 | 33.31.80.30.60.M5.ST
PG40 80-40-80 (pcs) 209 | 33.31.80.40.80
8omm | 80-40-80 (set) 4xD 295 | 33.31.80.40.80.5T
192 80-40-80 (M5) ? 0 0 M5 209 | 33.31.80.40.80.M5
80-40-80 (M5 set) 4xDHIXP M5 297 | 33.31.80.40.80.M5.8T
PGa5 80-45-90 (pcs) 240 | 33.31.80.45.90
90mm | 80-45-90 (set) 40 326 | 33.31.80.45.90.5T
192 80-45-90 (M5) ? %0 ® M5 240 | 33.31.80.45.90.M5
80-45-90 (M5 set) 4xDHIXP M5 328 | 33.31.80.45.90.M5.8T
PG50 80-50-100 (pcs) 271 | 33.31.80.50.100
100mm | 80-50-100 (set) 4xD 357 | 33.31.80.50.100.ST
192 80-50-100 (M5) ? O M5 271 | 33.31.80.50.100.M5
80-50-100 (M5 set) 4xDHIXP M5 359 | 33.31.80.50.100.M5.ST




TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia ~ tel.; +421 917 182797 IC DPH: SK2120409148  33.31.80.03

TE c H MATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk |("3(?: 50 550 250
' Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

Connecting Elements

G 50

Angle Profile Bracket o

oG 20

Material: aluminium, anodized (cutting end not anodized)

.
(Clean
(| R >
[{Room 3

80x80x9-45°

D ‘ Fastening Set P ‘ Fastening Set V ‘ Fastening Set M5 ‘ Machining Code
I - D W PG Fastening | Machining Mass Part N
Application Description mm | mm) | (o) Set Code 9 art No.
PG30 80-30-90 (pcs) 247 | 33.31.80.30.90
90mm 80-30-90 (set) . 8 2 BxV/ 308 | 33.31.80.30.90.ST
i 82 ? 80-30-90 (M5) M5 247 | 33.31.80.30.90.M5
80-30-90 (M5 set) BXV+1xP M5 310 | 33.31.80.30.90.M5.8T
PG40 80-40-120 (pcs) 329 | 33.31.80.40.120
120mm | 80-40-120 (set) o P 6xD 459 | 33.31.80.40.120.ST
192 80-40-120 (M5) M5 329 | 33.31.80.40.120.M5
80-40-120 (M5 set) BXD+1xP M5 461 | 33.31.80.40.120.M5.ST




TE c H MATI c TECHMATIC s.r.o0. Prevadzka / Plant; www.techmatic.sk |C(?: 50 550 250
' Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia ~ tel.; +421 917 182797 IC DPH: SK2120409148  33.31.80.04

Connecting Elements

Angle Profile Bracket | #<p

oG 20

Material: aluminium, anodized (cutting end not anodized)

.
(Clean
(| R >
[{Room 3

80x80x9-45°

=
§T)
®
=
n
=
rs]
=
[}
173
73
<<
=
<
=
S
s}
=

0 o | 10 | 45
@ 80-45-180 (M5) M5 510 | 33.31.80.45.180.M5
80-45-180 (M5 set) 8XD+1xP M5 684 | 33.31.80.45.180.M5.5T

D] o] [P] rowmrse [V rommen | [N e
Application Description (mDm) (n\w/\r/n) (nF:g) Faséir:ing Magg(ijr;ing M(st Part No.
PG30 80-30-120 (pcs) 337 | 33.31.80.30.120
120mm | 80-30-120 (set) 8xV 417 | 33.31.80.30.120.ST
? 82 ? 80-30-120 (M5) ! 2 % M5 337 | 33.31.80.30.120.M5
80-30-120 (M5 set) 8XV+1xP M5 419 | 33.31.80.30.120.M5.ST
PG40 80-40-160 (pcs) 449 | 33.31.80.40.160
160mm | 80-40-160 (set) 8xD 621 | 33.31.80.40.160.ST
102 80-40-160 (M5) ? R M5 449 | 33.31.80.40.160.M5
80-40-160 (M5 set) 8XD+1xP M5 623 | 33.31.80.40.160.M5.ST
PG5 80-45-180 (pcs) 510 | 33.31.80.45.180
180mm | 80-45-180 (set) 8xD 682 | 33.31.80.45.180.ST
(
(




TE c H MATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk |("3(?: 50 550 250
' PaZitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia ~ tel.; +421 917182797 IC DPH: SK2120409148  33.31.100.01

Connecting Elements

Angle Profile Bracket 100x100x15 % /1/5/
Material: aluminium, anodized Q
B
N >
1 g
Q 5
%
B
¢ :
% 0 i /é‘f@
,2/’ N
40
90 P[ rewmsa  [W][ rwemmsa | [J] romasa | [M5 ] wesnmons
100 4% % %
= Mw':h O ™| | et
Application Description (mDm) (n\wl\rln) Faséeertling Magg(ijr;ing M(Z?S Part No.
PG40 100-40-40 (pcs) 220 33.31.100.40.40
40mm 100-40-40 (set) o o 324 33.31.100.40.40.8T
192 100-40-40 (M5) M5 220 33.31.100.40.40.M5
100-40-40 (M5 set) AW+2x+1xP| M5 326 33.31.100.40.40.M5.ST
PG40 100-40-60 (pcs) 386 33.31.100.40.60
60mm 100-40-60 (set) 2KW+2x 490 33.31.100.40.60.ST
w 100-40-60 (M5) ? %0 M5 386 33.31.100.40.60.M5
100-40-60 (M5 set) aonex+xP| M5 492 33.31.100.40.60.M5.5T
PG5 100-45-45 (pcs) 261 33.31.100.45.45
45mm 100-45-45 (set) o o T 365 33.31.100.45.45.5T
w 100-45-45 (M5) M5 261 33.31.100.45.45.M5
100-45-45 (M5 set) R 367 33.31.100.45.45.M5.5T
PGS 100-45-60 (pcs) 386 33.31.100.45.60
60mm 100-45-60 (set) 2KW+2x 490 33.31.100.45.60.5T
w 100-45-60 (M5) ? %0 M5 386 33.31.100.45.60.M5
100-45-60 (M5 set) avex+xp| W5 492 33.31.100.45.60.M5.5T
PG50 100-50-50 (pcs) 303 33.31.100.50.50
50mm 100-50-50 (set) 2KN+2x 407 33.31.100.50.50.5T
102 100-50-50 (M5) ’ 0 M5 303 33.31.100.50.50.M5
100-50-50 (M5 set) R 409 33.31.100.50.50.M5.8T
PGE0 100-60-60 (pcs) 386 33.31.100.60.60
60mm 100-60-60 (set) 2KW+2x 490 33.31.100.60.60.ST
w 100-60-60 (M5) ? %0 M5 386 33.31.100.60.60.M5
100-60-60 (M5 Set) anex+xp| W5 492 33.31.100.60.60.M5.5T

Ve

‘




TE c H MATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk |C(?: 50 550 250
' Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia ~ tel.; +421 917182797 IC DPH: SK2120409148  33.31.100.02

Connecting Elements

Angle Profile Bracket

Material: aluminium, anodized

e
K]
»‘ &
(Clean ”
I 2
N =
%
100x100x15 <
©
g
=
2
Z
2
b
5
%v%?
P‘ Fastening Set W‘ Fastening Set J‘ Fastening Set |\/|5‘ Machining Code
§ 5 Washer e zinc plated (=) zinc plated
< plated 4%
I - D W PG Fastening Machining | Mass
Application Description mm | om) | (mm) Set Code @ Part No.
PG40 100-40-80 (pcs) 522 | 33.31.100.40.80
80mm 100-40-80 (set) g 20 40 4x\W+4x) 730 | 33.31.100.40.80.ST
w 100-40-80 (M5) M5 522 | 33.31.100.40.80.M5
100-40-80 (M5 set) 4X\W+4xJ+1xP M5 732 | 33.31.100.40.80.M5.ST
PG5 100-45-90 (pcs) 605 | 33.31.100.45.90
90mm 100-45-90 (set) g %0 45 4X\WV+4x) 813 | 33.31.100.45.90.ST
§1f.'02 ? 100-45-90 (M5) M5 605 | 33.31.100.45.90.M5
100-45-90 (M5 set) AX\W+AXJHXP M5 815 | 33.31.100.45.90.M5.ST
PG50 100-50-100 (pcs) 688 | 33.31.100.50.100
100mm 100-50-100 (set) g % 50 4X\W+4x) 896 | 33.31.100.50.100.ST
192 100-50-100 (M5) M5 688 | 33.31.100.50.100.M5
100-50-100 (M5 set) 4X\W+4xJ+1xP M5 898 | 33.31.100.50.100.M5.ST




TECHMATIC s.r.o.
Pazitna 2479/10A
931 01 Samorin, Slovakia

Prevadzka / Plant:
Senecka 1/A
931 01 Samorin, Slovakia

TECHMATIC

TECHNOLOGIA A AUTOMATIZACIA

4

www.techmatic.sk
info@techmatic.sk
tel.: +421 917 182 797

ICO: 50 550 250
DIC: 2120409148

IC DPH: SK2120409148

Connecting Elements

Angle Profile Bracket

Material: aluminium, anodized

.
(Clean
(| R >
[{Room 3

100x100x15
15
2
g
%
»Q«*"& 3
<
12 C%
B e
P‘ Fastening Set W‘ Fastening Set J ‘ Fastening Set |\/|5‘ Machining Code
® PR ) ¢ B8l
% .agcs‘j;::‘:gdWasher .agcs%:;e;msher
= 2inc plate zinc plated Zinc plate
I - D W PG Fastening Machining | Mass
Application Description mm) | mm) | (mm) Set Code @ Part No.
PG40 100-40-120 (pcs) 824 33.31.100.40.120
120mm 100-40-120 (set) 9 10 40 6x\W+6xJ 1136 | 33.31.100.40.120.ST
w 100-40-120 (M5) M5 824 | 33.31.100.40.120.M5
100-40-120 (M5 set) BxW+6xJ+1xP M5 1138 | 33.31.100.40.120.M5.ST

bz

33.31.100.03




ICO: 50 550 250
DIC: 2120409148
IC DPH: SK2120409148

TECHMATIC s.r.o0.
Pazitna 2479/10A
931 01 Samorin, Slovakia

www.techmatic.sk
info@techmatic.sk
tel.: +421 917 182 797

Prevadzka / Plant:
Senecka 1/A
931 01 Samorin, Slovakia

TECHMATIC

TECHNOLOGIA A AUTOMATIZACIA

33.31.100.04

Connecting Elements

Angle Profile Bracket

Material: aluminium, anodized

100x100x15

Modular Assembly System

A\\\¥

=
9]
<L
n
=
n
1=
]
>
O
)
=
=
S
©
=

P ‘ Fastening Set W ‘ Fastening Set J ‘ Fastening Set M5 ‘ Machining Code
4 M8x30 Bolt 4 M8x25 Bolt
< M5x10 Bolt zinc plated zinc plated
zinc plated M8 Spring Washer M8 Spring Washer
(=] e plated (=] T plated
& Bl M8 Washer M8 Washer Msx10
zinc plated o< zinc plated o< zinc plated
' 'MSTNU( . .MSTNIJY
nickel plated nickel plated

Application Description

PG40
160mm
10.2

100-40-160 (set)
100-40-160 (M5 set)

Set

Fastening

Machining
Code

oo || 1o |

Part No.

33.31.100.40.160.ST

33.31.100.40.160.M5.ST

PG45
180mm | 100-45-180 (sef) ewed | | 1700 | 33.31.100.45.180.8T
10.2
6.0

100-45-180 (M5 set)

8x\W+8xJ+1xP

33.31.100.45.180.M5.ST

Stair and Platform System

Tubular Framing System




TECHMATIC s.r.o0.
Pazitna 2479/10A
931 01 Samorin, Slovakia

TECHMATIC

TECHNOLOGIA A AUTOMATIZACIA

Prevadzka / Plant:

931 01 Samorin, Slovakia

www.techmatic.sk

info@techmatic.sk

tel.: +421 917 182 797

ICO: 50 550 250
DIC: 2120409148

IC DPH: SK2120409148

Connecting Elements

Angle Profile Bracket

Material: aluminium, anodized

100x100x15

NV

P ‘ Fastening Set W ‘ Fastening Set J ‘ Fastening Set M5 ‘ Machining Code

4 M8x30 Bolt 4 M8x25 Bolt
< M5x10 Bolt zinc plated zinc plated

zinc plated M8 Spring Washer M8 Spring Washer
(=] e plated (=] e plated

& Bl M8 Washer M8 Washer Msx10
zinc plated (S zinc plated (SR zinc plated
' 'MSTNU( . .MSTNIJY
nickel plated nickel plated

Application Description

PG40
200mm

10.2
4.0

100-40-200 (set)

100-40-200 (M5 set)

Set

Fastening

Machining
Code

w0 | | oo

10x\W+10xJ+1xP

33.31.100.40.200.M5.ST

Part No.

33.31.100.40.200.ST

33.31.100.05




T E c H M ATI c TECHMATIC s.r.o0. Prevadzka / Plant: www.techmatic.sk ICQ: 50 550 250
Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148
TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia  tel. +421 917182797 I DPH: SK2120409148  33.41.01

Connecting Elements

Inner Bracket (with top thread)

Inner bracket is with low cost and high efficiency, widely used for the assembly
of door, window and protection frame.

Material: bracket-diecast zinc  top thread-zinc plated steel

£
o
n
>
n
=
s}
=
D
(72}
(7]
<
s
3
§=
o
=

L1<L2 _ L1<L2
Al ’ = .
Moxe Type A Type B
Inner Bracket-6-A
3.41.06A =
o
Inner Bracket-6-B (%,
3.41.06B -
S
10.2 d
6.0 2
=
£
set parts in position  tighten L1 top thread  tighten L2 top thread
M6x8 Step 1 Step 2
Inner Bracket-8-A c
3.41.08A 2
>
Inner Bracket-8-B ‘g
3.41.08B -.E
©
10.2 %
6.0 <
Description %
M8x10 Inner Bracket-6-B (with top thread) 33.41.06B
£
Inner Bracket-10-A ‘3:;"
3.41.10A (%
Inner Bracket-10-B ) g
341108 Inner Bracket-8-B (with top thread) 33.41.08B '-'E
©
a
2

Inner Bracket-10-B (with top thread) 33.41.10B




TECHNOLOGIA A AUTOMATIZACIA 931 01 Samorin, Slovakia 931 01 Samorin, Slovakia tel.: +421 917 182 797 IC DPH: SK2120409148 33.51.01

TE c H M ATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk ICQ; 50 550 250
' Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

Connecting Elements

Linear Bar Connector (with top thread)

Material: zinc plated steel

Linear Bar Connector-6

Reliabiity — d s o W W
Efficiency * * * *
Economical * % % %

Description ('\;2;33) Part No.
Linear Bar Connector-6 (with top thread) 27 33.51.06
Linear Bar Connector-8 (with top thread) 65 33.51.08
Linear Bar Connector-10 (with top thread) 132 33.51.10




TECHMATIC rzsion

TECHNOLOGIA A AUTOMATIZACIA 931 01 Samorin, Slovakia

Prevadzka / Plant: www.techmatic.sk ICQ: 50 550 250
Senecka 1/A info@techmatic.sk DIC: 2120409148
93101 Samorin, Slovakia  tel.: +421917 182797 IC DPH: SK2120409148  33.52.01

Connecting Elements

Linear Bar Connector (with top thread)

Material: zinc plated steel

Linear Bar Connector-8

Linear Bar Connector-10

Reliability * W% W W
Efficiency w % W% %
Economical L b B B B ¢

Modular Assembly System

Description Mass Part No.

(g/pcs)

Linear Bar Connector-10 (with top thread) 74 33.52.10

=
[
K
@
=
(7p]
=
©
>3
O
®
=
=
(3]
o
=

Stair and Platform System

Tubular Framing System




TE c H MATI c TECHMATIC s.r.o0. Prevadzka / Plant; www.techmatic.sk |('3(?; 50 550 250
' Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 931 01 Samorin, Slovakia 931 01 Samorin, Slovakia tel.: +421 917 182 797 IC DPH: SK2120409148 33.53.01

Connecting Elements

Joining Plate (T

Material: zinc plated steel

8.2
2.2

PG30-3030-01
2% PG ‘ Fastening Set P H Fastening Set
3 =2 (S Fias (S
J 4 o ls
13]_30 |_30 Description Fastening Set Mass Part No.
" (9
PG30-3030-01 (pcs) 58 | 33.53.30.3030.01
PG30-3030-02 PG30-3030-01 (set A) 5XPG 92 | 3353.30.3030.01.STA
2 PG30-3030-01 (set B) 5xPH 112 | 33.53.30.3030.01.STB
S PG30-3030-02 (pcs) 58 | 33.53.30.3030.02
ay 0=2 £
(5"1’6'5 PG30-3030-02 (set A) 5XPG 92 | 33.53.30.3030.02.STA
30 | 30 PG30-3030-02 (set B) 5xPH 112 | 33.53.30.3030.02.5TB
88
PG30-3030-03 (pcs) 107 | 33.53.30.3030.03
PG30.3030.03 PG30-3030-03 (set A) MG 168 | 33.53.30.3030.03.STA
PG30-3030-03 (set B) 9xPH 204 | 33.53.30.3030.03.STB
P 5=2 9-06.5
&——6 o/<{ o—1Q g § 3
26
60
120
150




T E c H M ATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk ICQ: 50 550 250
Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148
TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia tel.: +421 917 182 797 IC DPH: SK2120409148 33.53.02

Connecting Elements

Joining Plate

Material: zinc plated steel

1S
Q
z
6.2 8.2 10.2 10.2 U;
2.0 2.2 4.0 6.0 =
£
(]
2
PG40-4040-01 =
=
3
X ‘ Fastening Set Y ‘ Fastening Set =
P || P

4 M8 Spring Washer M8 Spring Washer
° zinc plated °

zinc plated

M8 T Nut M8 Pre-set Nut
nickel plated ‘ < nickel plated

Description Fastening Set Mass Part No.

@

=
9]
K
]
=
n
1=
]
>3
O
)
=
=
S
©
=

PG40-4040-01 (set X) 5xX 217 | 33.53.40.4040.01.STX

PG40-4040-02 (pcs) 149 | 33.53.40.4040.02

PG40-4040-02 (set Y) 5xY 259 | 33.53.40.4040.02.STY

Stair and Platform System

PG40-4040-03 (set X) 9xX 395 | 33.53.40.4040.03.8TX

PG40-4040-03

200

Tubular Framing System




TE c H MATI c TECHMATIC s.r.o0. Prevadzka / Plant; www.techmatic.sk |('3(?; 50 550 250
' Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 931 01 Samorin, Slovakia 931 01 Samorin, Slovakia tel.: +421 917 182 797 IC DPH: SK2120409148 33.53.03

Connecting Elements

Joining Plate

Material: zinc plated steel

PGA0-4040-04
X ‘ Fastening Set Y ‘ Fastening Set
o O | | O-wiimlse
- P | | @
® Description Fastening Set M(GSS Part No.
18 40 40
118
PGA40-4040-04 (pcs) 222 | 33.53.40.4040.04
PG40-4040-05 PG40-4040-04 (set X) 5xX 292 | 33.53.40.4040.04.STX
- PG40-4040-04 (set Y) 5XY 332 | 33.53.40.4040.04.STY
< PG40-4040-05 (pcs) 220 | 33.53.40.4040.05
T T PGA40-4040-05 (set X) 5XX 200 | 33.53.40.4040.05.STX
T 7 PG40-4040-05 (set Y) 5XY 330 | 33.53.40.4040.05.STY
40 40
118 PG40-4040-06 (pcs) 355 | 33.53.40.4040.06
PGA04040-06 PGA0-4040-06 (set X) XX 453 | 33.53.40.4040.06.STX
PGA0-4040-06 (set Y) XY 510 | 33.53.40.4040.06.STY
G




TECHMATIC

TECHNOLOGIA A AUTOMATIZACIA

TECHMATIC s.r.o0.
Pazitna 2479/10A
931 01 Samorin, Slovakia

www.techmatic.sk
info@techmatic.sk

Prevadzka / Plant:
Senecka 1/A
931 01 Samorin, Slovakia

tel.: +421 917 182 797

ICO: 50 550 250
DIC: 2120409148
IC DPH: SK2120409148

33.53.04

Connecting Elements

Joining Plate

Material: zinc plated steel

6.2 8.2 10.2 10.2
2.0 2.2 4.0 6.0

PG40-4080-01

PG40-4080-02

36

X ‘ Fastening Set

Y [ Fastening Set
' g 2ol ' ¢ 2Bt
zinc plat zinc plate
OIE"T | | O-wiymtse
- . Mass
Description Fastening Set ) Part No.

PGA40-4080-01 (set X) BxX

PGA40-4080-02 (pcs)

PG40-4080-02 (set Y) 8xY

PG40-4080-03 (set X) 12xX

306 | 33.53.40.4080.01.STX

347 | 33.53.40.4080.02

523 | 33.53.40.4080.02.STY

691 33.53.40.4080.03.STX

Modular Assembly System

=
9]
5]
(2
=
n
1=
]
>3
O
)
=
=
]
©
=

Stair and Platform System

Tubular Framing System




T E c H M AT I c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk |CQ; 50 550 250
PaZitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLGGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia ~ tel.: +421 917182797 IC DPH: SK2120409148 33.53.05

Connecting Elements

Joining Plate

Material: zinc plated steel

6.2 8.2 10.2 10.2
2.0 2.2 4.0 6.0

PG40-8080-01

PG40-8080-03

PG40-8080-02

| l Fastening Set

o [ Fastening Set

< M8x16 Bolt 1 M8x16 Bolt
zinc plated zinc plated

° < M8 Washer ° 1 M8 Spring Washer
zinc plated zinc plated

< MB8T Nut M8 Pre-set Nut
. nickel plated ‘ < nickel plated

Fastening | Mass

Description Set (9)

PG40-8080-01 (set I) 12x 910

PG40-8080-02 (pcs) 731

PG40-8080-02 (set O) 12x0 1007

PG40-8080-03 (set ) 16xI | 1283

Part No.

33.53.40.8080.01.STI

33.53.40.8080.02

33.53.40.8080.02.STO

33.53.40.8080.03.STI



T E c H M ATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk ICQ: 50 550 250
Pazitng 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148
TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia tel.: +421 917 182 797 IC DPH: SK2120409148 33.53.06

Connecting Elements

Joining Plate {7

Material: zinc plated steel

=
o
2
6.2 8.2 10.2 10.2 e
2.0 2.2 4.0 6.0 =
=
[
3
PG45-4545-01 =
=
38
| ‘ Fastening Set O‘ Fastening Set =

o —| | o

- . Mass
Description Fastening Set ©) Part No.

=
9]
<L
]
=
n
1=
]
>
O
)
=
=
S
©
=

PGA45-4545-02 PG45-4545-01 (set |) 5x| 288 | 33.53.45.4545.01.8Tl

PG45-4545-02 (pcs) 209 | 33.53.45.4545.02

8
5=3 5-08.5%

PG45-4545-02 (set O) 5x0 328 | 33.53.45.4545.02.STO

Stair and Platform System

PG45-4545-03 (set 1) OxI 524 | 33.53.45.4545.03.STI

PG45-4545-03

Tubular Framing System




TE c H MATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk |C(?: 50 550 250
' Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia  tel.: +421 917 182797 IC DPH: SK2120409148 33.61.01

Connecting Elements

Butt Connector

Butt Connector is used for profile affiliating connection
and widely used in clean room.

Material: diecast zinc nickel plated

PG
I Clean
R K
N 1 ¢D
Butt Connector-8
1 o
o
o
H ——— SHM5x20.SM
& 2110858 PG
K
_ |, %D
n o
| o = I I
o
é o 2:“2;%22“ PG‘ Fastening Set CD‘ Fastening Set CE‘ Fastening Set Q‘ Fastening Set T‘ Fastening Set S‘ Fastening Set
. K D P : Mass
Description PG Fastening Set Part No.
(mm) | (mm) | (mm) @
Butt Connector-8 (pcs) 9 33.61.08
Butt Connector-8 (set A) PG30 16 13 1" 1xQ 20 33.61.08.STA
Butt Connector-8 (set B) 1xPG 18 33.61.08.STB
Butt Connector-10 (pcs) PG40/PG45/PG50/PG60 15 33.61.10
Butt Connector-10-4 (set A) XT 41 33.61.10.04.STA
PG40
Butt Connector-10-4 (set B) 22 17 14 1xCD 37 33.61.10.04.STB
Butt Connector-10-6 (set A) 1xS 43 33.61.10.06.STA
PG45/PG50/PG60
Butt Connector-10-6 (set B) 1xCE 39 33.61.10.06.5TB




TECHMATIC s.r.o0.
Pazitna 2479/10A
931 01 Samorin, Slovakia

TECHMATIC

TECHNOLOGIA A AUTOMATIZACIA

Prevadzka / Plant:
Senecka 1/A
931 01 Samorin, Slovakia

www.techmatic.sk
info@techmatic.sk
tel.: +421 917 182 797

ICO: 50 550 250
DIC: 2120409148
IC DPH: SK2120409148

33.71.01

Connecting Elements

End Connector E

End connector is also called butterfly button connector due to its shape which can hide itself completely

in aluminum profile, so it is widely used for frame structures in clean room.

Material: nickel plated steel

o

2
6.0

FA ‘ Fastening Set FB ‘ Fastening Set
Permm | P
M12—M6 M14—M8
PM FM
nickel plated nickel plated
- . Mass
Description Fastening Set () Part No.

End Connector-8 (set) 1XFA

End Connector-10 (set) 1xFB

23 33.71.30.8T

38 33.71.40.8T

Modular Assembly System

Machine Guard System

Tubular Framing System




TE c H M ATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk ICQ; 50 550 250
' Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia  tel. +421 917182797 I DPH: SK2120409148  33.81.01

Connecting Elements

)
£
Screw Connector

A simple and economic way to replace end connector with more connection reliablity.

Material: nickel plated steel

N
Ea
t‘ oom

Screw Connector-6

20

M12
Description Mass Part No.
@
S © tor-6 7 33.81.06
Screw Connector-10 orew Lonnector
Screw Connector-8 17 33.81.08
| | Screw Connector-10 31 33.81.10
; _
M14
10.2 10.2
4.0 6.0
2 NON
/'/

EYE]




TECHMATIC Smmee e

TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia

www.techmatic.sk
info@techmatic.sk

tel.: +421 917 182 797

ICO: 50 550 250
DIC: 2120409148

IC DPH: SK2120409148  33.91.01

Connecting Elements

Cubic Connector E

Material: Connector-diecast aluminum Cap-black ABS

6.2 8.2 10.2 10.2
2.0 2.2 4.0 6.0
2 >

Cubic Connector-4545-2 Cubic Connector-4545-3

Description Fastening Set

Cubic Connector-4545-2 (set) 2x(M14x25)

Cubic Connector-4545-3 (set) 3x(M14x25)

201

234

33.91.4545.02.8T

33.91.4545.03.8T

Modular Assembly System

=
9]
K
(72
=
n
1=
]
>3
O
)
=
=
S
©
=

Stair and Platform System

Tubular Framing System




TE c H MATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk |C(?: 50 550 250
' Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia  tel.: +421 917 182797 IC DPH: SK2120409148 33.92.01

Connecting Elements

DY‘ Fastening Set CW‘ Fastening Set Fl ‘ Fastening Set

? g /5203t
= zinc plated

1 M8x20 Bolt
= zinc plated

@ 4 M6x16 Bolt
zinc plated M12—M6 M14—M8
N % ¢ Hole Reducer Bolt % ¢ Hole Reducer Bolt
nickel plated nickel plated
Description a b D Fastening Set Cap Mass Part No.
(pcs) (9)

2020-01 (pcs) 11 33.92.2020.01 (&I
2020-01 (set) 185 2 6x 3xDY 1 23 33.92.2020.01.T {1k
2020-02 (pcs) ' ' 12 3392202002 {TF
2020-02 (set) 3xDY 24 33.92.2020.02.5T {7k
3030-01 (pcs) 35 33.92.3030.01

3030-01 (set) 28 2 65 3xCW 1 105 33.92.3030.01.ST
3030-02 (pcs) ' 38 33.92.3030.02
3030-02 (set) 3xCW 108 33.92.3030.02.ST

(
(
(
(
(
(
(
(
4040-01 (pcs) 87 33.92.4040.01
(
(
(
(
(
(
(

4040-01 (set) 2 " 55 3xFI 1 159 33.92.4040.01.ST
4040-02 (pcs) ' 92 33.92.4040.02
4040-02 (set) 3xFI 164 33.92.4040.02.T
4545-01 (pcs) 114 33.92.4545.01
4545-01 (set) o " 65 3xFI 1 187 33.92.4545.01.ST
4545-02 (pcs) ' 123 33.92.4545.02

4545-02 (set) 3xFI 196 33.92.4545.02.8T




4

TECHMATIC rdzsion

TECHNOLOGIA A AUTOMATIZACIA 931 01 Samorin, Slovakia

Prevadzka / Plant:
Senecka 1/A
931 01 Samorin, Slovakia

www.techmatic.sk ICO: 50 550 250
info@techmatic.sk DIC: 2120409148
tel.: +421 917 182 797 IC DPH: SK2120409148

Profile Accessories

44 .11-4.21

End Cap

T Slot Cover

=
D
72}
>
n
=
s}
=
D
(72}
7}
<<
o
o
3
§=
s}
=




TECHMATIC s.r.o.
Pazitna 2479/10A
931 01 Samorin, Slovakia

TECHMATIC

TECHNOLOGIA A AUTOMATIZACIA

4

Prevadzka / Plant:
Senecka 1/A
931 01 Samorin, Slovakia

www.techmatic.sk
info@techmatic.sk

tel.: +421 917 182 797

ICO: 50 550 250
DIC: 2120409148

IC DPH: SK2120409148

Profile Accessories

End Cap

To prevent staff from any injury and improve profile end appearance.

Material and Color: black ABS

o
dClean”
i >
X Room

Type A

Type B

Type C

Description (nl;r1n) (nﬁ) (me) M(a;)S Part No.
End Cap-PG20-2020R 20 20 4 1 44.11.20.2020R
Type A End Cap-PG30-3030R 30 30 5 3 44.11.30.3030R
End Cap-PG40-4040R 40 40 5 6 44.11.40.4040R
End Cap-PG45-4545R 45 45 5 7 44.11.45.4545R
End Cap-PG15-1515 15 15 3 1 44.11.15.1515
End Cap-PG20-2020 20 20 4 2 44.11.20.2020
End Cap-PG20-4040 40 40 4 6 44.11.20.4040
End Cap-PG30-3030 30 30 5 3 44.11.30.3030
End Cap-PG30-6060 60 60 ® 15 44.11.30.6060
End Cap-PG40-4040 40 40 5 6 44.11.40.4040
Type B End Cap-PG40-8080 80 80 5 22 44.11.40.8080
End Cap-PG40-120120 120 120 5 64 44.11.40.120120
End Cap-PG45-4545 45 45 ® 8 44.11.45.4545
End Cap-PG45-9090 90 90 5 28 44.11.45.9090
End Cap-PG50-5050 50 50 5 10 44.11.50.5050
End Cap-PG50-100100 100 100 5 44 44.11.50.100100
End Cap-PG60-6060 60 60 ® 14 44.11.60.6060
End Cap-PG15-1530 15 30 3 1.1 44.11.15.1530
End Cap-PG20-2040 20 40 4 3 44.11.20.2040
End Cap-PG20-2060 20 60 4 4 44.11.20.2060
End Cap-PG20-2080 20 80 4 5 44.11.20.2080
End Cap-PG30-3060 30 60 5 8 44.11.30.3060
Type C End Cap-PG30-3090 30 90 5 1" 44.11.30.3090
End Cap-PG30-30120 30 120 5 14 44.11.30.30120
End Cap-PG30-60120 60 120 9 88 44.11.30.60120
End Cap-PG40-4060 40 60 5 9 44.11.40.4060
End Cap-PG40-4080 40 80 ® 13 44.11.40.4080
End Cap-PG40-40120 40 120 5 18 44.11.40.40120
€0 %

‘

44.11.01



TE c H M ATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk ICQ; 50 550 250
' PaZitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia  tel. +421 917182797 I DPH: SK2120409148  44.11.02

Profile Accessories

End Cap

To prevent staff from any injury and improve profile end appearance.

Material and Color: black ABS

N
5:1
5 oom

Type C

=
i
n
>
@D
=
s}
=
D
(72}
7}
<<
=
o
3
§=
s}
=

Description (rt:n) (erZn) (me) M(a;)S Part No.
End Cap-PG40-40160 40 160 24 44.11.40.40160
End Cap-PG40-80120 80 120 43 44.11.40.80120
End Cap-PG40-80160 80 160 58 44.11.40.80160
Type C End Cap-PG40-80200 80 200 5 72 44.11.40.80200
End Cap-PG45-4560 45 60 1 44.11.45.4560
End Cap-PG45-4590 45 90 16 44.11.45.4590
End Cap-PG45-90180 90 180 72 44.11.45.90180
End Cap-PG50-50100 50 100 18 44.11.50.50100
End Cap-PG30-6060L 30 60 1 44.11.30.6060L
Type D End Cap-PG40-8080L 40 80 5 17 44.11.40.8080L
End Cap-PG45-9090L 45 90 22 44.11.45.9090L
Type E End Cap-PG40-4040T 40 40 5 53 44.11.40.4040TW




TECHMATIC s.r.o.
Pazitna 2479/10A
931 01 Samorin, Slovakia

TECHMATIC

TECHNOLOGIA A AUTOMATIZACIA

4

Prevadzka / Plant:
Senecka 1/A

931 01 Samorin, Slovakia

www.techmatic.sk
info@techmatic.sk

tel.: +421 917 182 797

ICO: 50 550 250
DIC: 2120409148

IC DPH: SK2120409148 44 14.01

A

Profile Accessories

Conduit end cap W

To prevent staff from any injury and improve profile end appearance.

Material: stainless steel

o
dClean”
i >
X Room

Conduit Cap-40x40 Conduit Cap-40x80 Conduit Cap-60x120
120
80
40 80 - <> b
[ o5 , 3055
Wi e
< g 4-955
| 4-05.
. =< 0 < o <
! 32 ' 72 110
Conduit Cap-80x80 Conduit Cap-80x160 Conduit Cap-80x200
80 160 200
3-055 4-955
7} : =t : e o
8 = 8 6-05.5
-6 o - &
o o e
! 72 100 140
DM‘ Fastening Set DK‘ Fastening Set
- Thinckness . Mass
Description Fastening Set Part No.
P T(mm) : (9)
Conduit Cap-40x40(pcs) 245 44.14.40.4040
Conduit Cap-40x40(set) 3xDM 29 44.14.40.4040.ST
Conduit Cap-40x80(pcs) 50 44.14.40.4080
Conduit Cap-40x80(set) 3xDK 59 44.14.40.4080.ST
Conduit Cap-60x120(pcs) 113 44.14.60.60120
Conduit Cap-60x120(set) 5 4xDK 125 44.14.60.60120.ST
Conduit Cap-80x80(pcs) 99 44.14.40.8080
Conduit Cap-80x80(set) 4xDK 111 44.14.40.8080.ST
Conduit Cap-80x160(pcs) 203 44.14.60.80160
Conduit Cap-80x160(set) 4xDK 215 44.14.60.80160.ST
Conduit Cap-80x200(pcs) 247 44.14.40.80200
Conduit Cap-80x200(set) 6xDK 265 44.14.40.80200.ST




TE c H MATI c TECHMATIC s.r.o0. Prevadzka / Plant; www.techmatic.sk |('3(?; 50 550 250
' Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 931 01 Samorin, Slovakia 931 01 Samorin, Slovakia tel.: +421 917 182 797 IC DPH: SK2120409148 44.21.01

Profile Accessories

T Slot Cover
To prevent slot from contamination and improve structure appearance.
£
o
Material and Color: PP black/blue/grey/orange (‘,>’;,
=
) =
Cleanz @
X Room 2
5
T Slot Cover-6 §
=
- Mass .
Description Color (@/m) Delivery Length Part No. MAS
T Slot Cover-6 Black 44.21.06.BK
T Slot Cover-6 Blue 44.21.06.BE
1
T Slot Cover-6 Grey 44.21.06.GY
T Slot Cover-8 T Slot Cover-6 Orange 44.21.06.5E
T Slot Cover-8 Black 44.21.08.BK
T Slot Cover-8 Blue 44.21.08.BE
22 2000mm/bar
T Slot Cover-8 Grey 44.21.08.GY
T Slot Cover-8 Orange 44.21.08.SE
T Slot Cover-10 Black 44.21.10.BK
T Slot Cover-10 Blue 44.21.10.BE
38
T Slot Cover-10 Grey 44.21.10.GY
T Slot Cover-10 Orange 44.21.10.SE
10.2 10.2
4.0 6.0

Note:
1. Cut to delivery length is not available, but 4000mm or Max. 5800 delivery length is available upon request.

2. Customized color upon request is subject to 5000 meters minimum order quantities.




TE c H M ATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk ICQ; 50 550 250
' PaZitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 931 01 Samorin, Slovakia 931 01 Samorin, Slovakia tel.: +421 917 182 797 IC DPH: SK2120409148

55.11-5.61

Base Plate
Base Plate
Leveling Foot
Mounting Plate
Castor Plate
Castor

Base Angle

L Base

Foot and Castor
Components

Leveling Castor

Floor Elements




ICO: 50 550 250
DIC: 2120409148
IC DPH: SK2120409148

TECHMATIC s.r.o.
Pazitna 2479/10A
931 01 Samorin, Slovakia

Prevadzka / Plant:
Senecka 1/A
931 01 Samorin, Slovakia

www.techmatic.sk
info@techmatic.sk
tel.: +421 917 182 797

TECHMATIC

TECHNOLOGIA A AUTOMATIZACIA

55.11.01

4

Floor Elements

Base Plate

To support strut profile at the bottom. Expansion bolts chocked into floor can offer a high stability.

e
ko)
Material and surface treatment: cast steel, black electrophoresis & (%
Y -
Base Plate Gasket Q =] Ti g
To adjust the degree of vertical profile and uneven ground. . E
40 & g
Base Plate-4080 =
10.5 A
| s
Q p i o <
4913
Base Plate-4560
r}( :
of o |Ledlo] o ]le] / o
= x=n ~ °
e} ol o 4 o
Ao oo - | L
45x45 45x60 60x60 / o
s ) a
P N
Base Plate-4590 .B_| c
D E
o e[l el oo L
] 5% 3%7 %;[:] |_ C ‘ Fastening Set AA‘ Fastening Set AZ ‘ Fastening Set
(&, _ M8 Flange Nut
o) | o | Bo o | pa ol o (e
6 LS5 o M10x100 expansion bot i esher
45¢45 45x90 90%9 0 547215:5?32‘3‘ %‘mf L ancpaes
- L A B C D E . Mass
Description Fastening Set Part No.
P (mm) | (mm) | (mm) { (mm) | (mm) | (mm) S 9)
Base Plate-4080 (pcs) 2xAZ 1930 55.11.4080
Base Plate-4080 (set A) 4xC+3xAA+2XAZ 2240 55.11.4080.STA
126 | 40 20 60 40 80
Base Plate-4080 (set B) 6xC+3xAA+2xAZ 2290 55.11.4080.STB
Base Plate-4080 (set C) 8XxC+3xAA+2XAZ 2340 55.11.4080.STC
Base Plate-4560 (pcs) 2xAZ 1600 55.11.4560
1M1 225 30 45 60
Base Plate-4560 (set) 4xC+3xAA+2XAZ 1910 55.11.4560.ST
Base Plate-4590 (pcs) 2xAZ 2330 55.11.4590
Base Plate-4590 (set A) 4xC+3xAA+2XAZ 2640 55.11.4590.STA
141 | 45 | 225|675 | 45 90
Base Plate-4590 (set B) 6XxC+3xAA+2xAZ 2690 55.11.4590.STB
Base Plate-4590 (set C) 8XC+3xAA+2XAZ 2740 55.11.4590.STC
Base Plate Gasket @) 9 55.11.01

7




TE c H M ATI c TECHMATIC s.r.o0. Prevadzka / Plant; www.techmatic.sk |('3(?; 50 550 250
' PaZitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 931 01 Samorin, Slovakia 931 01 Samorin, Slovakia tel.: +421 917 182 797 IC DPH: SK2120409148 55.12.01

Floor Elements

Base Plate

To support strut profile mounted on the floor or between the platforms. Expansion bolts chocked into the floor
can offer a high stability.

Material and Color: aluminum, spray coating, sliver

N
ga
5 oom

Base Plate-4080

®5(M6)

100
75

P9

N % $
oC 190 ® =]
i 12024
s\ ¢ @ .
40x40 40x60 40x80
DT Fastening Set
Description Fastening Set Mass Part No. ‘ !
(g) .MGXZ? Bud\t
zinc plate
Base Plate-4080 (set) 4xDT 975 | 55.12.40.8T O
S




TECHMATIC s.r.o.
Pazitna 2479/10A
931 01 Samorin, Slovakia

Prevadzka / Plant:
Senecka 1/A

TECHMATIC

TECHNOLOGIA A AUTOMATIZACIA

4

931 01 Samorin, Slovakia

www.techmatic.sk
info@techmatic.sk
tel.: +421 917 182 797

ICDPH: S

ICO: 50 550 250
DIC: 2120409148

K2120409148

55.21-22

Floor Elements

Leveling Foot-Pivot Foot

To support structure where gradual height adjustment is needed, the pivot foot has a small
swiveling angle to fit slightly uneven floor. The connection between the pivot base and the
spindle can be released with a tool.

Material and Color: Base-black PA6 Spindle-zinc plated steel Pad-black rubber

Pivot Foot
] : -
M . D KxL Hmin. [ Hmax. | Max. Static Load | Mass
1] Description Part No.
T P (mm) | (mm) | (mm) | (mm) N) (9)
u
C i 59 M12x90 70 4500 152 | 55.21.60.12.90
— M14x130 100 7000 220 | 55.21.60.14.1300EE
§ M12x90 70 188 | 55.21.80.12.90
< * Pivot Foot-PA 6 Base 79 | M12x130 100 9000 218 | 55.21.80.12.130
£ M16x130 100 328 | 55.21.80.16.130
M12x130 100 326 | 55.21.100.12.130
99 X 10000
M16x130 100 436 | 55.21.100.16.130

Leveling Foot-Swivel Foot

To support structure where gradual height adjustment is needed, the swivel foot has a ball joint between the base
and spindle, thus allowing the foot to swivel to an angle up to 30°. It is suitable to be used on the components

moved frequently.

Material and Color: Base-black PA6  Spindle-zinc plated steel Pad-black rubber

Swivel Foot

a0 *30°
\ /t— :
\ K \7 Description D KxL Hmin. [ Hmax. | Max. Static Load | Mass Part No
\ / (mm) | (@m) | (mm) | (mm) N) ©
\\ B 7
N\ Ll / 59 | M12x90 45 70 4500 162 | 55.22.60.12.90
\ / . M12x90 70 198 | 55.22.80.12.90
\ 7 2 : 79 | M12x130 | 45 100 9000 228 | 55.22.80.12.130
\ / g Swivel Foot-PA 6 Base
\ / 4 T M16x130 100 338 | 55.22.80.16.130
=
M12x130 1 336 5.22.100.12.130
- 99 X s |0 10000 % | 55221001213
M16x130 100 446 | 55.22.100.16.130

oD

£
(]
(72
=
n
=
o
=
[
(2]
o0
<<
o
<
3
=l
s}
=




TE c H IVIATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk |("3(?: 50 550 250
' PaZitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 931 01 Samorin, Slovakia 931 01 Samorin, Slovakia tel.: +421 917 182 797 IC DPH: SK2120409148 55.23-24

Floor Elements

Leveling Foot-Fixed Foot

Fixed foot have a non-moving connection between base and spindle.

Material and Color: Base Plate-steel, electrophoresis, black  Spindle-zinc plated steel Pad-black rubber

Fixed Foot
. D KxL Hmin. | Hmax. | Max. Static Load | Mass
Description Part No.
« P (mm) (mm) (mm) | (mm) (N) (9)
40 M12x70 85 50 4000 124 | 55.23.40.12.70
i M12x70 35 50 181 | 55.23.60.12.70
| J % M14X70 38 50 7000 225 | 55.23.60.14.70
) Fixed Foot-Steel Base X R
é M12x70 35 50 220 | 55.23.80.12.70
| T 80 M12x110 85) 80 9000 240 | 55.23.80.12.110
£
-

M14x70 38 50 283 | 55.23.80.14.70
oD Ad:M14 Fixed Foot should use an end cap with a punched hole

Leveling Foot-Pivot Foot

To support structure where gradual height adjustment is needed, the pivot foot has a small
swiveling angle to fit slightly uneven floor. The connection between the pivot base and the
spindle can be released with a tool.

Material: zinc plated steel/stainless steel

- D KxL H min. | H max. | Max. Static Load | Mass
Pivot Foot esarpton mm | @) | em | o | W @ | e
25 28 g |M12x128 | 45 | 100 15000 241 | 55.24.40.12.130
| M14x128 | 45 | 100 17000 290 | 55.24.40.14.130{7F
m M12x128 | 45 | 100 15000 475 | 55.24.60.12.130
‘\l ’i K oo LM14x128 | 45 | 100 17000 523 | 55.24.60.14.130{7k
i Pivot Foot-Zinc Plate Steel M16x158 | 45 | 120 20000 596 | 55.24.60.16.160
ol M20x178 | 50 | 130 25000 796 | 55.24.60.20.180
1- M12x128 | 45 | 100 15000 670 | 55.24.80.12.130
g 80 | M16x158 | 45 | 120 20000 780 | 55.24.80.16.160
£ * M20x178 | 50 | 130 25000 945 | 55.24.80.20.180
T 40 | M12x128 | 45 | 100 15000 240 | 55.24.40.12.130.SS
®D M12x128 | 45 | 100 15000 480 | 55.24.60.12.130.SS
60 | M16x158 | 45 | 120 20000 600 | 55.24.60.16.160.SS
Pivot Foot-Stainless Steel M20x178 | 50 | 130 25000 803 | 55.24.60.20.180.SS
M12x128 | 45 | 100 15000 675 | 55.24.80.12.130.SS
80 | M16x158 | 45 | 120 20000 785 | 55.24.80.16.160.SS
M20x178 | 50 | 130 25000 950 | 55.24.80.20.180.SS




y TECHMATIC ‘ovismion  Sowiain ningeomos

TECHNOLOGIA A AUTOMATIZACIA 931 01 Samorin, Slovakia 931 01 Samorin, Slovakia tel.: +421 917 182 797

ICO: 50 550 250
DIC: 2120409148
IC DPH: SK2120409148  55.25.01

Floor Elements

Cup pivot foot W

To support structure where gradual height adjustment is needed, the pivot foot has a small swiveling angle to fit
slightly uneven floor. The connection between the pivot base and the spindle can be released with a tool.

Material: zinc plated steel

=
2
(72}
>
n
=
s}
=
D
(72}
7}
<<
o
o
3
§=
o
=

Cup pivot foot
25°1 11 $25°
“ K
Ll
lj]
I
)
Il - D KxL Hmin. | Hmax. | Max. Static Load | Mass
i — Description ) ) ' Part No.
- P (mm) | (mm) | (mm) [ (mm) (N) (@)
@
£
45 148 | 55.25.40.12.130
- Cup pivot foot M12x132 50 105 10000
50 207 | 55.25.45.12.130




TE c H MATI c TECHMATIC s.r.o0. Prevadzka / Plant; www.techmatic.sk |('3(?; 50 550 250
' Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 931 01 Samorin, Slovakia 931 01 Samorin, Slovakia tel.: +421 917 182 797 IC DPH: SK2120409148 55.31.01

Floor Elements

Mounting Plate

To attach leveling foot to strut profile end, but it does
not apply for connecting of castors.

Material: diecast aluminum

B
Room:

. Efficiency VB B B
PGA0-40x40 PG40-40x60 PG40-40x80 ey
PG45-45x45 PG45-45x60 PG45-45x90

PG50-50x50

FC ‘ Fastening Set

@ DAL
= zinc plated

M10—M6

Hole Reducer Bolt
nickel plated

- L1 L2 W1 W2 . Mass
Description D ) Fastening Set Part No.
P mm) | (mm) | (mm) | (mm) ‘ @)
Mounting Plate-PG40-4040 M12 6.5 40 40 30 30 4x(M6x20) 51 55.31.40.4040
Mounting Plate-PG45-4545 M12 6.5 45 45 33 33 4xFC 97 55.31.45.4545
Mounting Plate-PG50-5050 M12 8.5 50 50 35 35 4x(M8x30) 130 55.31.50.5050
Mounting Plate-PG40-4060 M12 6.5 60 40 50 30 4x(M6x20) 67 55.31.40.4060
Mounting Plate-PG45-4560 M12 6.5 60 45 48 88 4xFC 108 55.31.45.4560
) M12 4x(M6x20) 78 55.31.40.4080.M12
Mounting Plate-PG40-4080 6.5 80 40 70 30
M16 4x(M6x20) 78 55.31.40.4080.M16
: M12 4xFC 131 55.31.45.4590.M12
Mounting Plate-PG45-4590 6.5 90 45 78 33
M16 4xFC 128 55.31.45.4590.M16




TE c H MATI c TECHMATIC s.r.o0. Prevadzka / Plant; www.techmatic.sk |('3(?: 50 550 250
' Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 931 01 Samorin, Slovakia 931 01 Samorin, Slovakia tel.: +421 917 182 797 IC DPH: SK2120409148 55.32.01

Floor Elements

Mounting Plate

To attach leveling foot or castor to strut profile end.

Material and Color: spray coating steel, sliver

Cleanz

{{Room 3 Refabilty Y W W W W
PG40-4040 PG40-4060 PG30-3060 Erceney sk ek kK
PG45-4545 PG45-4560 PG40-4080
PG50-5050 PG45-4590 s

PG50-50100

=
o
@
=
n
=
o]
=
[}
173
73
<<
=
<
=
S
s}
=

Fl ‘ Fastening Set FZ ‘ Fastening Set
©@ ¢ /025 B0l ) PRTLL
zinc plated = zinc plated

M10—M6 M12—M6

Hole Reducer Bolt Hole Reducer Bolt
nickel plated nickel plated

- L1 L2 W1 W2 H . Mass
Description D Fastening Set Part No.
P (mm) | (mm) | mm) | (mm) | (mm) g ©
Mounting Plate-PG40-4040 M12 40 40 30 30 12 4x(M6x20) 128 55.32.40.4040
Mounting Plate-PG45-4545 M12 45 45 33 33 12 4xF| 203 55.32.45.4545
Mounting Plate-PG50-5050 M12 50 50 35 35 12 4x(M8x20) 218 55.32.50.5050
Mounting Plate-PG40-4060 M12 60 40 50 30 12 4x(M6x20) 176 55.32.40.4060
Mounting Plate-PG45-4560 M12 60 45 48 33 12 4XF| 220 55.32.45.4560
Mounting Plate-PG30-3060 M12 60 30 30 23 10 2XFZ 133 55.32.30.3060
: M12 272 55.32.40.4080.M12
Mounting Plate-PG40-4080 80 40 40 30 12 2x(M14x25)
M16 270 55.32.40.4080.M16
) M12 332 55.32.45.4590.M12
Mounting Plate-PG45-4590 90 45 45 33 12 2x(M14x25)
M16 330 55.32.45.4590.M16
M12 332 55.32.50.50100.M12
Mounting Plate-PG50-50100 M16 100 50 50 35 12 2x(M14x25) 329 55.32.50.50100.M16
M20 327 55.32.50.50100.M20

iz




TE c H MATI c TECHMATIC s.r.o0. Prevadzka / Plant; www.techmatic.sk |('3(?; 50 550 250
' Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 931 01 Samorin, Slovakia 931 01 Samorin, Slovakia tel.: +421 917 182 797 IC DPH: SK2120409148 55.32.02

Floor Elements

Mounting Plate

To attach leveling foot or castor to strut profile end.

Material: spray coating steel, sliver

Cleanz
{Room 3 Relabiily e e W W K
Efficiency VB B B

FY ‘ Fastening Set FZ ‘ Fastening Set

&) PRULA ) PRULL
= zinc plated = zinc plated

M16—M8 M12—M6

Hole Reducer Bolt Hole Reducer Bolt
nickel plated nickel plated

Description D (rh:n) (nlgrzn) (r\:1vr:1) (r\;vri ) (mHm) Fastening Set M("’;S Part No.
Mounting Plate-PG30-6060 M2 60 60 30 30 10 4xF7 232 | 95.:32.30.6060.M12
M16 230 | 55.32.30.6060.M16
M12 534 | 55.32.40.8080.M12
Mounting Plate-PG40-8080 M16 80 80 40 40 12| 4x(M14x25) 532 | 55.32.40.8080.M16
M20 530 | 55.32.40.8080.M20
M12 664 | 55.32.45.9090.M12
Mounting Plate-PG45-9090 M16 el 90 45 45 12 | 4x(M14x25) 661 55.32.45.9090.M16
M20 659 | 55.32.45.9090.M20
M12 725 | 55.32.50.100100.M12
Mounting Plate-PG50-100100 M16 100 100 50 50 12| 4x(M14x25) 722 | 55.32.50.100100.M16
M20 720 | 55.32.50.100100.M20
Mounting Plate-PG60-6060 M12 60 60 40 40 12 4xFY 330 | 55.32.60.6060




TE c H MATI c TECHMATIC s.r.o0. Prevadzka / Plant; www.techmatic.sk |('3(?; 50 550 250
' Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia  tel.: +421 917 182797 IC DPH: SK2120409148 55.33.01

Floor Elements

Mounting Plate

To attach leveling foot or castor to strut profile end.

1S

D

Material and Color: diecast zinc, sliver (%

=

) =

Cleanz — 3

Room\) Reliability * N % % 2

Efficiency VB B B %

S

PG40-4040 PG40-4080 PG40-8080 Bt =
PG45-4545 PG45-4590 PG45-9090

F C ‘ Fastening Set

@ PR
zinc plated

M10—M6

Hole Reducer Bolt
nickel plated

- L1 L2 W1 W2 H . Mass
Description D Fastening Set Part No.
P (om) | (om) | (mm) | (mm) | (mm) ° ©)
Mounting Plate-PG40-4040 M12 40 40 30 30 12 4x(M6x20) 17 55.33.40.4040
Mounting Plate-PG45-4545 M12 45 45 33 33 12 4xXFC 189 55.33.45.4545
, M12 277 55.33.40.4080.M12
Mounting Plate-PG40-4080 80 40 40 12 2x(M14x25)
M16 275 55.33.40.4080.M16
, M12 344 55.33.45.4590.M12
Mounting Plate-PG45-4590 2 45 45 12 2x(M14x25)
M16 342 55.33.45.4590.M16
M12 582 55.33.40.8080.M12
Mounting Plate-PG40-8080 M16 80 80 40 40 12 4x(M14x25) 580 55.33.40.8080.M16
M20 577 55.33.40.8080.M20
M12 714 55.33.45.9090.M12
Mounting Plate-PG45-9090 M16 <) 2 45 45 12 4x(M14x25) 712 55.33.45.9090.M16
M20 709 55.33.45.9090.M20




TE c H NIATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk |("3(?: 50 550 250
' PaZitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 931 01 Samorin, Slovakia 931 01 Samorin, Slovakia tel.: +421 917 182 797 IC DPH: SK2120409148 55.34.01

Floor Elements Type A

Castor Plate

The castor plate is used for attaching profiles to the castor with plate.

Material: zinc plated steel

GJ ‘ Fastening Set GK ‘ Fastening Set GL ‘ Fastening Set GM ‘ Fastening Set AM | Fastening set GN ‘ Fastening Set
&) (&)
: MBx20 Bolt @ _ msssot @& __ w080t T Lol - @ eareo T Mol
=S - = - —— = - —— = zinc plated = - S zinc plated
= zinc plated = zinc plated = zinc plated = = Zinc plated = )
M8 Spring Washer M8 Spring Washer M8 Spring Washer e 6 Spring Washer N e M8 Spring Washer
- - - zinc plated zinc plated
(S Fm plated (S Fm plated (S Fm plated [rivainw .e g e Vasher Mi4N8
M8 T Nut M8 T Nut M8 T Nut 2 9 Hole Reducer Bolt =~ " znc plated 2 < Hole Reducer Bolt
nickel plated nickel plated nickel plated = nickel plated = nickel plated

- H L1 L2 W1 W2 Pa . Mass
Description PG Fastening Set Part No.
P mm) | (mm) | mm) | (mm) | (mm) | (mm) S (@)
Castor Plate A-PG30 AXGL+HIXGM+4xAM | 1056 | 55.34.30.STA
Castor Plate B-PG30 5XGL+4xAM 1049 | 55.34.30.STB
PG30 10 105 120 30 15 7
Castor Plate C-PG30 3XGL+2xGM+4xAM | 1063 | 55.34.30.STC
Castor Plate D-PG30 2XGL+3xGM+4xAM | 1070 | 55.34.30.STD
Castor Plate A-PG40 4xGJ+1xGN+4xAM 1229 | 55.34.40.STA
Castor Plate B-PG40 BXGJ+4xAM 1222 | 55.34.40.STB
PG40 12 110 130 40 20 9
Castor Plate C-PG40 3XGJ+2xGN+4xAM 1236 | 55.34.40.STC
Castor Plate D-PG40 2XGJ+3XGN+4xAM 1243 | 55.34.40.STD
Castor Plate A-PG45 AXGK+IXGN+4xAM | 1237 | 55.34.45.STA
Castor Plate B-PG45 5XGK+4xAM 1230 | 55.34.45.5TB
PG45 12 120 130 45 225 9
Castor Plate C-PG45 3XCK+2xGN+4xAM | 1244 | 55.34.45.STC
Castor Plate D-PG45 2XGK+3xGN+4xAM | 1251 | 55.34.45.STD
N




ICO: 50 550 250
DIC: 2120409148
IC DPH: SK2120409148

TECHMATIC s.r.o.
Pazitna 2479/10A

Prevadzka / Plant:
Senecka 1/A

www.techmatic.sk
info@techmatic.sk
tel.; +421 917 182 797 55.34.02

TECHNOLOGIA A AUTOMATIZACIA

p TECHMATIC

931 01 Samorin, Slovakia

931 01 Samorin, Slovakia

Floor Elements

Castor Plate-Heavy {0

The castor plate is used for attaching profiles to the castor with plate-Heavy.

Material: zinc plated steel

Type B

DO ‘ Fastening Set DQ ‘ Fastening Set DS ‘ Fastening Set D P ‘ Fastening Set DR ‘ Fastening Set
@ g 52080t @) g 52080t @) g 1325 Bolt @) g 25 Bol
= zinc plated - zinc plated M10x16 Bolt = Zinc plated : zinc plated
& x:,c z?:.:i Washer = z’\\A:c ifél:ﬂ Washer g < zinc plated = x?c 3;;23 Washer e x‘scsp.‘:;.;(g’ Washer
Ol — || Ot || owiiiy | | O || O%i—
L H L1 L2 W1 W2 ®a . Mass
Description PG Fastening Set Part No.
P (o) | (mm) | (o) | () | (mm) | (mom) ‘ (9
Castor Plate-Heavy A-PG30 4xDO+1xDO+4xDS | 1364 | 55.34.30.H.STA
Castor Plate-Heavy B-PG30 5xDO+4xDS 1356 | 55.34.30.H.STB
PG30 10 120 135 30 15
Castor Plate-Heavy C-PG30 3xDO+2xDO+4xDS | 1372 | 55.34.30.H.STC
Castor Plate-Heavy D-PG30 2xDO+3xDQ+4xDS | 1380 | 55.34.30.H.STD
Castor Plate-Heavy A-PG40 4xDP+1xDR+4xDS 1834 | 55.34.40.H.STA
Castor Plate-Heavy B-PG40 5xDP+4xDS 1826 | 55.34.40.H.STB
PG40 12 125 145 40 20
Castor Plate-Heavy C-PG40 3xDP+2xDR+4xDS | 1842 [ 55.34.40.H.STC
Castor Plate-Heavy D-PG40 2xDP+3xDR+4xDS 1850 | 55.34.40.H.STD
Castor Plate-Heavy A-PG45 4xDP+1xDR+4xDS | 1969 | 55.34.45.H.STA
Castor Plate-Heavy B-PG45 5xDP+4xDS 1972 | 55.34.45H.STB
PG45 12 135 145 45 225
Castor Plate-Heavy C-PG45 3xDP+2xDR+4xDS 1977 | 55.34.45.H.STC
Castor Plate-Heavy D-PG45 2xDP+3xDR+4xDS 1985 | 55.34.45.H.STD

Modular Assembly System




TE c H MATI c TECHMATIC s.r.o0. Prevadzka / Plant; www.techmatic.sk |('3(?; 50 550 250
' Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 931 01 Samorin, Slovakia 931 01 Samorin, Slovakia tel.: +421 917 182 797 IC DPH: SK2120409148 55.35.01

Floor Elements

Castor Plate

The castor plate is used for attaching profiles to the castor with thread.

Material: zinc plated steel

FS Fastening Set CQ‘ Fastening Set

@ g 16x1080t @ PUCILESH
= zinc plated zinc plated

@ M6 T Nut M6 T Nut
e e nickel plated

Description PG (mHm) (nl;:n) (rlr;ﬁq) Fastening Set M(?;S Part No.
Castor Plate-PG30 PG30 10 30 60 2xFS 162 55.35.30.ST
Castor Plate-PG40 PG40 12 40 80 2xCQ 296 55.35.40.ST
Castor Plate-PG45 PG45 12 45 90 2xCQ 377 55.35.45.ST

When the castor is installed with this castor plate, the profile need be machined with a 12.5 and 20mm depth hole at the
corresponding position to the thread of the castor.




o TECHMATIC rdzsion

TECHNOLOGIA A AUTOMATIZACIA 931 01 Samorin, Slovakia

Prevadzka / Plant: www.techmatic.sk
Senecka 1/A info@techmatic.sk
931 01 Samorin, Slovakia tel.: +421 917 182 797

ICO: 50 550 250
DIC: 2120409148
IC DPH: SK2120409148  55.41.01

Floor Elements

Castor

Material and Color: Base-carbon steel, plastic powder coated, black
Wheel-polyurethane(Heavy duty - Nylon)

Castor-Thread-Brake-Universal

Castor-Thread-Universal

Castor-Plate-Universal-Heavy

Castor-Plate-Fixed

Castor-Plate-Fixed-Heavy

=
i
n
>
n
=
s}
=
D
(72}
7}
<<
=
o
3
§=
s}
=

Castor-Plate-Brake

. Wheell b | R | H |Load [Mass
Description \(/:/T:criél)w (mm)|mm)[mm)| ) | (@) Part No.
63 | 63 | 104 | 800 | 550 | 55.41.63.M12
Castor-Thread-Universal 32 | 75 | 73 [ 11911050 670 | 55.41.75.M12
100 | 87 [ 142 |1350| 790 | 55.41.100.M12
63 | 112 | 104 | 800 | 650 | 55.41.63.M12B
Castor-Thread-Brake-Universal| 32 | 75 | 112 | 119 [ 1050 | 770 | 55.41.75.M12B
100 | 122 | 142 | 1350 | 930 | 55.41.100.M12B
63 | 63 | 92 [ 800 | 570 | 55.41.63U
Castor-Plate-Universal 32 | 75 | 73 | 107 | 1050 690 | 55.41.75U
100 | 87 | 130 |1350| 870 |55.41.100U
63 92 | 800 | 370 | 55.41.63F
Castor-Plate-Fixed 32 | 75 107 | 1050 | 490 | 55.41.75F
100 130 | 1350 | 670 | 55.41.100F
63 [ 118 | 92 | 800 | 670 | 55.41.63B
Castor-Plate-Brake 32 | 75 [ 118|107 | 1050| 790 | 55.41.75B
100 | 127 | 130 | 1350 | 970 | 55.41.100B
Castor-Plate-Universal-Heavy 75 | 65 [ 104 | 6000|1150 | 55.41.75UH
50
Castor-Plate-Fixed-Heavy 75 104 |1 6000 | 950 | 55.41.75FH




TECHMATIC s.r.o0.
Pazitna 2479/10A
931 01 Samorin, Slovakia

Prevadzka / Plant:
Senecka 1/A
931 01 Samorin, Slovakia

TECHMATIC

TECHNOLOGIA A AUTOMATIZACIA

4

www.techmatic.sk
info@techmatic.sk
tel.: +421 917 182 797

ICO: 50 550 250
DIC: 2120409148

IC DPH: SK2120409148

55.51.01

Floor Elements

Base Angle

To improve stability of structure supported by leveling foot.

Material: steel, black electrophoresis

C ‘ Fastening Set AA ‘ Fastening Set
S| | €
j SEsil b
Description Fastening Set M(Z S)S Part No.
Base Angle-Left (pcs) 346 55.51.L
Base Angle-Left (set) 2XC+1IXAA 473 55.51.L.ST
Base Angle-Right (pcs) 346 55.51.R
Base Angle-Right (set) 2XCH+1xAA 473 55.51.R.ST
Base Angle-L+R (pair) 692 31 P
Base Angle-L+R (set) 4xC+2xAA 946 55.51.P.ST




T E c H M ATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk ICQ: 50 550 250
Pazitna 2479/10A Seneckd 1/A info@techmatic.sk DIC: 2120409148
TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia tel.: +421 917 182 797 IC DPH: SK2120409148 55.52.01

Floor Elements

LBase {[E

L base is to fix the profile on the floor and adjust the height of the profile to the floor.

£
(&)
Material: diecast aluminum, black electrophoresis c%
>
Ne)
S
6.2 8.2 10.2 10.2 g
2.0 2.2 4.0 6.0 2
S
>
=)
o
=
38
15

] 5
& Iz
>
1 0 DN
o
el
& = 5
>
1 (O]
()
=
I =
e ’ 8
=
[=]
=1
f=3
<
Dl ‘ Fastening Set DM‘ Fastening Set D N ‘ Fastening Set

‘ 4 M8x16 Bolt < M8x20 Bolt
zinc plated zinc plated
10.1 ° < M8 Spring Washer ° < M8 Spring Washer < M10x100 expansion bolt
zinc plated zinc plated 'zinc plated
15 M8 Pre-set Nut M8 Pre-set Nut
nickel plated nickel plated

Mass

(9)

Stair and Platform System

Description Fastening Set Part No.

2xDI+1xDN

L Base-PG40 (set) 55.52.10.04.ST

Tubular Framing System




TE c H M ATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk ICQ: 50 550 250
Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 931 01 Samorin, Slovakia 931 01 Samorin, Slovakia tel.: +421 917 182 797 IC DPH: SK2120409148 55.61.01

Floor Elements —

Foot and Castor Components

Light
Wheel-polyurethane, Foot-steel, black electrophoresis,
plate-diecast aluminum, silver color

% 355
20
<t
o~ © w
NIR=] -
< N
g &
= P75
M12
1 g
225
20|  R45
| @
] //:/i/ 9
v
S|~ O 1 K 2
§ © 4 Q\\)(\:.—/;///Q o)
2 2 P NE
€| e & B
/ [
675 || 675
60 80
165
Heavy

Wheel-PA , Foot-zinc plated steel, plate-cast steel, silver color

96 27.5
2
3
ol o ©
x| = -
h
. e 975
F22220\ M2
60
22.5
B Res
S5
o~ 7
X 5
re) (/ 4¢ 4
o 2 =
8| ®| B ?{{\ng )
= PN L 2
ool e R | (B
8|z @) 5wt
YR
67.5 67.5
60 | 8
165

AF ] rasermgsa AG]  resnwgsa J| esrigsa W] resenng e
O I | | O | g it | o oS e
S | | Ot | o=y || gwiisr
Description Fastening Set L?,j)d M(ZS)S Part No.
3900 | 55.61.L
4xJ 3950 | 55.61.40.L.STA
Light Weight 3xJ+1XAF 1050 3950 | 55.61.40.L.STB
4x\W 3950 | 55.61.45.L.STA
3XW+1xAG 3950 | 55.61.45.L.STB
4600 | 55.61.H
4xJ 4650 | 55.61.40.H.STA
Heavy Weight 3xJHIXAF 6000 4650 | 55.61.40.H.STB
4x\W 4650 | 55.61.45.H.STA
IXW+1XAG 4650 | 55.61.45.H.STB




o TECHMATIC rdzsion

TECHNOLOGIA A AUTOMATIZACIA 931 01 Samorin, Slovakia

Prevadzka / Plant:

Senecka 1/A
931 01 Samorin, Slovakia

www.techmatic.sk
info@techmatic.sk

tel.: +421 917 182 797

ICO: 50 550 250
DIC: 2120409148

IC DPH: SK2120409148

55.62.01

Floor Elements

Leveling Castor (T

Material: Base-Carbon steel, Case-Aluminum, Wheel-Nylon 6

=
§T)
n
>
n
=
s}
=
D
(72}
7}
<<
=
o
3
§=
s}
=

Wheel
L ] D R H A B a Load | Mass
Description Width Part No.
P (mm) | (mm) | (mm) | (mm) | (mm) [ (mm) | (mm) [ (N) | (k)
26 50 61 85 74 57 72 2500 | 0.77 | 55.62.50
Leveling Castor 61 775 105 90 70 9 5000 | 1.25 | 55.62.61
33 75 89.5 118 95 70 11 10000 | 1.65 | 55.62.75

N
p
d
&

\




TE c H M ATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk ICQ: 50 550 250
Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148
TECHNOLOGIA A AUTOMATIZACIA 931 01 Samorin, Slovakia 931 01 Samorin, Slovakia tel.: +421 917 182 797 IC DPH: SK2120409148

66.11-6.41

T Slot Reducing Profile
Panel Mounting Block
Panel Mounting Strip

Mounting Block

Panel Installation Elements

o4 a2

P. 6-02 P. 6-03




T E c H M ATI c TECHMATIC s.r.o0. Prevadzka / Plant: www.techmatic.sk ICQ: 50 550 250
Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148
TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia ~ tel. +421 917182797 I DPH: SK2120409148  66.11.01

Panel Installation Elements

T Slot Reducing Profile

To reduce slot width for panel installation.

Material and Color: black PVC

Modular Assembly System

£

o

2

w

10.2 =
6.0 [
0]

2

=

8

=

Description Mass Delivery Length Part No.
(g/m)

£

)

(%

T Slot Reducing Profile-8 51 66.11.08 £

Ke)

10.2 ©
6.0 o
=

©

.‘E

w

T Slot Reducing Profile-10

Tubular Framing System

10.2 10.
0 6.

Sk




TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia  tel. +421 917182797 1€ DPH: SK2120409148  66.21.01

TE c H M ATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk ICQ; 50 550 250
' PaZitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

Panel Installation Elements

Panel Mounting Block

The block is used to attach the panel with various thickness to the profile.

Material and Color: Block-black PVC  Nut-stainless steel

Panel Mounting Block-6 {Clean
i Room
N

FM‘ Fastening Set FN ‘ Fastening Set FP ‘ Fastening Set
' . MSXW?BodIl ' . M6x1? ‘Bod\( ' . MGXZT :3;:(
. Fastening |Mass
Description PG Set @ Part No.
Panel Mounting Block-6 (pcs) 4.4 1 66.21.06
N PG20
Panel Mounting Block-6 (set) 1XFM 7 |66.21.06.ST
Panel Mounting Block-8 (pcs) 9 |66.21.08
PG30
Panel Mounting Block-8 (set) 1XFN - [13.5 66.21.08.ST
Panel Mounting Block-10-4 (pcs) 15.8 | 66.21.10.04
PG40
Panel Mounting Block-10-4 (set) 1XFP  |23.8| 66.21.10.04.ST
Panel Mounting Block-10-6 (pcs) 20 | 66.21.10.06
PG45/50/60
Panel Mounting Block-10-6 (set) 1xFP 29 | 66.21.10.06.ST

Panel Mounting Block-10-6

PG45/PG50/PG60

)




T E c H M ATI c TECHMATIC s.r.o0. Prevadzka / Plant: www.techmatic.sk ICQ: 50 550 250
Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148
TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia  tel. +421 917182797 1€ DPH: SK2120409148  66.31.01

Panel Installation Elements

Panel Mounting Strip
To attach the panel with 3mm and 5mm thickness to the profile, widely used in clean room.

Material and Color: gray PVC

126
| T=5
el
* 2
15 _|] )
9
189
62 82 10.2 10.2
20 22 40 60

Panel Mounting Strip-10-4-3

217 T3

[Ye]

! - .
15 )

10.8
2
6.2 8.2 102 102
2.0 2.2 40 6.0

Panel Mounting Strip-10-4-5

Modular Assembly System

1.3
15
20

=
[o)
<L
@
=
D
=
©
>
O
@
=
=
(3]
o
=

1.3
15

225

Stair and Platform System

1.3
15

19.7 T=5
i
! £
s L) 2
wn
10.8 =
=
L% 5
C
2.0 2.2 4.0 6.0 =
o)
=)
|_
- Mass .
Description PG Delivery length Part No.

66.31.10.04.01

Panel Mounting Strip-10-4-3 273




T E c H M ATI c TECHMATIC s.r.o0. Prevadzka / Plant: www.techmatic.sk ICQ: 50 550 250
Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148
TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia ~ tel.: +421 917182797 I DPH: SK2120409148  66.41.01

Panel Installation Elements

Mounting Block

Mounting block is used for fixing the mesh of 4 to the standard profiles,
which has a better physical property.

Material: diecast zinc

Mounting Block-8

Mass

Part No.
(g/pes)

Description PG

Mounting Block-10-4(with top thread) PG40 21 66.41.10.04.01

=~
Do
Sho

Note: The distance (a) between the nearest meshes and profiles have to be more than
20mm and less than b+5mm (b is the distance of the meshes). And the optimum
distance between mounting blocks is 300mm to ensure the structure intensity.




©
<
-
P
<
©
o o
853
N
o QLY
=3
89O
o~ T
© N
oG 0
(SEERS)
M~
(<)
M~
4
RS
oL
B
EES
— <
S SN
L = <
7
o
Lo
W.mm
.8
4
©
>
o
= @
s £
a =
—<g
T- ®
=
NRCEZ
T S —
89S
T o
LS =
L o %
o mo
8
v
©
>
. o
o (72}
o << L
T O o
» — £
=
(S =]
2R e
E<x s
<< Ny
= ©
T £S5
O 5N —
w © n
o o

TECHNOLOGIA A AUTOMATIZACIA

p TECHMATIC

4|
Lo
™~
—
Al
N~
N~

waysAg Alquiassy Jejnpojy

=
5}
2
©
O
-
53
c
>
o
=

\

\
B S

-y - -

\

Door Lock

Sliding Door Profile

Door and Window Elements

P.7-06

P.7-05

P.7-04

P.7-03

pP. 7-02

P.7-17

P.7-16

P.7-14

P.7-12

P.7-11

P.7-10




TE c H MATI c TECHMATIC s.r.o0. Prevadzka / Plant; www.techmatic.sk |('3(?; 50 550 250
' Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 931 01 Samorin, Slovakia 931 01 Samorin, Slovakia tel.: +421 917 182 797 IC DPH: SK2120409148 77.11.01

Door and Window Elements

Handle

Material and Color: PA6, black

6.2 8.2 10.2 10.2
2.0 2.2 4.0 6.0
N E
K Clean
o

CA‘ Fastening Set CB‘ Fastening Set CD‘ Fastening Set CE‘ Fastening Set

© _ wsaseon @ _ weseot ﬁ M8x25 Bolt ﬁ M8x30 Bolt
8 i piated = i piated = zinc plated = zinc plated

M5 T Nut @ < M8 T Nut @ 1 M8 T Nut M8 T Nut
nickel plated nickel plated nickel plated nickel plated

L H | D1 | D2 | Fastening
(mm) | (mm) [ (mm) [ (mm) Set

Mass

Part No.
(@)

Description PG Cap Color

PA6 Handle-90 (pcs) 23 | 77.11.90.06.BE
PA6 Handle-90 (set) SR i | e | es | @ 2xCA 41 | 77.11.90.06.BE.ST
PA6 Handle-90 (pcs) ' 23 | 77.11.90.06.BK
PAG Handle-90 (set) 2XCA 41 | 77.11.90.06.BK.ST
PA6 Handle-90 (pcs) 23 | 77.11.90.08.BE
PA6 Handle-90 (set) o | 3 | 65| 18 2xCB 45 | 77.11.90.08.BE.ST
PA6 Handle-90 (pcs) ' 23 | 77.11.90.08.BK
PA6 Handle-90 (set) PG30 2xCB 45 | 77.11.90.08.BK.ST
PA6 Handle-120 (pcs) 45 | 77.11.120.08.BE

68 | 77.11.120.08.BE.ST
45 | 77.11.120.08.BK

68 | 77.11.120.08.BK.ST
45 | 77.11.120.10.04.BE
88 | 77.11.120.10.04.BE.ST
45 | 77.11.120.10.04.BK
88 | 77.11.120.10.04 BK.ST
45 | 77.11.120.10.06.BE
104 | 77.11.120.10.06.BE.ST
45 | 77.11.120.10.06.BK
104 | 77.11.120.10.06.BK.ST

PAG Handle-120 (set) o0l 20 | 85 | 2 2xCB

PA6 Handle-120 (pcs)

PA6 Handle-120 (set) 2xCB

PA6 Handle-120 (pcs)

PA6 Handle-120 (set) e 10| 10 a5 | 2 2xCD

PA6 Handle-120 (pcs)
(
(
(
(
(

PA6 Handle-120 (set) 2xCD
PA6 Handle-120 (pcs)

PAG Handle-120 (set) 2xCE
PG45/50/60 | 120 | 40 | 85 | 25

PA6 Handle-120 (pcs)
PA6 Handle-120 (set) 2xCE




TE c H M ATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk ICQ; 50 550 250
' PaZitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 931 01 Samorin, Slovakia 931 01 Samorin, Slovakia tel.: +421 917 182 797 IC DPH: SK2120409148 77.12.01

Door and Window Elements

Guard Wing Handle

Material and Color: PA6, black

N
Ea
N Room

=
i
n
>
n
=
s}
=
D
(72}
7}
<<
=
o
3
§=
s}
=

CP ‘ Fastening Set CQ ‘ Fastening Set

< M6x12 Bolt < M86x16 Bolt
zinc plated zinc plated

M6 T Nut M6 T Nut
nickel plated nickel plated

Description PG Fastening Set| Cap Color M(ESS Part No.
Guard Wing Handle -95 (pc) 70 77.12.95.08.BE
Guard Wing Handle -95 (set) 2xCP 88 77.12.95.08.BE.ST
PG30
Guard Wing Handle -95 (pc) 70 77.12.95.08.BK
Guard Wing Handle -95 (set) 2xCP 88 77.12.95.08.BK.ST
Guard Wing Handle -95 (pc) 70 77.12.95.10.BE
Guard Wing Handle -95 (set) 2xCQ 96 77.12.95.10.BE.ST
PG40/45/50/60
Guard Wing Handle -95 (pc) 70 77.12.95.10.BK
Guard Wing Handle -95 (set) 2xCQ 96 77.12.95.10.BK.ST




TE c H MATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk |("3(?: 50 550 250
' Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 931 01 Samorin, Slovakia 931 01 Samorin, Slovakia tel.: +421 917 182 797 IC DPH: SK2120409148 77.13.01

Door and Window Elements
Aluminum Handle “
Material: handle-aluminum Cap-ABS Cap Color: gray and black
\
Q\\
40
5 30 205 3
(N o "
) % i
- PA ‘ Fastening Set PB ‘ Fastening Set
© t i <21::L“)al5:d‘7‘ ]
= = zinc plate
62| L(300~2000mm) -
Application Description Cap Color L Fastening Set Mass Part No.
(mm) @
Aluminum Handle (pc) @ 216 77.13.P.GY
4 Panel Aluminum Handle (set) @ 3xPA 224 77.13.P.GY.ST
mm Pane
Aluminum Handle (pc) b 216 77.13.P.BK
Aluminum Handle (set) & 3xPA 224 77.13.PBK.ST
300
Aluminum Handle (pc) @ 216 77.13.10.GY
PG40/45 Aluminum Handle (set) @ 3xPB 231 77.13.10.GY.ST
w 102 Aluminum Handle (pc) R 216 | 77.13.10.BK
Aluminum Handle (set) ’ 3xPB 231 77.13.10.BK.ST

Note:1. Single supply including 3 of M5 T Nuts (Reference No.2.21.06.M5).

2. The length could be customized according to customer’s requirements(300~2000mm).

ex: 7.13.P.GY - 500
L=500mm
Part No.




TECHMATIC s.r.o.
Pazitna 2479/10A
931 01 Samorin, Slovakia

TECHMATIC

TECHNOLOGIA A AUTOMATIZACIA

4

Prevadzka / Plant:
Senecka 1/A

931 01 Samorin, Slovakia

www.techmatic.sk
info@techmatic.sk

tel.: +421 917 182 797

ICO: 50 550 250
DIC: 2120409148

IC DPH: SK2120409148

77.21.01

Door and Window Elements

Hinge

Material and Color: black PA6

— FmaX:300N FG ‘ Fastening Set F L ‘ Fastening Set
| T || T
Hinge-PAG6
- H1 | H2 | L1 | L2 | D1 | D2 | Fastening |Mass
Description (mm)| mm) | mm) | ) | (mm) | ) Set 9 Part No.
30/30 (pcs) s |15 18 | 28 | 65| 65 39 | 77.21.30.30
30/30 (set) 4xFL | 73 | 77.21.30.30.ST
30/40 (pcs) 0| 15 | 28 | 28 | 85 | 65 42 | 77.21.30.40
30/40 (set) 2XFG+2xFL| 88 | 77.21.30.40.8T
30/45 (pcs) ol 6 ||l | asllas 44 | 77.21.3045 {7F
30/45 (set) 2XFG+2xFL| 81 | 77.21.30.45.S K
40/40 (pcs) 20 | 20 | 38 | 38 | 85|85 45 | 77.21.40.40
40/40 (set) 4xFG | 108 | 77.21.40.40.8T
40/45 47 | 77.21.40.45
(pes) 25| 20 | 43| 38 |85]85 o
40/45 (set) 4xFG | 110 | 77.21.40.45 SHETZE
4504 49 | 77.21.454
5145 (pes) 205|225 43 | 43 | 85| 85 ’ 545 (K
45/45 (set) 4XFG | 112 | 77.21.45.45 SHTETE

£
S
(72
>
n
=
o
=
[
(2]
o0
<<
=
<
3
=l
s}
=




TE c H MATI c TECHMATIC s.r.o0. Prevadzka / Plant; www.techmatic.sk |('3(?; 50 550 250
' Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 931 01 Samorin, Slovakia 931 01 Samorin, Slovakia tel.: +421 917 182 797 IC DPH: SK2120409148 77.22.01

Door and Window Elements

H inge @ D Economical

Material and Color: aluminum, nature anodized

8.2 10.2 10.2
2.2 4.0 6.0
Cleanz
X Room

DJ ‘ Fastening Set F I_ ‘ Fastening Set D L ‘ Fastening Set

Il Fmax=300N
o . . T || T || T
Light Hinge-Aluminum Countersink Hole

H1 | H2 | L1 | L2 | D1 | D2 | Fastening | Mass

pes) 205|225 38 | 38 | 65 | 65 51 |77.22.4545.E
set) 4xDL 9 |77.224545E.8T

Description (mm)| (mm) | (mm) | (mem) | (mm) | (mm) Set 9 Part No.
30/30 (pcs) s Lis Las | 28 |65 | o5 M |77.223030.E
(set) D) | 65 |77.2230.30E.ST
30/40 (pcs) w0 |15 Las |2 |65 | 65 46 |77.22.3040.E
(set) 2DJ+2FL| 80 |77.223040EST
4 46 |77.22.3045E
3045 (pes) 25|15 | 38 | 28 | 65| 65 6 3049
(set) 2xDJ+20L| 80 |77.22.30.45.E.ST
(pcs) 0 |20 Las | a8 | 65 | 65 51 |77.224040E
40/40 (set) MFL | 94 |77.224040E.ST
51 |77.2240.45E
(pes) 225( 20 | 38| 38 | 65|65
40/45 (set) NFL+2XDL| 95 |77.224045E.ST
(
(




TECHMATIC s.r.o.
Pazitna 2479/10A
931 01 Samorin, Slovakia

www.techmatic.sk
info@techmatic.sk

Prevadzka / Plant:
Senecka 1/A
931 01 Samorin, Slovakia

TECHMATIC

TECHNOLOGIA A AUTOMATIZACIA

4

tel.: +421 917 182 797

ICO: 50 550 250
DIC: 2120409148

IC DPH: SK21

20409148

77.22.02

Door and Window Elements

Hinge

Material and Color: aluminum, nature anodized

N
EE
X Room

=
o
®
=
n
=
o]
=
[}
173
173
<<
=
<
=
S
s}
=

Hinge-Aluminum Countersink Hole

Fmax=150N FE ‘ Fastening Set
- Fastening | Mass
Description Set ©) Part No.
20/20 (pcs) 15 | 7.22.20.20
20/20 (set) 4xFE 25 | 7.22.20.20.ST

- FF | Frastening set FG|  Fasteningset
Hinge-Aluminum Countersink Hole Fmax=400N | : | :
- H1 [ H2 | L1 | L2 | D1 | D2 | Fastening | Mass
Description (mm)!| (mm) | (mm) | () | ) { () Set 9 Part No.
77.22.30.
15 | 15 | 28 | 28 | 6.5 | 6.5 6 30.30
4xFF 97 | 77.22.30.30.ST
74 | 77.22.30.4
20 [ 15| 38 | 28 | 85| 6.5 3040
2xFF+2xFG| 122 | 77.22.30.40.ST
74 | 77.22.30.45
225| 15 | 38 | 28 | 85 | 6.5
2xFF+2xFG| 122 | 77.22.30.45.ST
81 | 77.22.40.40
20 | 20 | 38 | 38 | 85 | 85
4xFG 149 | 77.22.40.40.ST
1 | 77.22.40.4
2251 20 | 38 | 38 | 85| 85 8 045
4xFG 149 | 77.22.40.45.ST
4 | 77.22.40. INew! 3
25 | 20 | 43| 38 | 85| 85 8 0.50
4xFG | 152 | 77.22.40.50.ST{EE
81 | 77.22.45.45
225|225 38 | 38 | 85| 85
4xFG 149 | 77.22.45.45.ST
25 [225] 43 | 38 | 85 | 85 8 | T7.224550 {%
4xFG 152 | 77.22.45.50.ST{EE
25 | 25 | 43 | 43 | 85 | 85 | 0D e
4XFG | 155 | 77.22.50.50.ST{E




TECHMATIC s.r.o.
Pazitna 2479/10A
931 01 Samorin, Slovakia

TECHMATIC

TECHNOLOGIA A AUTOMATIZACIA

4

Prevadzka / Plant:

Senecka 1/A

931 01 Samorin, Slovakia

www.techmatic.sk
info@techmatic.sk

tel.: +421 917 182 797

ICO: 50 550 250

DIC: 2120409148

IC DPH: SK2120409148

77.23.01

Door and Window Elements

Hinge

Material and Color: aluminum, nature anodized

N
EE
X Room

Hinge-Aluminum Through Hole

Fmax=150N

PC ‘ Fastening Set

1 M4x10Bolt
= zinc plated
< M4 Washer
,,, zinc plated
M4 T Nut
< plated

Description

Fastening
Set

Mass

(9)

Part No.

20/20

(pos)

15

7.23.20.20

20/20

(set)

4xPC

29

7.23.20.20.ST

F H ‘ Fastening Set

FJ ‘ Fastening Set

FK ‘ Fastening Set

Hinge-Aluminum Through Hole | Fmax=400N
P | P | §em
Ve Vst Vst
= zinc plated = zinc plated = zinc plated
- H1 | H2 | L1 | L2 | D1 | D2 | Fastening | Mass
Description (mm) | (mm) | (mm) | (mm) | (mm) | (mm) Set ) Part No.
N ) =
f“\\‘\ 30/30 (pcs) 71 | 77.23.30.30
X 15 | 15 | 28 | 28 | 65 | 65
\&){ﬁ 30/30 (set) 4xFH | 99 | 77.23.30.30.ST
< 4 76 | 77.23.30.4
30/40 (pos) 20| 15|38 |28 |85]65 6 33040
30/40 (set) 2xFH+2xFJ| 124 | 77.23.30.40.ST
30/45 (pcs) 225 15 | 38 | 28 | 85 | 65 76 | 77.23.30.45
30/45 (set) 2xFH+2xFK| 127 | 77.23.30.45.8T
40/40 (pcs) 0l 20138 | 3 |85 83 | 77.23.40.40
40/40 (set) 4xFJ | 151 | 77.23.40.40.8T
40/4 83 | 77.2340.45
045 (pes) 25|20 | 38 | 38 | 85]85
40/45 (set) 2XFJ+2xFK| 156 | 77.23.40.45.8T
4 7 | 77.23.40.
0150 {pes) 25 | 20 | 43 | 38 | 85 | 85 8 S vow
40/50 (set) 2xFJ+2xFK| 159 | 77.23.40.50.ST{EE
45/45 77.23454
5145 (pes) 225(225| 38 | 38 | 85| 85 8 >
45045 (set) 4xFK | 161 | 77.23.45.45.8T
4 77.23.45.
5150 (pes) 25 |225| 43 | 38 | 85| 85 8 34550 {CUF
45/50 (set) 4xFK | 167 | 77.23.45.50.ST{EE
50/50 87 | 77235050 {27k
(pes) 25 | 25 | 43 | 43 | 85| 85
50/50 (set) 4XFK | 164 | 77.23.50.50.ST{EE




TE c H MATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk |("3(?: 50 550 250
' Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia  tel.; +421 917182797 IC DPH: SK2120409148 77.24-25.01

Door and Window Elements

Hinge

Material and Color: aluminum, nature anodized

Fmax=200N FF ‘ Fastening Set FG ‘ Fastening Set

(©) PLLL @ g maxioBol
= zinc plated = <

zinc plated

£
3
=
n
=
o
=
D
(2]
o0
<<
=
©
3
=l
s}
=

SPIUL I LTI
nickel plated nickel plated

- G| H L | D1 | D2 | Fastening | Mass
Description (mm)!| (mm) | (mm) | mm) | mim) Set 9 Part No.
30/30/30 (pcs) 20115 | 28 | 65165 98 | 77.24.30.30.30
30/30/30 (set) 6xFF 140 | 77.24.30.30.30.ST
30/40/30 (pcs) 201151 28 | 85165 104 | 77.24.30.40.30
30/40/30 (set) AXFF+2xFG| 166 | 77.24.30.40.30.ST
30/45/30 (pcs) 45 | 15 | 28 | 85| 65 108 | 77.24.30.45.30
30/45/30 (set) AXFF+2xFG| 170 | 77.24.30.45.30.ST
40/40/40 (pcs) 2012 | 38|85/ 85 115 | 77.24.40.40.40
40/40/40 (set) 6xFG 217 | 77.24.40.40.40.ST
40/45/40 (pcs) 451 20 | 38 | 851 85 119 | 77.24.40.45.40
40/45/40 (set) 6xFG 221 | 77.24.40.45.40.ST
45/45/45 (pcs) 45 225! 38 | 85 | 85 119 | 77.24.45.45.45
45/45/45 (set) 6xFG 221 | 77.24.45.4545.ST
Fmax=200N FH‘ Fastening Set FJ ‘ Fastening Set FK‘ Fastening Set

.MBTNut .MBTNUI .MBTNUI
@ nickel plated @ nickel plated @ nickel plated

- G H L | D1 | D2 | Fastening | Mass
Description (mm) | (mm) | (mm) | (mm) | (mm) Set @ Part No.
30/30/30 (pcs) 20| 15| 28 |65 65 100 |77.25.30.30.30
30/30/30 (set) 6xFH 142 177.25.30.30.30.ST
30/40/30 (pcs) 01151 28 | 85| 65 107 177.25.30.40.30
30/40/30 (set) 4xFH+2xFJ | 169 |77.25.30.40.30.ST
30/45/30 (pcs) 50 15 | 28 | 85| 65 111 [77.25.30.45.30
30/45/30 (set) 4xFH+2xFK| 175 [77.25.30.45.30.ST
40/40/40 (pcs) 201 20|38 |85 85 121 |77.25.40.40.40
40/40/40 (set) 6xFJ 213 |77.25.40.40.40.ST
40/45/40 (pcs) 451 20 | 38 | 85! 85 125 |77.25.40.45.40
40/45/40 (set) 4xFJ+2xFK | 230 |(77.25.40.45.40.ST
45/45/45 (pcs) 45 |225] 38 | 85 | 85 125 |77.25.45.45.45
45/45/45 (set) 6xFK 245 |77.25.45.4545.ST




ICO: 50 550 250
DIC: 2120409148
IC DPH: SK2120409148

TECHMATIC s.r.o.
Pazitna 2479/10A
931 01 Samorin, Slovakia

Prevadzka / Plant:
Senecka 1/A
931 01 Samorin, Slovakia

www.techmatic.sk
info@techmatic.sk
tel.: +421 917 182 797

TECHMATIC

TECHNOLOGIA A AUTOMATIZACIA

77.26-27.01

4

Door and Window Elements

Hinge

Material and Color: aluminum, nature anodized

N
Cleanz
X Room

Hinge-Al Removable Hinge-L

Hinge-Al Removable Hinge-R

Fmax=400N

F F ‘ Fastening Set

FG ‘ Fastening Set

@ _, Mex12Bolt
=] < Zinc plated

< M6 T Nut < M8 T Nut
nickel plated nickel plated

@ _, msxi6Bolt
= < Zinc plated

- | e | 1 | 2 | o1 | D2 . Mass
Part No.(L Part No.(R
Description mm | om | om) | om) | o) | o) Fastening Set 9 art No.(L) art No.(R)
105 | 77.2630.30 77.27.30.30
30130 (pes) 15 | 15 | 28 | 28 | 65 | 65
30/30 (set) 4xFF 133 | 77263030ST | 77.27.30.30.ST
10 | 77.26.3040 77.27.30.40
S0/40 (pos) 20 | 15 | 38 | 28 | 85 | 65
30/40 (sef) NFF¥XFG | 158 | 77.26.3040.ST | 77.27.3040.8T
4 10 | 77.26.3045 77.27.30.45
3045 [pes) 25 | 15 | 38 | 28 | 85 | 65
30/45 (sef) NFF¥2XFG | 158 | 77.26.3045.ST | 77.27.3045.8T
18 | 77.264040 77.27.40.40
40140 (pes) 20 | 20 | 38 | 38 | 85 | 85
40/40 (set) 4XFG 186 | 77.264040ST | 77.27.4040.ST
4045 18 | 77.264045 77.27.4045
(pos) 25 | 20 | 38 | 38 | 85 | 85
40/45 (set) AXFG 186 | 77.264045ST | 77.27.4045.8T
4 121 | 77264050 77.27.40.50
050(pes) 25 | 20 | 43 | 38 | 85 | 85 Now o o
40/50(set) AXFG 189 | 7.26.40.50.ST {Z0k 77.27.40.50.ST{ZIE
45/4 18 | 77.26.4545 77.27.4545
S/45 (pes) 25 | 25 | 38 | 38 | 85 | 85
45145 (sef) FG 186 | 77.264545ST | 77.27.4545.8T
121 | 77.2645.50 77.27.4550
45150 (pes) 25 | 225 | 43 | 38 | 85 | 85 aNow o
45/50 (sef) IFG 189 | 77.26.45.50 ST{Tk 77.27.45.50 STk
121 | 77.265050 77.27.50.50
50150 (pes) % | 25 | 43 | 4 | 85 | 85 o e
50150 (sef) FG 192 | 77.26550.50.ST{ZIE 77.27.50.50.T (T




TE c H MATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk |C(?: 50 550 250
' Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 931 01 Samorin, Slovakia 931 01 Samorin, Slovakia tel.: +421 917 182 797 IC DPH: SK2120409148 77.28.01

Door and Window Elements

Hinge

Material and Color: aluminum, nature anodized

N
Cleanz
X Room

Hinge-Long Aluminum Hinge

=
o
@
=
n
=
o]
=
[}
173
73
<<
=
<
=
S
s}
=

F F ‘ Fastening Set FG ‘ Fastening Set

@& g Moxi2Bot @ g Mexi6Bot
= e pated =] e pated

SPIUL I LTI
nickel plated nickel plated

. Wl e | 1| 2| o1 | o2 L . Mass
Description mm) | om) | m) | mm) | mm) | mm) (mm) Fastening Set 9 Part No.
30130 515 | 77.28.3030
(ps) 15 | 15 | 2 | 28 | 65 | 65
30130 (sef) 7xFF 571 | 77.28.3030.8T
30140 525 | 77.28.3040
(pes) 20 | 15 | 38 | 2 | 85 | 65
30/40 (set) IXFF4AXFG 617 | 77.28.3040.8T
30145 525 | 77.28.3045
(ps) 25| 15 | 38 | 28 | 85 | 65
30/45 (set) T 617 | 77.28.3045.8T
40/4 7728404
L) 20 | 20 | 38 | 38 | 85 | 85 605 84040
40140 (sef) IxFG 724 | 77.284040T
40/45 605 | 77.28.4045
(pes) 25| 20 | 38 | 38 | 85 | 85
40145 (sef) 7XFG 724 | 77.284045ST
45/45 605 | 77.28.4545
(pes) 25 | 25 | 38 | 38 | 85 | 85
45145 (sef) IxFG 724 | 772845458T

Note:The length could be customized according to customer’s requirements(100~1000mm).

ex: 7.28.30.30 - 1000

L=1000mm
Part No.




TE c H MATI c TECHMATIC s.r.o0. Prevadzka / Plant; www.techmatic.sk |('3(?; 50 550 250
' Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 931 01 Samorin, Slovakia 931 01 Samorin, Slovakia tel.: +421 917 182 797 IC DPH: SK2120409148 77.31.01

Door and Window Elements

“~

7 “~.

Lock | B

oG 20

Compact metal lock with self-locking design.

Material and Color: diecast zinc, black electrophoresis

8.2 10.2 10.2
2.2 4.0 6.0

N
Cleanz
) Room g

E L ‘ Fastening Set E M ‘ Fastening Set E N ‘ Fastening Set

2.11.08.M6.5M

Profile1 Profile2 = ¢ ;‘I\I::;Gp‘\)azod“ = ¢ Zr?::?ats;i‘l = ¢ Z::ﬁalseod‘(
45
1~3
- ) ) . Mass
Description Profile 1 | Profile2 | Fastening Set ©) Part No.
Lock (pcs) 690 77.31
Lock-3030 (se) PG30 | PG30 AXEL 719 | 77.31:3030
Lock-4030 (se) Fesd | FEE 2EL 724 | 77314030
2XEM
Lock-4040 (set) PGA0 | PG40 4xEM 728 | 77.314040
Lock-4530 (set) B lHeey e 726 | 77.3145.30
2xEN
Lock-4540 (set) PG5 | PGAO 2 731 | 77314540
XEN
Lock-4545 (sef) e | e N 733 | 77.31.45.45

Note:Including special nuts.




TECHMATIC

TECHNOLOGIA A AUTOMATIZACIA

4

TECHMATIC s.r.o.
Pazitna 2479/10A
931 01 Samorin, Slovakia

Prevadzka / Plant:
Senecka 1/A
931 01 Samorin, Slovakia

www.techmatic.sk
info@techmatic.sk
tel.: +421 917 182 797

ICO: 50 550 250
DIC: 2120409148
IC DPH: SK2120409148

77.32.01

Door and Window Elements

l
Lock | B

[SJARTe]

Material and Color: zinc alloy, polish finsh

Profile1 Profile2

80.2

T Lock

Profile2

S
5
& n
1 Rl
D
2
<<
EG ‘ Fastening Set EH ‘ Fastening Set ‘ Fastening Set &
g
DH
Description Profile 1 | Profile2 | Fastening Set M(Z?s Part No.
L Lock-3030 PG30 PG30 77.32.30.30
L Lock-4030 PG40 PG30 DH+2XEG 290 | 77.32.40.30
L Lock-4530 PG45 PG30 77.32.45.30
L Lock-4040 PG40 PG40 77.32.40.40
L Lock-4540 PG45 PG40 DH+2xEH 294 | 77324540
L Lock-5040 PG50 PG40 77.32.50 40k
L Lock-4545 PG45 PG45 77.32.45.45
L Lock-5045 PG50 PG45 DH+2xEK 296 | 77.32.50.45{77K
L Lock-5050 PG50 PG50 77.32.50.50{7k
T Lock-3030 PG30 PG30 77.33.30.30
T Lock-4030 PG40 PG30 DH+2xEG 270 | 77.33.40.30
T Lock-4530 PG45 PG30 77.33.45.30
T Lock-4040 PG40 PG40 77.33.40.40
T Lock-4540 PG45 PG40 DH+2xEH 274 | 7.33.45.40
T Lock-5040 PG50 PG40 77.33.50. 404k
T Lock-4545 PG45 PG45 77.33.45.45
T Lock-5045 PG50 PG45 DH+2xEK 216 | 77.33.50.45( 211k
T Lock-5050 PG50 PG50 77.33.50. 50 {F




TE c H NIATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk |("3(?: 50 550 250
' PaZitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 931 01 Samorin, Slovakia 931 01 Samorin, Slovakia tel.: +421 917 182 797 IC DPH: SK2120409148 77.4101

Door and Window Elements

Magnet Catch

Material: Magnet Catch-aluminum alloy, hard oxidation anodized
Connectors-zinc plated steel

Note: ~ When the magnet catch is installed on the lower door frame,
the door should be more than 400mm.

15
15
Gty
?) 0
45 57
5
@ Z)(Q)A' @
/
O @45
ralz
No.3 y- P
< [Sa>e=]
<Ble k&l
<
S
Q
CF‘ Fastening Set PF‘ Fastening Set CJ‘ Fastening Set CK‘ Fastening Set CN‘ Fastening Set
- ) 'MASp‘nn%Washer " /5 Sorng Vizsher B 501 Vasher @ g 6 S iasher
zinc plate zinc plated zinc plated zinc plated
- L H . Mass
Description Fastening Set Part No.
P (rm) | (mm) ‘ (@)
Magnet Catch-14 (pcs) 26 77.41.14
Magnet Catch-14 (Profile 3030 for Door, Profile 3030 for Doorframe set No.1) | 31 17 | 2xCF+2xPF +2xCJ 130 77.41.14.3030.ST
Magnet Catch-14 (Profile 3030 for Door, Profile 4040 for Doorframe setNo.2) | 41 11 | 2xCF+2xPF +2xCK 139 77.41.14.3040.ST
Magnet Catch-14 (Profile 3030 for Door, Profile 4545 for Doorframe setNo.3) | 42 | 14 | 2xCF+2xPF +2xCN 145 77.41.14.3045.ST
"’V
o




TE c H NIATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk |("3(?: 50 550 250
' PaZitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 931 01 Samorin, Slovakia 931 01 Samorin, Slovakia tel.: +421 917 182 797 IC DPH: SK2120409148 77.4102

Door and Window Elements

Magnet Catch
la, <O
Material: Magnet Catch-aluminum alloy, hard oxidation anodized < > =y

0,

Connector-zinc plated steel
(Material for Connector 4080 is aluminum alloy)

Note: ~ When the magnet catch is installed on the lower door frame,
the door should be more than 400mm.

£
3
=
n
=
o
=
[
(2]
o0
<<
o
<
3
=l
s}
=

O

=

O

17

=
o
3
0
O
0

& OE—A
%OO
9

Az

Tighten Status 1

No.6 &
- ﬂp/éﬁm
5 ' ﬂ
N
-

CG ‘ Fastening Set PF ‘ Fastening Set CK ‘ Fastening Set CL ‘ Fastening Set CcY ‘ Fastening Set CN ‘ Fastening Set

185 @ ¢ Bt PAILC @ PRCIEC ® ¢ o2t = UL () g /6216 B0l

- =] zinc plated = zinc plated = zinc plated = zinc plated = zinc plated = zinc plated

© ~ 30 esher M6 Spring Washer © ~g i SoinaVister = M6 Spring Washer

: zinc plated (S Frriee zinc plated (S Frvee

T|ghten Status 2 @% M4 Washer M6 T Nut @ M4 T Nut @4% M6 T Nut
ickel pl (S0 Fn plated nickel plated < plated nickel plate nickel plated

. L H ; Mass
Description Fastening Set Part No.
(mm) | (mm) ©)]

Magnet Catch-14 (Profile 4040 for Door, Profile 4040 for Doorframe set No.4) 45 [ 17 | 2xCG+2xPF+2xCK 147 77.41.14.4040.ST

Magnet Catch-14 (Profile 4040 for Door, Profile 4545 for Doorframe set No.5) 51 16 | 2xCG+2xPF+2xCN 151 77.41.14.4045.ST

Magnet Catch-14 (Profile 4040 for Door, Profile 4080 for Doorframe set No.6) 2xCL+2xCY 255 77.41.14.4080.ST

Magnet Catch-14 (Profile 4040 for Door, Profile 5050 for Doorframe set No.5) | 51 1 2XCG+2xPF+2xCN 145.5 77.41.14.4050.ST{ZTE

Magnet Catch-14 (Profile 4545 for Door, Profile 4545 for Doorframe set No.4) | 45 | 17 | 2xCG+2xPF+2xCN 151 77.41.14.4545.ST

Magnet Catch-14 (Profile 4545 for Door, Profile 5050 for Doorframe set No.5) | 51 16 | 2xCG+2xPF+2xCN 151 77.41.14.4550. ST{EE

Magnet Catch-14 (Profile 5050 for Door, Profile 5050 for Doorframe set No.4) | 50 | 17 | 2xCG+2xPF+2xCN 149 77.41.14.5050.ST{EE




TE c H M ATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk ICQ; 50 550 250
' PaZitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 931 01 Samorin, Slovakia 931 01 Samorin, Slovakia tel.: +421 917 182 797 IC DPH: SK2120409148 77.42.01

Door and Window Elements

Door lock

Material: DoorLock-black electrophoresis
Block-diecast aluminum, black electrophoresis

Profile1 Profile2
2~3

L+16
L+32

CU ‘ Fastening Set
Description Profile 1 Profile 2 L Fastening Set Mass Part No.
(mm) © B
Door Locks-3040 FER — 115 77.42.30.3040 St
Door Locks-3045 PG4S PG30 30 2xCU+1xEP 15 77.42.30.3045 CV][ rostringsa
Door Locks-4040 PG40 P40 0 | 77.42.30.4040 |
° . yily?cs;:("e% Washer
Door Locks-4045 PG43 PG40 50 XCU+IXEP 185 77.42.30.4045
EP ‘ Fastening Set
Door Locks-4545 Y FELS 50 2CV+IXEP 187 77.42.30 4545
Note: including block and special nut.

2 The length could be customized according to customer's requirement(30~80mm)

ex: 7.42.30.3040 - 50
[=50mm
Part No.




& TECHMATIC & e

TECHNOLOGIA A AUTOMATIZACIA 931 01 Samorin, Slovakia 931 01 Samorin, Slovakia

www.techmatic.sk
info@techmatic.sk
tel.: +421 917 182 797

ICO: 50 550 250

DIC: 2120409148
IC DPH: SK2120409148 77.51.01

Door and Windown Elements

Sliding Door Profile
The sliding door profile clips into strut profiles and is suitable for light-weight sliding doors.

Material and Colors: Sliding door profile-PVC, grey PE Bar-HD-PE, Nature.

Sliding Door Profile-8

17

O O
Sliding Door Profile-10-4 O
10.2
4.0

- Mass .
Description PG Delivery Length Part No.
Sliding Door Profile-8 330 77.51.08
PG30

Sliding Door Profile-8 (Including 2 pcs PE bar) 390 77.51.08.ST
Sliding Door Profile-10-4 450 3000mm/bar | 77.51.10.04
Sliding Door Profile-10-4 (Including 2 pcs PE bar) PG40 510 77.51.10.04.02.ST
Sliding Door Profile-10-4 (Including 3 pcs PE bar) 540 77.51.10.04.03.ST

£
S
(72
>
n
=
o
=
[
(2]
o0
<<
=
<
3
=l
s}
=




TE c H M ATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk ICQ; 50 550 250
' Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 931 01 Samorin, Slovakia 931 01 Samorin, Slovakia tel.: +421 917 182 797 IC DPH: SK2120409148

88.11-8.61

Suspended Glider
Swivel Angle Plate
Potential Equaliser Nut
Joint

Frame Joint

Mounting Adaptor for Roller

Telescope Unit

Additional Accessories

__8-01] ¢




TECHMATIC rdzsion

TECHNOLOGIA A AUTOMATIZACIA 931 01 Samorin, Slovakia

Prevadzka / Plant:
Senecka 1/A
931 01 Samorin, Slovakia

www.techmatic.sk
info@techmatic.sk
tel.: +421 917 182 797

ICO: 50 550 250
DIC: 2120409148

IC DPH: SK2120409148  88.11.01

Additional Accessories

Suspended Glider
The glider can be suspended in profile slot.

Material and Color: glider-PA6+GF30, black  hook-zinc plated steel

Suspended Glider-8

10.2
6.0
Suspended Glider -10
S>>
10.2
6.0

Description

Static Load
(N)

Mass

(@)

Part No.

Description

Static Load
(N)

Mass

(9)

Part No.

Modular Assembly System

=
[o)
<L
@
=
D
=
©
>
O
@
=
=
(3]
o
=

Stair and Platform System

Tubular Framing System




ICO: 50 550 250
DIC: 2120409148
IC DPH: SK2120409148

TECHMATIC s.r.o.
Pazitna 2479/10A
931 01 Samorin, Slovakia

Prevadzka / Plant:
Senecka 1/A
931 01 Samorin, Slovakia

www.techmatic.sk
info@techmatic.sk
tel.: +421 917 182 797

TECHMATIC

TECHNOLOGIA A AUTOMATIZACIA

88.21.01

4

Additional Accessories

Swivel Angle Plate
Infinitely variable adjusting of inclination with swivel angle.

Material and Color: steel, black electrophoresis

Swivel Angle Plate-PG30

FR‘ Fastening Set FT ‘ Fastening Set FV‘ Fastening Set FW‘ Fastening Set R ‘ Fastening Set
M6x12
Description P1 P2 Fastening Set M(e;s)s Part No.

Swivel Angle Plate-PG30 (pcs) 160 88.21.30

Swivel Angle Plate-PG30 (set) PG30 PG30 IXFRHIXFT+2xR | 270 | 88.21.30.8T
Swivel Angle Plate-PG40/45 (pcs) 288 | 88.21.40

Swivel Angle Plate-PG40/45-PG30 (set) PGA0/A4S PG30 IXFRHXFT+XFY | 420 | 88.2140308T
Swivel Angle Plate-PGA0/45-PGA0/45 (set) Fetts PGAOMS | yrreaxrvatxrw | 443 | 88.21.4040.8T




T E c H M AT I c TECHMATIC s.r.o0. Prevadzka / Plant: www.techmatic.sk ICQ: 50 550 250
Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148
TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia  tel. +421 917182797 I DPH: SK2120409148  88.22.01

Additional Accessories

Potential Equaliser Nut

Potential Equaliser Nut penetrates the oxide film of the profiles at the connection to
conduct the static inside of the profiles and to average the potential.

Material: zinc alloy

Modular Assembly System

£

o

2

w

10.2 B

6.0 S

o

2

=

&

=

£

10.2 =z

6.0 >

S

S

©

o

2

(]

- Mass =

Description D (g/ncs) Part No. >
Potential Equaliser Nut-10-M5 (with top thread) M5 7 88.22.10.M5

IS
9]
2
n
=
n
o
=
=
©
(I
)
S
>
a
S
'_




TE c H MATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk |C(?: 50 550 250
' Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia  tel.: +421 917 182797 IC DPH: SK2120409148 88.31.01

Additional Accessories Type A Type B

Joint

To connect movable profiles.

Material: zinc plated steel

Joint-Type A

@ [
Q)

Q

FD ‘ Fastening Set FX ‘ Fastening Set
= M14—-M8
- L1 L2 R . Mass
Description Fastening Set Part No.
P (mm) | (mm) | (mm) ’ (@)
Joint-Type A-4040 40 560 88.31.4040A
40 35 2xFX
Joint-Type A-4060 60 680 88.31.4060A
Joint-Type A-4545 45 650 88.31.4545A
45 375 2xFX
Joint-Type A-4560 60 800 88.31.4560A
Joint-Type B-4040 40 575 88.31.4040B
40 65 1xFD+1xFX
Joint-Type B-4060 60 695 88.31.4060B
Joint-Type B-4545 45 665 88.31.4545B
45 315 1XFD+1xFX
Joint-Type B-4560 60 815 88.31.4560B
Joint-Type C-4040 40 575 88.31.4040C
40 35 1XFD+1xFX
Joint-Type C-4060 60 695 88.31.4060C
Joint-Type C-4545 45 665 88.31.4545C
45 375 1IXFD+1xFX
Joint-Type C-4560 60 815 88.31.4560C




TE c H M ATI c TECHMATIC s.r.o0. Prevadzka / Plant; www.techmatic.sk |('3(?; 50 550 250
' PaZitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia  tel.: +421 917 182797 IC DPH: SK2120409148 88.32.01

Additional Accessories

Joint

To connect movable profiles.

Material: zinc alloy

8.2 10.2
2.2 4.0

Joint-Type A

£
S
(72
>
n
=
o
=
D
(2]
o0
<<
=
<
3
=l
s}
=

Note: Ratchet handle (part number RH) is an optional
aaccessory for all three connection types-type A, B and C.

FS ‘ Fastening Set FO‘ Fastening Set FU ‘ Fastening Set FX ‘ Fastening Set

(@) g M6xiosot (@) g MBxi680t (@) g Mexi28ot () g V82080t
‘zincp\ated < < <

zinc plated zin plated Zinc plated

M12—M6 M14—-M8

@ M6 T Nt Hole Reducer Bolt @ < M8 T Nut Hole Reducer Bolt
< nickel plated nickel plated nickel plated nickel plated

- L1 L2 R . Mass
Description Fastening Set Part No.
P (mm) | (mm) | (mm) o @
Joint-Type A-3030 181 88.32.3030A
30 30 22.5 2xFO
Joint-Type A-3030-RH 211 88.32.3030A.RH
Joint-Type A-4040 388 88.32.4040A
40 40 30 2xFX
Joint-Type A-4040-RH 447 88.32.4040A.RH
Joint-Type B-3030 167 88.32.3030B
30 30 22.5 | 1xFS+1xFO
Joint-Type B-3030-RH 206 88.32.3030B.RH
Joint-Type B-4040 366 88.32.4040B
40 40 30 1IXFU+1xFX
Joint-Type B-4040-RH 437 88.32.4040B.RH
Joint-Type C-3030 167 88.32.3030C
30 30 22.5 | 1xFS+1xFO
Joint-Type C-3030-RH 206 88.32.3030C.RH
Joint-Type C-4040 366 88.32.4040C
40 40 30 1IXFU+1xFX
Joint-Type C-4040-RH 437 88.32.4040C.RH




TECHMATIC s.r.o.
Pazitna 2479/10A
931 01 Samorin, Slovakia

Prevadzka / Plant:
Senecka 1/A
931 01 Samorin, Slovakia

www.techmatic.sk
info@techmatic.sk

TECHNOLOGIA A AUTOMATIZACIA tel.: +421 917 182 797

o TECHMATIC

ICO: 50 550 250
DIC: 2120409148
IC DPH: SK2120409148

Additional Accessories

U
. 7
Frame Joint | SF7

[s]

When the profile frame is with big span and there is slight bending caused by self load, the frame joint shall be used with
special connectors for cross connection to enhance the stability of the frame.

Material: aluminium, anodized (cutting end not anodized).

End cap: black ABS

N
ga
N Room

Description Fastening Set End Cap M(ESS Part No.
PG40-4040 1xCB 95 88.41.4040
2
PG40-4080 2xCB 192 88.41.4080

Note: Anchor Connector to be ordered seperately refer to P. 3-03 for more detail.

C B ‘ Fastening Set

ﬁ 4 M86x25 Bolt
zinc plated

@ < M6 T Nut
nickel plated




TE c H M ATI c TECHMATIC s.r.o0. Prevadzka / Plant; www.techmatic.sk |('3(?; 50 550 250
' PaZitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 931 01 Samorin, Slovakia 931 01 Samorin, Slovakia tel.: +421 917 182 797 IC DPH: SK2120409148 88.51.01

Additional Accessories

Mounting Adaptor for Roller

Special connector for quick roller installation.

Material: Adaptor-steel, zinc plated End cap: black PA6
10.2 10.2
4.0 6.0

£
S
(72
>
n
=
o
=
D
(2]
o0
<<
=
<
3
=l
s}
=

D ‘ Fastening Set FQ‘ Fastening Set
Description Fastening Set End Cap M(st Part No. <o T
- —
Mounting Adaptor for Roller-A-Left+Right (pcs) 200 | 88.51.01A gé &<
2
Mounting Adaptor for Roller-A-Left+Right (set) 2xD 242 88.51.01A.ST
Mounting Adaptor for Roller-B-Left+Right (pcs) 194 88.51.01B
2
Mounting Adaptor for Roller-B-Left+Right (set) 2xFQ 226 88.51.01B.ST




TECHMATIC s.r.o.
Pazitna 2479/10A
931 01 Samorin, Slovakia

Prevadzka / Plant:
Senecka 1/A
931 01 Samorin, Slovakia

ICO: 50 550 250
DIC: 2120409148
IC DPH: SK2120409148

www.techmatic.sk
info@techmatic.sk
tel.: +421 917 182 797

TECHMATIC

TECHNOLOGIA A AUTOMATIZACIA

4

88.61.01

Additional Accessories

Telescope Unit

Telescope Unit are composed of strut profile, telescopic profile and connecting elements, the stroke of telescope
unit is 50-500mm.

Telescope Unit-3030
"
i
° : ‘ &
=] [ | g [[e)
25 25 ~
L=L min.+S ! &
: 8.2 J
2.2
Telescope Unit-3040

30

e ¥

225 O
L=L min.+S

8.2 10.2
2.2 4.0

, FS| rmemse | [FU] rosenrose

Description Fastening Set Szmg l(‘mTT']r)] “?fg)s Part No. e <

1xFS 50<8<200 369 1.23 | 88.61.40.3030.01.ST Qi || @i
Telescope Unit-3030 (set) 1XFS 200<S=350 519 1.43 88.61.40.3030.02.ST
1XFS 350<S<500 669 1.94 | 88.61.40.3030.03.ST
1XFS+1xFU 50<S<200 377 1.42 88.61.40.3040.01.ST
Telescope Unit-3040 (set) 1XFS+1xFU | 200<S<350 527 1.62 | 88.61.40.3040.02.ST
1XFS+1XFU | 350<S<500 677 213 | 88.61.40.3040.03.ST

Note: Offer per set. If there is any special requirement on the stroke, please contact with us.




T E c H M ATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk ICQ: 50 550 250
Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148
TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia tel.: +421 917 182 797 IC DPH: SK2120409148

Modular Assembly System

=
[o)
<L
@
=
D
=
©
>3
O
@
=
=
(3]
o
=

Stair and Platform System

Profile Machining Code

Tubular Framing System




T E c H M ATI c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk ICQ: 50 550 250
Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148
TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia tel.: +421 917 182 797 IC DPH: SK2120409148

Profile machining code

Bore sort

o
|

E Dowel bore E Inner connector bore Screw thread bore ﬁ Cross bore
A

Notes
e Specify machining code when ordering.
eRefer to drawings for non-standard machining

E Angle cut

Dowel bore Anchor Connector
Inner connector bore Butt Connector D (Dowel bore)
| (Inner connector bore) H (horizontal)
Screw thread bore Screw Connector L (i) V (vertical)
R (right) S (Screw thread bore)
Cross bore Screw Connector/End Connector g P (h+v)
C (Cross bore)
Angle cut T Anchor Connector (ABCD)T (Angle cut) 3045 60 (angle)
Profile Order Example:

Order-No: 1.00.000000.000-L-

L<5800mm 4




T E c H M AT I c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk ICQ: 50 550 250
Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148
TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia tel.: +421 917 182 797 IC DPH: SK2120409148

Dowel bore

Modular Assembly System

=
[}
&
n
>
n
o
S
@
>
(G]
®
£
=
[5}
o}
=

Stair and Platform System

Tubular Framing System

L]



T E c H M AT I c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk ICQ: 50 550 250
Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148
TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia tel.: +421 917 182 797 IC DPH: SK2120409148

Inner connector bore




TE c H M ATI c TECHMATIC s.r.o0. Prevadzka / Plant; www.techmatic.sk |('3(?; 50 550 250
' Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148

TECHNOLOGIA A AUTOMATIZACIA 931 01 Samorin, Slovakia 931 01 Samorin, Slovakia tel.: +421 917 182 797 IC DPH: SK2120409148

Screw thread bore

Screw thread bore

Classification
Left Right Left+ Right s
&
Code =
£
D
173
<
&
g
=
Square
(XX
%
(A
(] ]
£ 3
Bl
=3
b
Yogn
Rectangle
O
-1 @)
o, .o
®|®
o, .o
él
Arc ﬁ@m - - -

Example A: Example B : Example C:
11. 11. 40.040040.04H-200-LSP  11. 11. 40.040080.08H-200-WSP  11.11.40.040040.04H-200-LMP

| Standard:depth=22mm




T E c H M AT I c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk ICQ: 50 550 250
Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148
TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia tel.: +421 917 182 797 IC DPH: SK2120409148

Cross bore

LCH LCVv LCP RCH RCV RCP

Sk

A A AR NN AN

VIS
A A AARNY A
VLIRSS
T AAAEN
VLIRVLIIRN

L%
12020 =i = = (R = R =

Specified crossing bore code Example: 11. 11. 40.040040.04H-400-LCH/RCH-AH120-BP230
x LC[I/RCO-AL-BL-...Z[ L]

\ l ! 1‘ ! } A~Z=any bore of the location
L=Lmm from the left

C=H/N/P

C=cross bore

R=right

L=left




T E c H M AT I c TECHMATIC s.r.o. Prevadzka / Plant: www.techmatic.sk ICQ: 50 550 250
Pazitna 2479/10A Senecka 1/A info@techmatic.sk DIC: 2120409148
TECHNOLOGIA A AUTOMATIZACIA 93101 Samorin, Slovakia 931 01 Samorin, Slovakia tel.: +421 917 182 797 IC DPH: SK2120409148

Angle cut

LCT(LAT,LBT,LDT) RCT(RAT,RBT,RDT)

Modular Assembly System

=
[}
&
(72
>
n
o
S
@
>
(G]
@
£
=
[5}
o}
=

Stair and Platform System

LS5
AAAMAAAA

i
o
H
H
it
i
&
2

Specified cutting angle code Example: ~ 11. 11. 40. 040060.06H-300-LDT45/RDT45

x LOTa: ROTa:
L G=30°45°%60° L =30°/45%60°
T=angle cut T=angle cut
C1=ABICID C1=A/BIC/ID

L=left R=right

Tubular Framing System

0= 0=B 0=C =D

W™

)
Wik






